
Manual Number 103209032
Edition Code 0407D0509C

Optional Equipment and Accessories

DS Golf Car
Optional Equipment
Illustrated Parts List





CONTENTS

SECTION 1 – GOLF CAR BODY AND TRIM

Nameplate and Accent Stripes ......................................................................................................... 1-3

Heavy-Duty Front Bumper Kit ........................................................................................................... 1-5

Information and License Plate Holder Kits ....................................................................................... 1-7

Page Title Page Number

Part Number

AM10139 1-19

AM10140 1-19

AM10141 1-19

bug screen 2-33

bulb

halogen headlight 4-3 , 4-7 , 4-19 , 4-23

taillight 4-11 , 4-27

turn signal 4-15 , 4-31

The index (Fig. 2) lists specific parts and assemblies. Items are listed by both part number (numerical 
listings) and name (alphabetical listings) with the page numbers in italic text. Items are listed by part 
number in the numerical section and by name in the alphabetical section.

Page Number
Item Name

Page Numbers

Numerical Listings Alphabetical Listings

INDEX

Use this manual to identify and order accessories for Club Car vehicles. The Optional Equipment Manual 
is current at the time of publication.

This manual includes two reference tools: a Table of Contents and an Index. The Table of Contents lists 
section numbers and titles, and under them, individual page titles and page numbers included in that 
section (Fig. 1). The last section shows tools that can be used on all Club Car products.

USING THE OPTIONAL EQUIPMENT MANUAL 

WARNING

• This manual is to be used only for identification and ordering service parts. Be sure to read
and use the maintenance and service manual before attempting any vehicle repairs.

Fig. 1

Fig. 2

!

DS Golf Vehicle Optional Equipment Illustrated Parts List



Balloons

Item
Numbers

Part
Numbers

Item
Description

Page
Title

Page 1-12 Optional Equipmen t Illustrated Parts List  

GOGO
STOP
STOP

1

2

4

5

6

3

1

Page 1-13

ITEM PART NO. DESCRIPTION

1    2    3    4

Optional Equipmen t Illustrated Parts List  

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

GLOVE BOX, DASH,  AND STEERING

1 1015492 Glove Box and Lock Set, Black (includes items 2 - 6) ................................ 1
2 1015483 Kit, Push Lock (includes item 3) ............................................................. 1
3 N/A Key .................................................................................................... 2
4 7818 Bolt, Carriage, 5/16-18 x 1-1/2 ............................................................... 1
5 7174 Washer, Lock, 5/16 ................................................................................ 1
6 1242 Nut, Hex, 5/16-18 ................................................................................... 1

Dash, Two-Cup Custom (not shown)
7 AM10288 ABS, Black ............................................................................................. 1
8 AM10289 Carbon Fiber .......................................................................................... 1
9 AM10290 Carbon Fiber with Radio/CD Cutout ...................................................... 1
10 AM10291 Regal Burl .............................................................................................. 1
11 AM10292 Regal Burl with Radio/CD Cutout for Driver-Side Glovebox ................... 1

Dash, Four-Ball Custom (not shown)
12 AM10293 Regal Burl with Battery Condition Indicator Cutout ................................ 1
13 AM10294 Regal Burl with Cutouts for Battery Condition Indicator and Radio/CD

for Driver-Side Glovebox ........................................................................ 1
14 AM10295 Carbon Fiber with Battery Condition Indicator Cutout ........................... 1
15 AM10296 Carbon Fiber with Cutouts for Battery Condition Indicator and

Radio/CD for Driver-Side Glovebox ....................................................... 1
16 AM10297 Regal Burl .............................................................................................. 1
17 AM10298 Regal Burl with Radio/CD Cutout for Driver-Side Glovebox ................... 1
18 AM10299 Carbon Fiber .......................................................................................... 1
19 AM10300 Carbon Fiber with Radio/CD Cutout for Driver-Side Glovebox .............. 1

Tray, One-Piece Dash (not shown)
20 AM10284 Standard 2-7/8-Inch Drink Holder Openings .......................................... 1
21 AM50396 Oversized 4-Inch Drink Holder Openings .............................................. 1

Tray, Five-Section, One Piece (not shown)
22 AM10285 Accents, Regal Burl ............................................................................... 1
23 AM10286 Accents, Carbon Fiber ........................................................................... 1
24 AM10287 Accents, Black ABS ............................................................................... 1

Organizer, Golf Car Dash Pocket (not shown)
25 AM10272 Black ABS .............................................................................................. 1
26 AM10273 Regal Burl .............................................................................................. 1
27 AM10274 Carbon Fiber .......................................................................................... 1

Cover, Club Car Steering Wheel (not shown)
28 AM10301 Carbon Fiber .......................................................................................... 1
29 AM10302 Regal Burl .............................................................................................. 1
30 AM10728 Dash Unit, Bell (includes compass, clock, and thermometer) (not shown) . 1

There is a two-page spread for each page title listed in the Table of Contents. The left-hand page (Fig. 3) 
contains either an illustration or a photograph showing kits and parts in their relative positions. Each part 
is labeled with a number balloon.

The right-hand page is the parts list page. The item numbers listed on the parts list page correspond to 
the balloon numbers in the illustration. The parts list page also shows part numbers, part descriptions, 
quantity used, and applicable vehicles.

1

Some item descriptions are indented. This indention corresponds to a parts assembly level. A part that is 
indented to level 2  is either a component of the level 1  part (assembly) that it is listed under, or it is a 
variation of the item listed at level 1 . A level 3  part is a component of the level 2  part that it is listed under, 
and a level 4  part is a component of the level 3  part (Fig. 4).

Fig. 3
DS Golf Vehicle Optional Equipment Illustrated Parts List



Level 1 Item

Assembly Levels
Quantity used in
section of vehicle
illustrated

Quantity
used in
Level 1
Item

Quantity
used in
Level 2
Item

Level 2 Item
(component of
Level 1 Item)

Level 3 Item
(component of
Level 2 Item)

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

101710002 Kit, Conversion DS To Four-Passenger with White Seats
(includes items 1 - 29 and 32 - 61) ............................................................ 1

2

1

101564804 Assembly, Seat Bottom – Buff (includes items 2 - 3) ............................. 1

3 101562701 Cover, Vinyl Seat Bottom – Buff ........................................................ 1 

The part quantity listed for a level 2, 3, or 4 part is the quantity used in the next higher level assembly. A 
part that is not indented is a level 1 part. The quantity listed for a level 1 part is the quantity used in the 
portion of the vehicle illustrated on that particular spread.

Many items in this manual specify parts that are designed for ICS vehicles. The abbreviation “ICS” 
refers to vehicles equipped with the Integrated Comfort System. Only vehicles manufactured during or 
after model year 2000 are equipped with the Integrated Comfort System.

Fig. 4

HOW TO ORDER PARTS

Replacement parts and accessories can be obtained from our network of authorized dealers and 
distributors. You can obtain the name and phone number of your closest Club Car contact by visiting our 
website at www.clubcar.com and clicking the “Find a Dealer” link or by calling our toll-free Service Parts 
and Technical Assistance hotline at (800) 872-2246 or (706) 863-3000, extension 3281 or 3854.
DS Golf Vehicle Optional Equipment Illustrated Parts List



NOTE: This optional equipment manual represents the most current information at the time of 
publication. Club Car, Inc. is continually working to further improve its vehicles and other products. 
These improvements may affect the parts used to service the vehicle. Any modifcation and/or signifcant 
change in specifcations will be forwarded to all Club Car and Carryall distributors/dealers and will, when 
applicable, appear in future editions of this illustrated parts list. Club Car, Inc. reserves the right to 
change specifcations and designs at any time without notice and without the obligation of making 
changes to units previously sold.

Copyright © 2007 Club Car, Inc.
Club Car and ArmorFlex 
are registered trademarks of Club Car, Inc.
This manual effective December, 2006.
DS Golf Vehicle Optional Equipment Illustrated Parts List



CONTENTS
SECTION 1 – BODY AND TRIM

Accent Stripes and Front Body Trim ................................................................................................. 1-3
Heavy-Duty Front Bumper Kit ........................................................................................................... 1-5
Information Holder Kits ..................................................................................................................... 1-7
License Plate Holder Kits .................................................................................................................. 1-9
Mirrors ............................................................................................................................................... 1-11
Ashtray Kits ....................................................................................................................................... 1-13
Beverage/Two-Way Radio Holder .................................................................................................... 1-15
Heater ............................................................................................................................................... 1-17
Glove Box Kit .................................................................................................................................... 1-19
Dash Kits .......................................................................................................................................... 1-21
Dash Trays ....................................................................................................................................... 1-23
Dash Pocket Organizer ..................................................................................................................... 1-25
Steering Wheel Accessories ............................................................................................................. 1-27
Bell® Dash Unit with Compass, Clock, and Thermometer ............................................................... 1-29
Adjustable Seat Back Kit .................................................................................................................. 1-31
Seat Covers ...................................................................................................................................... 1-33
SoftSwipe™ Spike Cleaner .............................................................................................................. 1-35
Overhead Stereo .............................................................................................................................. 1-37
Cooling System – Canopy-Mounted ................................................................................................. 1-39
Cooling System – Fans ..................................................................................................................... 1-41
Storage ............................................................................................................................................. 1-43
Sweater Baskets and Enclosures ..................................................................................................... 1-45
Cooler Kits ........................................................................................................................................ 1-47
Sand Bottle Kits ................................................................................................................................ 1-49
Sand Mug Kit .................................................................................................................................... 1-51
Sand Bucket and Sand Basket Kits .................................................................................................. 1-53
Club and Ball Cleaner Kit .................................................................................................................. 1-55
Rake Kit ............................................................................................................................................ 1-57
Scuff Guard and Bagwell Protector Kit ............................................................................................. 1-59
Two-Bag Attachment Kit ................................................................................................................... 1-61
Four-Bag Attachment Kit .................................................................................................................. 1-63
Nerf Bar ............................................................................................................................................ 1-65
Wheel Covers (1 of 2) ....................................................................................................................... 1-67
Wheel Covers (2 of 2) ....................................................................................................................... 1-69
Graphics ........................................................................................................................................... 1-71
Gear/Grocery Bag ............................................................................................................................. 1-73
Bodies – Unpainted .......................................................................................................................... 1-75
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1



CONTENTS
SECTION 2 – CANOPIES, WINDSHIELDS, AND ENCLOSURES

Canopy Kit – 1982-2000 Non-ICS .................................................................................................... 2-3
Canopy Kit – 2000-Present ICS ....................................................................................................... 2-5
Canopy Kit, Four-Passenger – Non ICS .......................................................................................... 2-7
Canopy – Universal .......................................................................................................................... 2-9
Four-Passenger Strut Kits ................................................................................................................ 2-11
All-Weather Enclosures (1 of 2) ....................................................................................................... 2-13
All-Weather Enclosures (2 of 2) ....................................................................................................... 2-15
Rear Rain Curtains and Club Protectors .......................................................................................... 2-17
All-Weather Car Cover ..................................................................................................................... 2-19
Windshields – Solid .......................................................................................................................... 2-21
Windshields – Hinged ...................................................................................................................... 2-23
Windshields – Solid Winged ............................................................................................................. 2-25
Windshields – Hinged Winged ......................................................................................................... 2-27
Rear Windshields ............................................................................................................................. 2-29

SECTION 3 – TOWING ACCESSORIES

Light-Duty Tow Bar Kit ..................................................................................................................... 3-3
Permanent Tow Bar Kit .................................................................................................................... 3-5
Self-Contained Permanent Tow Bar Kit (1 of 2) ............................................................................... 3-7
Self-Contained Permanent Tow Bar Kit (2 of 2) ............................................................................... 3-9
Trailer Hitch Kit ................................................................................................................................. 3-11
Front Receiver Kit ............................................................................................................................ 3-13

SECTION 4 – LIGHTS

Headlight Kit – Gasoline and ............................................................................................................ 4-3
36-V Electric Vehicles (1 of 2) .......................................................................................................... 4-3
Headlight Kit – Gasoline and ............................................................................................................ 4-5
36-V Electric Vehicles (2 of 2) .......................................................................................................... 4-5
Basic Light Kit (1 of 3) ...................................................................................................................... 4-7
Basic Light Kit (2 of 3) ...................................................................................................................... 4-9
Basic Light Kit (Wiring) (3 of 3) ........................................................................................................ 4-11
Standard Lighting Package – Gasoline and ..................................................................................... 4-13
36-V Electric Vehicles (1 of 4) .......................................................................................................... 4-13
Standard Lighting Package – DS Gasoline and 36-V Electric Vehicles (2 of 4) .............................. 4-15
Standard Lighting Package – Gasoline and ..................................................................................... 4-17
36-V Electric Vehicles (3 of 4) .......................................................................................................... 4-17
Standard Lighting Package (Wiring) – Gas and 36-V Electric Vehicles (4 of 4) .............................. 4-19
Page 2 DS Golf Vehicle Optional Equipment Illustrated Parts List



CONTENTS
Turn Signal Conversion Kit – Gasoline and ...................................................................................... 4-21
36-V Electric Vehicles w/ Lights (1 of 2) ........................................................................................... 4-21
Turn Signal Conversion Kit (Wiring) – Gasoline and 36-V Electric Vehicles w/ Lights (2 of 2) ......... 4-23
Headlight Kit – 48-V Electric Vehicles (1 of 3) .................................................................................. 4-25
Headlight Kit – 48-V Electric Vehicles (2 of 3) .................................................................................. 4-27
Headlight Kit (Wiring) – 48-V Electric Vehicles (3 of 3) .................................................................... 4-29
Standard Lighting Package – 48-V Electric Vehicles (1 of 4) ........................................................... 4-31
Standard Lighting Package – 48-V Electric Vehicles (2 of 4) ........................................................... 4-33
Standard Lighting Package – 48-V Electric Vehicles (3 of 4) ........................................................... 4-35
Standard Lighting Package (Wiring) – 48-V Electric Vehicles (4 of 4) .............................................. 4-37
Turn Signal Conversion Kit – 48-V Electric Vehicles w/ Standard Lighting (1 of 2) .......................... 4-39
Turn Signal Conversion Kit (Wiring) – 48-V Electric Vehicles w/ Standard Lighting (2 of 2) ............ 4-41
Rear-Facing Flood Light ................................................................................................................... 4-43

SECTION 5 – METERS AND GAUGES

Hour Meter Kits ................................................................................................................................. 5-3
Battery Condition Indicator Kits ........................................................................................................ 5-5
Fuel Gauge Kits ................................................................................................................................ 5-7
4 In 1 Monitor .................................................................................................................................... 5-9

SECTION 6 – ELECTRICAL OPTIONS AND ACCESSORIES

3.50 Horsepower Motor – 36-V Electric Vehicles ............................................................................. 6-3
3.75 Horsepower Motor – PowerDrive System 48 Electric Vehicles ................................................ 6-5
3.75 Horsepower Motor Upgrade Kit – PowerDrive System 48 Electric Vehicles ............................ 6-7
PowerTorque™ Powertrain – 48 V Electric Vehicles ........................................................................ 6-9
IQ Torque Kit .................................................................................................................................... 6-11
Uncommon Key Switches – Electric Vehicles .................................................................................. 6-13
Uncommon Key Switches – Gasoline Pedal-Start Vehicles ............................................................. 6-15
Cart Key ............................................................................................................................................ 6-17
DC/DC Converter Kit – PowerDrive and IQ System Electric Vehicles .............................................. 6-19
12-V Power Point Kit ......................................................................................................................... 6-21
Onboard Accu-Power Battery Charger, Domestic – 36-V Electric Vehicles ..................................... 6-23
Onboard PowerDrive Battery Charger, Domestic – 48-V Electric Vehicles ...................................... 6-25
Onboard PowerDrive Battery Charger, Export – 48-V Electric Vehicles .......................................... 6-27

SECTION 7 – CONVERSION KITS

Four-Passenger Conversion Kits (1 of 3) ......................................................................................... 7-3
Four-Passenger Conversion Kits (2 of 3) ......................................................................................... 7-5
Four-Passenger Conversion Kits (3 of 3) ......................................................................................... 7-7
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3



CONTENTS
Four-Passenger Conversion Rear Seat ........................................................................................... 7-9
Fold-Down Rear Seat ....................................................................................................................... 7-11

SECTION 8 – CARGO BOXES

Cargo Box Kit ................................................................................................................................... 8-3

SECTION 9 – OUTDOOR SPORTING ACCESSORIES

Floor-Mounted Gun Rack ................................................................................................................. 9-3
Camouflage Bodies .......................................................................................................................... 9-5
Camouflage Seats and Seat Covers ................................................................................................ 9-7
Camouflage Accessories ................................................................................................................. 9-9
Lift Kit ............................................................................................................................................... 9-11
Tire Chains ....................................................................................................................................... 9-13
Spark Arrestor Kit ............................................................................................................................. 9-15
Differential Guard ............................................................................................................................. 9-17
54-Inch Snow Plow Kit ..................................................................................................................... 9-19

SECTION 10 – MISCELLANEOUS

Governor Protector Kit ..................................................................................................................... 10-3

SECTION 11 – MAINTENANCE AND SERVICE TOOLS

Maintenance and Service Tools ....................................................................................................... 11-3
Maintenance and Service Tools, Continued .................................................................................... 11-5
Maintenance and Service Tools, Continued .................................................................................... 11-7
Maintenance and Service Tools, Continued .................................................................................... 11-9
Maintenance and Service Tools, Continued .................................................................................... 11-11
Page 4 DS Golf Vehicle Optional Equipment Illustrated Parts List



1
BODY AND TRIM

G
E
D



Page 1-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

2

1

APM-000036-001



ACCENT STRIPES AND FRONT BODY TRIM
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Stripes, Accent (40-foot roll)
101720502 Black/gold .......................................................................................................... 1
101720504 White/white ........................................................................................................ 1
101720506 Black/black......................................................................................................... 1
101720515 Gold/gold............................................................................................................ 1

2 AM10625 Trim, Front Body (black) (can be used in place of standard aluminum front
body trim CCI P/N 1011014) 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-3



Page 1-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

Cluubb Caar 

TYPICAL 2
PLACES

TYPICAL 2
PLACES

3

4

5

3

1

2

APM-000037-001



HEAVY-DUTY FRONT BUMPER KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101734802 Kit, Heavy-Duty Front Bumper (includes items 2 - 5) ............................................ 1
2 7818 Bolt, Carriage, 5/16-18 x 1 ................................................................................ 2
3 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 4
4 1010546 Spacer ............................................................................................................... 2
5 1015405 Bolt, Carriage, 5/16-18 x 2 ................................................................................ 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-5



Page 1-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

2

6

5

1

7

8

3

4

APM-000038-002



INFORMATION HOLDER KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Information kits listed below are all mounted in the same
locations on all vehicles.

1 101808301 Kit, Information Holder (10 pack) (includes items 2, 5, and 6) .............................. 1
2 101904801 Strip, Mounting (with swivels) (10 pack) ............................................................ 10
3 101808302 Kit, Information Holder (single pack)

(includes mounting hardware) 1
4 N/A Strip, Mounting (with swivels) ............................................................................ 1
5 N/A Screw, Phillips-head Machine, 8-32 x 1/2 ......................................................... 2
6 N/A Nut, Nylon Lock, 8-32 ....................................................................................... 2
7 AM10012 Holder, Hinged Hard Plastic Information (10-pack)

(includes mounting hardware and mounting strips) 1
8 AM10011 Holder, Hinged Hard Plastic Information (single pack)

(includes mounting hardware and mounting strip) ................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-7



Page 1-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

2

APM-000039-001



LICENSE PLATE HOLDER KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

Holder, License Plate (fits 1982 - present vehicles)
1 AM10689 Front (includes mounting hardware) ................................................................. 1
2 AM10744 Rear, Lighted (includes mounting hardware)

(DS vehicles with taillights only) 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-9



Page 1-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

8

6

4

7

5

3

2

9

10 TYPICAL
2 PLACES

TYPICA
2 PLAC

11

APM-000033-002
L
ES



MIRRORS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

To install the rear-view mirror kit (item 1), vehicle must be equipped with a
heavy-duty front bumper.

1 1013846 Kit, Rear-View Mirror (includes items 2 - 7) .......................................................... 1
2 1013824 Mirror, Rear-View .............................................................................................. 1
3 1013825 Bracket, Mirror .................................................................................................. 1
4 1012891 Bolt, Hex-Head, M8 x 1-1/4 ............................................................................... 1
5 8248 Screw, Phillips-Head, 1/4-20 x 3/4 .................................................................... 1
6 7251 Screw, Phillips-Head, 5/16-18 x 1 ..................................................................... 1
7 1011878 Nut, Capped “T” ................................................................................................ 1
8 Mirror, 5-Inch Convex (mounting hardware not included) (can be mounted

on any vehicle with a windshield frame)
AM10829 Stainless Steel ................................................................................................... 1
AM10830 Black ................................................................................................................. 1

9 1011524 Kit, Rear-View Side Mirror (includes items 10 and 11)........................................... 1
10 1015528 Screw, Oval Countersink Machine Head, #10-16 x 1-1/4 ................................. 2
11 1011627 Nut, Speed, #10 ................................................................................................ 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-11



Page 1-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

GOGO
STOP
STOP

1ASHTRAY KIT
MOUNTING

TYPICAL
2 PLACES

4

5

APM-000041-001



ASHTRAY KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1011230 Kit, Ashtray (includes item 2) ................................................................................ 1
2 101965001 Decal, Operator Warning (not shown) ............................................................... 1
3 102363402 Kit, Courtesy Cup Ashtray (includes items 4 and 5) ............................................. 1
4 102361401 Ashtray, Courtesy Cup ...................................................................................... 1
5 102365401 Insert, Ashtray Retention .................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-13



Page 1-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

GOGO
STOP
STOP

1

2

3

APM-000042-001



BEVERAGE/TWO-WAY RADIO HOLDER
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1013422 Kit, Beverage/Two-Way Radio Holder (includes items 2 and 3) ........................... 2
2 1010545 Screw, Hex-Head, 1/4-20 x 3/4 ......................................................................... 2
3 1013421 Nut, Twin Speed, 1/4-20 .................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-15



Page 1-16 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D 1

APM-000043-001



HEATER
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10691 Heater, Coleman® CartCat .................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-17



Page 1-18 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

GOGO
STOP
STOP

1

2

4

5

6

3

APM-000044-001



GLOVE BOX KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1015492 Glove Box and Lock Set, Black (includes items 2 - 6) .......................................... 1
2 1015483 Kit, Push Lock (includes item 3) ........................................................................ 1
3 N/A Key ............................................................................................................... 2
4 7818 Bolt, Carriage, 5/16-18 x 1-1/2 .......................................................................... 1
5 7174 Washer, Lock, 5/16 ........................................................................................... 1
6 1242 Nut, Hex, 5/16-18 .............................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-19



Page 1-20 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
1

2

APM-000045-002



DASH KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Dash, Two-Cup Custom
AM10288 ABS, Black ........................................................................................................ 1
AM10289 Carbon Fiber ..................................................................................................... 1
AM10290 Carbon Fiber with Radio/CD Cutout ................................................................. 1
AM10291 Regal Burl ......................................................................................................... 1
AM10292 Regal Burl with Radio/CD Cutout for Driver-Side Glovebox ...................... 1

2 Dash, Four-Ball Custom
AM10293 Regal Burl with Battery Condition Indicator Cutout ........................................... 1
AM10295 Carbon Fiber with Battery Condition Indicator Cutout ....................................... 1
AM10296 Carbon Fiber with Cutouts for Battery Condition Indicator and

Radio/CD for Driver-Side Glovebox 1
AM10297 Regal Burl ......................................................................................................... 1
AM10299 Carbon Fiber ..................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-21



Page 1-22 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
1

2

APM-000047-001



DASH TRAYS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Tray, One-Piece Dash
AM10284 Standard 2-7/8-Inch Drink Holder Openings ..................................................... 1
AM50396 Oversized 4-Inch Drink Holder Openings ......................................................... 1

2 Tray, Five-Section, One Piece (includes locking center compartment)
AM10285 Accents, Regal Burl .......................................................................................... 1
AM10286 Accents, Carbon Fiber ...................................................................................... 1
AM10287 Accents, Black ABS .......................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-23



Page 1-24 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000034-001



DASH POCKET ORGANIZER
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10272 Organizer, Dash Pocket (Black ABS)..................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-25



Page 1-26 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

3

APM-000048-001



STEERING WHEEL ACCESSORIES
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Cover, Club Car Steering Wheel (includes replacement decal) (for use on
vehicles with scorecard clips) (shown)

AM10301 Carbon Fiber ..................................................................................................... 1
AM10302 Regal Burl ......................................................................................................... 1

2 Wrap, Solid-color Steering Wheel
AM10865 Sand .................................................................................................................. 1
AM10866 Oak ................................................................................................................... 1
AM10867 Charcoal ............................................................................................................ 1
AM10868 Black ................................................................................................................. 1
AM10869 Red ................................................................................................................... 1

3 Wrap, Two-tone Steering Wheel (shown)
AM10870 Red and Brick ................................................................................................... 1
AM10872 Sand and Black ................................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-27



Page 1-28 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000049-001



BELL® DASH UNIT WITH COMPASS, CLOCK,
AND THERMOMETER
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10728 Dash Unit, Bell (includes compass, clock, and thermometer) ............................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-29



Page 1-30 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

3

4

5

6

Use existing
hardware
for installation.

2

APM-000050-001



ADJUSTABLE SEAT BACK KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Use existing hardware to install the adjustable seat back kit.
1 1011794 Kit, Adjustable Seat Back (includes items 2 - 6) (1982 - 2000

non-ICS* DS only)  1
2 N/A Assembly, Seat Back (includes items 3 - 6) ...................................................... 1
3 N/A Plate, Mounting ............................................................................................ 1
4 1011761 Knob, Seat Adjustment ................................................................................. 1
5 1011760 Tube Plug, Seat ............................................................................................ 1
6 1010322 Lock, Seat Adjuster ...................................................................................... 1
7 AM10729 Support, Seat Back (black) (fits 1982 - 2000 non-ICS* seats) (can be used in

place of standard Seat Back Support CCI P/N 1011708) (not shown) .................. 2
8 AM10730 Brace, Seat Back Knee (black) (fits 1982 - 2000 non-ICS* seats) (can be

used in place of standard Seat Back Knee Brace CCI P/N 1011710) 2
9 AM10735 Mount, Seat Back (black) (fits 1982 - 2000 non-ICS* seats) (can be used in

place of standard Seat Back Mount CCI P/N 1017409) ........................................ 2

*Integrated Comfort System
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-31



Page 1-32 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000056-001



SEAT COVERS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Cover Set, Seat, Sheep Skin (1982-2000 non-ICS* DS seats)
AM10394 Natural .............................................................................................................. 1
AM10395 Tan .................................................................................................................... 1
AM10396 Gray .................................................................................................................. 1
AM10397 Navy .................................................................................................................. 1
AM10398 Burgundy ........................................................................................................... 1
AM10400 Cow Pattern ...................................................................................................... 1

2 Cover Set, Seat, Sheep Skin (ICS* seats) (not shown)
AM10387 Natural .............................................................................................................. 1
AM10388 Tan .................................................................................................................... 1
AM10389 Gray .................................................................................................................. 1

*Integrated Comfort System
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-33



Page 1-34 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
1

APM-000046-001



SOFTSWIPE™ SPIKE CLEANER
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Cleaner, SoftSwipe Spike
AM11809 Set, Two-Disk .................................................................................................... 1
AM11810 Set, Two-Disk (10-Pack) ................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-35



Page 1-36 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000052-001



OVERHEAD STEREO
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Includes stereo with CD player and speakers.
1 Console, Overhead Stereo, Luxury

AM50551 DS 2000 - present ICS canopy tops (shown) .................................................... 1
AM50553 DS 1982-2000 non-ICS canopy tops ................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-37



Page 1-38 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

2

7

3

6

VIEWED FROM 
BACK OF VEHICLE

TYPICAL
2 PLACES

TYPICAL
2 PL ACES

5

4

SHOWN INSTALLED ON A
PRECEDENT VEHICLE

APM-000052-002



COOLING SYSTEM – CANOPY-MOUNTED
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Allow 4 to 6 weeks for delivery of special order items.
*This cooling system works best in low- to medium-humidity environments.
† Each kit contains mounting brackets specific to vehicle canopy type.
Be sure to specify the vehicle model type and year when ordering
replacement brackets.

1 Cooling System, Canopy-Mounted (includes mounting hardware and items 2 - 7) 

AM10934 † DS Golf with 1982 - 2000 non-ICS Canopies (white) ..................................... 1

AM10933 † DS Golf with 2000 - present ICS Canopies (white) 
2 **** Assembly, Canopy Top and Motor ................................................................ 1
3 **** Frame, Canopy ............................................................................................. 1
4 **** Cover, Cooler ............................................................................................... 1
5 **** Bracket, Mounting (driver side) .................................................................... 2
6 **** Bracket, Mounting (passenger side) ............................................................. 2
7 **** Cap, Cooler .................................................................................................. 1

****Special order item available upon request.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-39



Page 1-40 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

5

4

11

7

9

6

8

10

12
13

1

ALUMINUM DASH TRIM

APM-000052-004



COOLING SYSTEM – FANS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10986 Fan, Canopy-Mounted (includes mounting hardware) ........................................... 1
2 AM1217901 Breezeasy Blower Kit, 12V  (includes items 4 and 6 - 13) ..................................... 1
3 AM1218001 Breezeasy Blower Kit, 24V (inlcudes items 5 - 13) ................................................ 1
4 AM1217201 Blower, 12V........................................................................................................ 1
5 AM1217401 Blower, 24V........................................................................................................ 1
6 N/A Bracket, Plastic .................................................................................................. 2
7 N/A Bracket, Aluminum............................................................................................. 2
8 N/A Bolt, Nylon, 1-1/4-inch........................................................................................ 2
9 N/A Bolt, Nylon, 3/4-inch........................................................................................... 2
10 N/A Washer............................................................................................................... 2
11 N/A Nut ..................................................................................................................... 4
12 AM1217701 Louver ................................................................................................................ 2
13 AM1218201 Knob................................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-41



Page 1-42 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
1

2

APM-000054-001



STORAGE
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10093 Net, Canopy Storage
2 Tray, Underseat Storage (electric vehicles only)

AM10702 Non-locking ....................................................................................................... 1
AM10703 Locking (shown in photo) .................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-43



Page 1-44 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

5
3

1

8

6

2 7

3
4

35

TYPICAL 2
PLACES

9

10

10

12

TYPICAL 2
PLACES

13

11

10

15

APM-000058-001



SWEATER BASKETS AND ENCLOSURES
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101707206 Kit, Sweater Basket (black) (includes items 2 - 7) (1982 - 2000 non-ICS
vehicles) 1

2 8418 Screw, Phillips Truss-Head, 1/4-20 x 1-1/2 ....................................................... 1
3 1015075 Washer, Flat, 5/16 ............................................................................................. 4
4 1014482 Spacer, Nylon .................................................................................................... 1
5 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 3
6 7479 Bolt, Hex-Head, 1/4-20 x 1-1/4 ......................................................................... 2
7 1703 Bolt, Hex-Head, 1/4-20 x 1-1/2 (vehicles with rake holder) ............................... 1
8 102236703 Basket, Sweater (black) (2000 - present ICS vehicles) (requires items 9 - 14

for installation) 1
9 8418 Screw, Phillips Truss-Head, 1/4-20 x 1-1/2 ........................................................... 2
10 1015075 Washer, Flat, 5/16 ................................................................................................. 4
11 8233 Nut, Nylon Lock, 1/4-20 ........................................................................................ 2
12 102242401 Nut, Nylon Insert with Cap, 1/4-20 ........................................................................ 1
13 102076701 Screw, SEMS, 1/4-20 x 1-3/4 ................................................................................ 2
14 AM10276 Basket, 1/2-Depth Sweater ................................................................................... 1
15 AM10281 Enclosure, Rear Sweater (notched for 1/2-depth sweater basket,

2000 - present ICS vehicles).................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-45



Page 1-46 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D 943

6

5

8

7

10

APM-000059-001



COOLER KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101775402 Kit, Cooler (blue) (includes items 3 and 5 - 8)........................................................ 1
2 101775404 Kit, Cooler (red) (includes items 4 - 8) ................................................................... 1
3 101775001 Cooler, 10-Quart, Rubbermaid® (blue) ............................................................. 1
4 101775002 Cooler, 10-Quart, Rubbermaid (red) ................................................................. 1
5 1017749 Bracket, Cooler ................................................................................................. 1
6 8251 Screw, Truss-Head, 1/4-20 x 1 .......................................................................... 4
7 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 4
8 332 Washer, Flat, 1/4 ............................................................................................... 4
9 AM10020 Kit, Cooler (black) (includes mounting bracket and mounting hardware)............... 1
10 AM10018 Cooler, 12-Quart Igloo (black) ........................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-47



Page 1-48 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

13

2

3

4

9

10

15

16

17

14

18

11

7

5

6

APM-000016-002



SAND BOTTLE KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1016424 Assembly, Sand Bottle (includes items 2 and 3) (1982 - 2000
non-ICS DS only) ................................................................................................... 1

2 1016224 Top, Sand Bottle ................................................................................................ 1
3 1016223 Bottom, Sand Bottle .......................................................................................... 1
4 Holder, Sand Bottle (1982 - 2000 non-ICS DS only) ............................................. 1

101465703 Black ................................................................................................................. 1
101465701 Beige ................................................................................................................. 1

5 7479 Bolt, Hex-Head, 1/4-20 x 1-1/4 ............................................................................. 1
6 1014306 Washer, Flat, 1/4 ................................................................................................... 1
7 8233 Nut, Nylon Lock, 1/4-20 ........................................................................................ 1
8 101936001 Kit, Sand Bottle Service (includes items 9 - 11, and 15 - 18) ................................ 2
9 101980401 Assembly, Sand Bottle (includes item 10) ......................................................... 1
10 101980501 Cap, Sand Bottle .......................................................................................... 1
11 101981101 Assembly, Sand Bottle Basket (black) .............................................................. 1
12 AM10022 Kit, Top-Fill Sand Bottle (includes items 13 - 18) (fits all DS vehicles) .................. 1
13 102278501 Bottle, Sand ...................................................................................................... 1
14 102278601 Assembly, Sand Bottle Basket .......................................................................... 1
15 1013509 Screw, Hex-Head, 1/4-20 x 1-3/4 ...................................................................... 1
16 1014306 Washer, Flat, Type B, 1/4 .................................................................................. 1
17 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 1
18 332 Washer, Flat, Type A Narrow, 1/4 ..................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-49



Page 1-50 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

3
4

5

6

APM-000030-001



SAND MUG KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM11899 Kit, Sand Mug – White (includes items 3 and 5 - 9) ............................................... 1
2 AM1189902 Kit, Sand Mug – Gray (includes items 4 - 9) .......................................................... 1
3 AM11900 Sand Mug (white)............................................................................................... 1
4 AM1190002 Sand Mug (gray) ................................................................................................ 1
5 AM11901 Basket, Sand Mug.............................................................................................. 1
6 N/A Screw, Self Drilling Phillips Pan-Head, #10 x3/4................................................ 2
7 102296140 *Bolt, Hex-Head, M6-1 x 40 ............................................................................... 2
8 102296301 *Washer, Flat, M6............................................................................................... 2
9 102296401 *Nut, Lock, M6-1 ................................................................................................ 2

*Parts included in kit, but not used in this application.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-51



Page 1-52 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

Club Car

Club Car

Club Car

9

7

7

6

6

3

4

8

TYPICAL 3
PLACES

5 8

3
4

2

ONE-PIECE SEAT BACKS
SEPARATE SEAT BACKS

17

14

17

15

TYPICAL
3 PLACES

14

16

11 13

18
19

APM-000060-001



SAND BUCKET AND SAND BASKET KITS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101997401 Kit, Sand Bucket (includes items 2 - 9)
2 304 Screw, Hex-Head, 1/4-20 x 1 (for separate seat backs) ................................... 5
3 332 Washer, Flat, 1/4 Type A ................................................................................... 5
4 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 5
5 1013509 Screw, Hex-Head, 1/4-20 x 1-3/4 (for one-piece seat backs) ........................... 2
6 1017041 Scoop, Sand ..................................................................................................... 1
7 101985201 Assembly, Sand Bucket ..................................................................................... 1
8 102024601 Mount, Bucket ................................................................................................... 1
9 102024701 Bracket, Bucket Mounting (for separate seat backs) ................................. 1

10 101704302 Kit, Sand Basket (1982 - 2000 non-ICS DS vehicles only) (driver side)
(includes items 11 and 14 - 17)

11 N/A Basket, Driver-Side ........................................................................................... 1
12 101704304 Kit, Sand Basket (1982 - 2000 non-ICS DS vehicles only) (passenger side)

(includes items 13 - 17)
13 N/A Basket, Passenger-Side ................................................................................... 1
14 7847 Bolt, Hex-Head, 1/4-20 x 3/4 ............................................................................. 6
15 1017166 Bracket, Mounting ............................................................................................. 3
16 1014306 Washer, Flat, 1/4 Type B ................................................................................... 3
17 8233 Nut, Nylon Lock, 1/4-20 ............................................................................. 6

18 101704001 Kit, Sand Bucket (includes item 19) (1982 - 2000 non-ICS DS vehicles only) ...... 1
19 1017041 Scoop, Sand ..................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-53



Page 1-54 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000061-002



CLUB AND BALL CLEANER KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Kit, Club and Ball Cleaner (includes mounting hardware) 
2 102549203 Beige ................................................................................................................. 1
3 102549202 White ................................................................................................................. 1
4 102549201 Black ................................................................................................................. 1
5 AM1231201 Plug, Drain Hole (fits items 2 - 4) (not shown) ...................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-55



Page 1-56 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
8

9

4

9

2

OR

5

6

7

76

APM-000062-001



RAKE KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1010408 Kit, Rake and Rake Holder (includes items 2 - 9) .................................................. 1
2 1010236 Assembly, Rake ................................................................................................ 1
3 1013665 Kit, Rake Holder (includes items 4 - 9) .............................................................. 1
4 1013666 Holder, Rake ................................................................................................. 1
5 1703 Bolt, Hex-Head, 1/4-20 x 1-1/2 (vehicles with sweater basket) .................... 1
6 8233 Nut, Nylon Lock, 1/4-20 ................................................................................ 2
7 1015075 Washer, Flat, 5/16 ........................................................................................ 2
8 1014402 Bracket, Mounting ........................................................................................ 1
9 403 Bolt, Hex-Head, 1/4-20 x 5/8 (vehicles without sweater basket) .................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-57



Page 1-58 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

7

TYPICAL
 9 PLACES

8

2

3
4

APM-000063-001



SCUFF GUARD AND BAGWELL PROTECTOR KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101706702 Kit, Scuff Guard (includes items 2 - 4) .................................................................. 1
2 101776201 Guard, Scuff (passenger side) .......................................................................... 1
3 101776301 Guard, Scuff (driver side) .................................................................................. 1
4 1010434 Fastener, Plastic Barrel ..................................................................................... 12
5 101768204 Kit, Bagwell Protector, Ten Pack (includes items 7 and 8) .................................... 1
6 101768202 Kit, Bagwell Protector (includes items 7 and 8) .................................................... 1
7 N/A Protector, Bagwell ............................................................................................. 1
8 1010434 Fastener, Plastic Barrel ..................................................................................... 9 
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-59



Page 1-60 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

7
4

5 6

2

DS Bagrack

APM-000019-001



TWO-BAG ATTACHMENT KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101712701 Kit, Two-Bag Attachment (includes items 2 - 7) ..................................................... 1
2 1017122 Attachment, Two-Bag......................................................................................... 1
3 102555201 *Insert, Plastic .................................................................................................... 1
4 1014402 Bracket, Stem Mounting..................................................................................... 1
5 1011891 Stem Cavity........................................................................................................ 1
6 1015583 Bushing, Urethane ............................................................................................. 1
7 8233 Nut, Nylon Hex, 1/4-20....................................................................................... 1

*Parts are included in kit, but not used in this application.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-61



Page 1-62 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

TYPICAL 
4 PLACES

14 1215

2

13

67

5TYPICAL 
4 PLACES

3

10

4

TYPICAL 
2 PLACES

TYPICAL 
2 PLACES

7

8

9

APM-000064-001



FOUR-BAG ATTACHMENT KIT
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1017127 Kit, Four-Bag Attachment (two-passenger vehicle) (includes items 2 - 15) ........... 1
2 N/A Assembly, Two-Bag Weldment (includes items 3 - 10) ..................................... 1
3 7935 Strap with Buckle, Bag (short) ...................................................................... 4
4 1010413 Strap, Bag (long) .......................................................................................... 2
5 1107 Screw, Flat-Head, 1/4-20 x 3/4 ..................................................................... 4
6 1014306 Washer, Plain, 1/4 ........................................................................................ 4
7 8233 Nut, Nylon Lock, 1/4-20 ................................................................................ 6
8 8419 Screw, Truss-Head Machine, 1/4-20 x 5/8 ................................................... 2
9 1014306 Washer, Flat, Type B, 1/4 ............................................................................. 2
10 1017521 Knob, Four-Bag Attachment ......................................................................... 1
11 1011910 Kit, Hardware (includes items 12 - 15) .............................................................. 1
12 1015583 Bushing, Urethane ........................................................................................ 1
13 N/A Cavity, Stem ................................................................................................. 1
14 8233 Nut, Nylon Lock, 1/4-20 ................................................................................ 1
15 1014402 Bracket, Stem Mounting ............................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-63



Page 1-64 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000065-001



NERF BAR
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10385 Bar, Nerf (two bars per kit) ..................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-65



Page 1-66 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

Club Car

Club C
ar

Club Car

Club Car

1

6

8

3

4

2

7

9

APM-000066-001



WHEEL COVERS (1 OF 2)
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Cover, Wheel, Ribbed Sport – set of 4, for 8-inch rims (includes item 5)
Without Logo

AM10447 Chrome and Black ........................................................................................ 1
AM10450 Solid Chrome ................................................................................................ 1
AM10445 Gold and Black ............................................................................................. 1

With Club Car Logo
1014964 Chrome and Black ........................................................................................ 1

AM10449 Solid Chrome ................................................................................................ 1
AM10444 Gold and Black ............................................................................................. 1

2 Cover, Wheel, Ribbed Sport with Spinner – set of 4, for 8-inch rims
(includes item 5)

With Special Edition Logo
AM10448 Chrome and Black ........................................................................................ 1
AM10451 Solid Chrome ................................................................................................ 1
AM10446 Gold and Black ............................................................................................. 1

3 AM10443 Cover, Wheel, Elite with Spinner and Special Edition Logo (chrome)
 – set of 4, for 8-inch rims (includes item 5) 1

4 Cover, Wheel, Elite – set of 4, for 8-inch rims (includes item 5)
102866401 Without Logo (solid chrome) ............................................................................. 1

AM10441 With Club Car Logo (solid chrome) ................................................................... 1
5 AM10618 Clip, Replacement (not shown) .................................................................... 1
6 1012642 Cover, Wheel, Sport with Club Car Logo (chrome) (includes item 7) .................... 4
7 1012641 Extension, Air Valve ................................................................................... 1

8 2009 Hub, Chrome Wheel ............................................................................................. 4
9 Cover – set of 2, for 10-inch rims

AM10839 Chrome ............................................................................................................. 2
AM10840 Gold .................................................................................................................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-67



Page 1-68 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

10

11

TYPICAL
4  PLACES

APM-000066-003



WHEEL COVERS (2 OF 2)
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

10 102559901 Kit, Wheel Cover, 7-spoke – set of 4, for 8-inch rims............................................. 1
11 AM1224001 Kit, Wheel Cover, “SS” – set of 4, for 8-inch rims .................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-69



Page 1-70 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D
6

26

5

1

3

4

APM-000067-001



GRAPHICS
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10900 Graphic, Zig Pattern Golf Car (black) .................................................................... 1
2 AM10901 Graphic, Blade Golf Car (dark blue) ...................................................................... 1
3 AM10902 Graphic, Wings Golf Car (silver metallic) .............................................................. 1
4 AM10903 Graphic, Archer Golf Car (gold metallic) ............................................................... 1
5 AM10904 Graphic, Spice Golf Car (firemist metallic) ............................................................ 1
6 AM10905 Graphic, Scorcher Golf Car (solid red) .................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-71



Page 1-72 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

1

APM-000068-001



GEAR/GROCERY BAG
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10896 Bag, Gear/Grocery ................................................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-73



Page 1-74 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D

2

1

4

3

APM-000172-001



BODIES – UNPAINTED
E
G
1ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM11246 Cowl, Front – Unpainted ........................................................................................ 1
2 AM11247 Cowl with Headlight Openings, Front – Unpainted ................................................ 1
3 AM11248 Body, Rear, Gasoline – Unpainted ......................................................................... 1
4 AM11249 Body, Rear, Electric – Unpainted ........................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 1-75



Page 1-76 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

1

D



2

 

CANOPIES, WINDSHIELDS,
AND ENCLOSURES
G
E
D



Page 2-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

Club Car

18

19

19
20

TYPICAL 2 
PLACES

23

18
TYPICAL 2 
PLACES

19

19

20

23

5

7

6

4

8

14

21

22
TYPICAL 2 
PLACES

17
13

11
10

12 TYPICAL 2 
PLACES

9

15

2

TYPICAL 2 
PLACES

APM-000069-001



CANOPY KIT – 1982-2000 NON-ICS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1011886 Kit, Canopy (beige) (fits 1982-2000 non-ICS vehicles) (includes items 2 and
6 - 23) 1

2 1011871 Canopy (beige) (includes item 5) ...................................................................... 1
3 1014538 Kit, Canopy (white) (fits 1982-2000 non-ICS vehicles) (includes items 4 - 23) ...... 1
4 1014558 Canopy (white) (includes item 5) ...................................................................... 1
5 1011942 Grommet, Modified ....................................................................................... 2
6 1011856 Support, Rear Canopy (passenger side) .......................................................... 1
7 1011855 Support, Rear Canopy (driver side) .................................................................. 1
8 AM10737 Assembly, Windshield Frame (includes items 9 - 15) ....................................... 1
9 1010237 Bushing ........................................................................................................ 2
10 1011964 Washer, Flat, 1/4 .......................................................................................... 2
11 1011965 Washer, Lock, 1/4 ......................................................................................... 2
12 1703 Screw, Hex-Head Cap, 1/4-20 x 1-1/2 .......................................................... 2
13 1011878 Nut, “T” Capped ............................................................................................ 2
14 1011862 Brace, Knee (passenger side) ...................................................................... 1
15 1011865 Brace, Knee (driver side) .............................................................................. 1
16 1014433 Kit, Canopy Mounting Hardware (includes items 17 - 22) ................................. 1
17 1011883 Pad, Windshield Frame Mounting ................................................................ 2
18 7311 Screw, Hex-Head Cap, 1/4-20 x 2 ................................................................ 8
19 1011852 Plate, Canopy Trim ....................................................................................... 8
20 8233 Nut, Nylon Lock, 1/4-20 ................................................................................ 8
21 1218 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 ........................................................ 2
22 1011937 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 (with patch) .................................... 2
23 1012008 Support, Side Canopy ....................................................................................... 4
24 AM10731 Plate, Canopy Trim (black) (1982 - 2000 non-ICS) (can be used in place of

item 19) ................................................................................................................. 8
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-3



Page 2-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D 7

1 2

4

4

5

6

5

9
10

10
1112

5

7

8

8

FRONT OF

VEHICLE

REF.

REF.

REF.

TYPICAL 2 PLACES

TYPICAL 2 
PLACES

REFERENCE
SEAT BACK
SUPPORT
WELDMENT

TYPICAL 2 
PLACES

APM-000070-001



CANOPY KIT – 2000-PRESENT ICS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 102061301 Canopy, ICS (white) .............................................................................................. 1
2 102061302 Canopy, ICS (beige) .............................................................................................. 1
3 102155501 Kit, Support (includes items 4 - 12) ....................................................................... 1
4 102063901 Assembly, Windshield Frame ............................................................................ 1
5 102065501 Support, Rear Canopy (driver side) .................................................................. 1
6 102064601 Support, Rear Canopy (passenger side) .......................................................... 1
7 102076701 Screw, SEMS (with patch), 1/4-20 x 1-3/4 ........................................................ 8
8 101835601 Nut, Flange, 1/4-20 ........................................................................................... 8
9 324 Screw, Hex-Head Cap, 1/4-20 x 2-1/2 .............................................................. 4
10 332 Washer, Flat, 1/4 ............................................................................................... 8
11 8233 Nut, Lock, 1/4-20 ............................................................................................... 4
12 102198301 Pad, Windshield Frame Mounting ..................................................................... 2
13 AM50435 Support, Rear Canopy, Four-Passenger (black) (fits 2000-present vehicles

with a four-passenger conversion and an ICS canopy) (not shown) 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-5



Page 2-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

Club Car

18

17

19

22

2

20

6 21

5

7

13
32

6

29

31

28
30

26

20
23

24

16

12

14

9
10

8

11

21

TYPICAL 4 
PLACES

TYPICAL 2 
PLACES

TYPICAL 2 
PLACES

TYPICAL 2 
PLACES

TYPICAL 2 
PLACES

TYPICAL 2 
PLACES

TYPICAL 
2 PLACES

27

REF.

4

25

APM-000071-001



CANOPY KIT, FOUR-PASSENGER – NON ICS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1014434 Kit, Canopy (beige) (includes items 2 and 5 - 32) ................................................. 1
2 1014423 Canopy (beige) ................................................................................................. 1
3 1014898 Kit, Canopy (white) (includes items 4 - 32) ........................................................... 1
4 1014899 Canopy (white) .................................................................................................. 1
5 1014419 Support, Rear Canopy, Four-Passenger ........................................................... 1
6 1011938 Support, Rear Canopy ...................................................................................... 2
7 AM10737 Assembly, Windshield Frame (includes items 8 - 14) ....................................... 1
8 1010237 Bushing ........................................................................................................ 2
9 1011964 Washer, Flat, 1/4 .......................................................................................... 2
10 1011965 Washer, Lock, 1/4 ......................................................................................... 2
11 1703 Screw, Hex-Head Cap, 1/4-20 x 1-1/2 .......................................................... 2
12 1011878 Nut, “T” Capped ............................................................................................ 2
13 1011862 Brace, Knee (passenger side) ...................................................................... 1
14 1011865 Brace, Knee (driver side) .............................................................................. 1
15 1014420 Kit, Canopy Mounting Hardware (includes items 16 - 27) ................................. 1
16 1011883 Pad, Windshield Frame Mounting ................................................................ 2
17 324 Screw, Hex-Head Cap, 1/4-20 x 2 1/2 .......................................................... 8
18 1011852 Plate, Canopy Trim ....................................................................................... 4
19 8233 Nut, Nylon Lock, 1/4-20 ................................................................................ 8
20 7473 Nut, Nylon Lock, 5/16-18 .............................................................................. 4
21 1015075 Washer, Flat, 5/16 ........................................................................................ 4
22 8963 Screw, Hex-Head Cap, 5/16-18 x 1-3/4 ........................................................ 2
23 1010577 Screw, Hex-Head Cap, 5/16-18 x 1-1/2 ........................................................ 2
24 1011937 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 (with patch) .................................... 2
25 8915 Screw, Hex-Head Cap, 5/16-18 x 3 (for vehicles with rear handrail

mounted to seat) 2
26 8916 Screw, Hex-Head Cap, 5/16-18 x 2 (for vehicles without rear handrail

mounted to seat support) 2
27 1010546 Bushing ........................................................................................................ 2
28 1010237 Bushing ............................................................................................................. 2
29 1011964 Washer, Flat, 1/4 ............................................................................................... 2
30 1011965 Washer, Lock, 1/4 ............................................................................................. 2
31 1703 Screw, Hex-Head Cap, 1/4-20 x 1-1/2 .............................................................. 2
32 1011878 Nut, “T” Capped ................................................................................................ 2
33 AM10738 Assembly, Windshield Frame with Knee Braces (black gloss)

(includes items 8 - 14) (can be used in place of item 7) 1
34 AM10739 Support, Rear Canopy, Four-Passenger (black) (can be used in place of

item 5) 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-7



Page 2-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D 1

APM-000072-001



CANOPY – UNIVERSAL
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTES:
A univeral canopy can only be installed on DS vehicles equipped with a
four-passenger conversion kit.

A strut kit must be purchased separately to install this universal canopy.
Order CCI P/N AM10740 (aluminum) for 1982 - 2000 non-ICS vehicles or
CCI P/N AM10741 (steel) for 2000 - present ICS vehicles. See page 2-11.

1 Canopy, 80-Inch, Universal (mounting hardware not included)
AM10264 White ................................................................................................................. 1
AM10265 Beige ................................................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-9



Page 2-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D 2

1612

11

24

25

APM-000073-001



FOUR-PASSENGER STRUT KITS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: DS Golf vehicles must have a four-passenger conversion kit installed
before strut kit AM10740 or AM10741 can be installed.

1 AM10740 Kit, Four-Passenger Strut (aluminum) (black) (1982 - 2000 non-ICS)
(includes items 2 - 22) (hardware not shown)  1

2 N/A Assembly, Windshield Frame (black gloss) (includes items 4 - 10) .................. 1
4 1010237 Bushing ........................................................................................................ 2
5 1011964 Washer, Flat, 1/4 .......................................................................................... 2
6 1011965 Washer, Lock, 1/4 ......................................................................................... 2
7 1703 Screw, Hex-Head Cap, 1/4-20 x 1-1/2 .......................................................... 2
8 1011878 Nut, “T” Capped ............................................................................................ 2
9 N/A Brace, Knee (black gloss) (passenger side) ................................................. 1
10 N/A Brace, Knee (black gloss) (driver side) ........................................................ 1
11 AM10736 Support, Rear Canopy (black gloss) ................................................................. 1
12 1013884 Spacer ............................................................................................................... 8
13 1218 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 ............................................................ 2
14 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 8
15 324 Screw, Hex-Head Cap, 1/4-20 x 2-1/2 .............................................................. 8
16 1011883 Pad, Windshield Frame Mounting ..................................................................... 2
17 7473 Nut, Nylon Lock, 1/4-20 .................................................................................... 12
18 1015075 Washer, Flat, 5/16 ............................................................................................. 4
19 8963 Screw, Hex-Head Cap, 5/16-18 x 1-3/4 ............................................................ 2
20 1010577 Screw, Hex-Head Cap, 5/16-18 x 1-1/2 ............................................................ 2
21 1011937 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 ............................................................ 2
22 8916 Screw, Hex-Head Cap, 5/16-18 x 2 .................................................................. 2
23 AM10741 Kit, Four-Passenger Strut (steel) (black) (2000 - present ICS)

(includes items 24 - 33) (hardware not shown)   1
24 AM50437 Support, ICS Rear Canopy ............................................................................... 1
25 AM50446 Bracket, ICS Adapter ........................................................................................ 2
26 8916 Screw, Hex-Head Cap, 5/16-18 x 2 .................................................................. 2
27 102099101 Screw, SEMS, 5/16-18 x 1 ................................................................................ 2
28 1015405 Bolt, Carriage, 5/16-18 x 2 ................................................................................ 4
29 1015075 Washer, Flat, 5/16 ............................................................................................. 8
30 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 4
31 1011964 Washer, Flat, 1/4 ............................................................................................... 4
32 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 10
33 1015058 Bolt, Carriage, 5/16-18 x 1 ................................................................................ 4
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-11



Page 2-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

Club Car

4

3

APM-000074-001



ALL-WEATHER ENCLOSURES (1 OF 2)
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Three-sided enclosures require a windshield. For items 1 and 2, use
either windshield CCI P/N 1014435 (solid), or  CCI P/N 101728602 (hinged).
For item 4, use either CCI P/N 102162901 (flat) or CCI P/N 102162202
(hinged).
A soft windshield is incorporated into the design of four-sided enclosures.

NOTE: Items 1 and 2 fit 1982 - 2000 non-ICS vehicles equipped with a
standard (non-ICS) canopy.

1 Enclosure, Vinyl, Three-Sided with Velcro™ and Hooks
101931401 Beige ................................................................................................................. 1
101931402 White ................................................................................................................. 1

2 Enclosure, Vinyl, Three-Sided with Snaps
101931403 Beige ................................................................................................................. 1
101931404 White ................................................................................................................. 1

3 1013132 Enclosure, Vinyl, Four-Sided (beige) .................................................................... 1

NOTE: Items 4 and 5 fit 2000 - present ICS vehicles equipped with an
ICS canopy.

4 Enclosure, Vinyl, Three-Sided with Velcro 
102163502 Beige ................................................................................................................. 1
102163501 White ................................................................................................................. 1

5 Enclosure, Vinyl, Four-Sided with Velcro
102163602 Beige ................................................................................................................. 1
102163601 White ................................................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-13



Page 2-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D
1

2

APM-000074-006



ALL-WEATHER ENCLOSURES (2 OF 2)
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Ultimate enclosures wrap around the front canopy supports and
attach with zippers. Ultimate enclosures also have oversized door and
rear access zippers.

1 Enclosure, Vinyl, Over-the-Top Ultimate (fits 1982-2000 non-ICS
canopies)

AM10649 Beige with Beige Binding .................................................................................. 1
AM10650 White with White Binding .................................................................................. 1

2 Enclosure, Vinyl, Over-the-Top Ultimate (fits ICS canopies)
AM10646 Beige with Beige Binding .................................................................................. 1
AM10647 White with White Binding .................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-15



Page 2-16 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

2
3

1

APM-000075-001



REAR RAIN CURTAINS AND CLUB PROTECTORS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Curtain, Deluxe Rear Rain, Vinyl
101931801 Beige ................................................................................................................. 1
101931802 White ................................................................................................................. 1

2 Club Protector®, Vinyl
101934601 Beige ................................................................................................................. 1
101934602 White ................................................................................................................. 1

3 Club Protector, Sunbrella
101934603 Hemlock Tweed ................................................................................................ 1
101934604 Toast (light brown) ............................................................................................. 1
101934605 Dark Green ....................................................................................................... 1
101934606 Charcoal Tweed ................................................................................................ 1
101934607 Royal Blue ......................................................................................................... 1
101934608 Beige ................................................................................................................. 1
101934609 Linen Tweed ...................................................................................................... 1
101934610 Burgundy ........................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-17



Page 2-18 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D 1

APM-000077-001



ALL-WEATHER CAR COVER
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Cover, All-Weather Car
AM10087 Cover, Two-Passenger Car .................................................................................... 1
AM10088 Cover (for use on vehicle equipped with four-passenger conversion kit)............... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-19



Page 2-20 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

4

3

2

APM-000078-001



WINDSHIELDS – SOLID
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All windshields listed include mounting hardware.
1 1014435 Kit, Solid Tinted Windshield (includes items 2 and 3) (1982-2000 non-ICS

canopies only) 1
2 1014437 Channel, Bottom Windshield ............................................................................. 1
3 101444101 Channel, Side Windshield ................................................................................. 2
4 102162901 Kit, Solid Tinted Windshield (includes item 5) (ICS canopies only)........................ 1
5 102163001 Channel, Windshield ............................................................................................. 6
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-21



Page 2-22 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

11

10

8

9

7

APM-000078-002



WINDSHIELDS – HINGED
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All windshields listed include mounting hardware.
6 101728602 Kit, Hinged Windshield (includes items 7 - 10) (fits 1982-2000 non-ICS

canopy tops) 1
7 101444101 Channel, Bottom Windshield ............................................................................. 1
8 102005701 Channel, Side ................................................................................................... 4
9 102005901 Retainer, Lower Windshield .............................................................................. 2
10 102005801 Clip, Rubber (with glue) (upper windshield) ...................................................... 2
11 102162202 Kit, Hinged Windshield (includes items 12 - 14) (fits only ICS canopy tops).......... 1
12 102163101 Channel, Bottom Windshield (with receiver clips) ............................................. 2
13 102005801 Clip, Rubber (with glue) (upper windshield) ...................................................... 2
14 102163001 Channel, Windshield ......................................................................................... 3
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-23



Page 2-24 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

15

APM-000078-003



WINDSHIELDS – SOLID WINGED
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All windshields listed include mounting hardware.
15 AM10340 Windshield, Solid Winged (1982 - 2000 and ICS canopy tops) ........................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-25



Page 2-26 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

17

APM-000078-004



WINDSHIELDS – HINGED WINGED
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All windshields listed include mounting hardware.
16 AM10342 Windshield, Hinged Winged (1982 - 2000 non-ICS canopy tops)

(not shown) 1
17 AM10343 Windshield, Hinged Winged (fits only 2000 - present DS ICS canopy tops).......... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-27



Page 2-28 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D

2

APM-000079-001



REAR WINDSHIELDS
E
G
2ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All windshields listed include mounting hardware.
1 AM10282 Windshield, Rear (1982 - 2000 non-ICS canopy tops) (not shown) ...................... 1
2 AM10283 Windshield, Rear (2000 - present ICS canopy tops) (shown in photo) ................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 2-29



Page 2-30 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

2

D



3
TOWING ACCESSORIES

G
E
D



Page 3-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

12

15

16
17

8

5

9
10

7

4

3
6

2

11

13

14

8

9

APM-000006-001



LIGHT-DUTY TOW BAR KIT
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: The light-duty tow bar kit cannot be installed on vehicles with
4-wheel brakes.

1 1016987 Kit, Tow Bar (includes items 2 - 17) ...................................................................... 1
2 1010029 Assembly, Steering Arm Weldment.................................................................... 1
3 1011893 Socket, Vertical (right hand) (includes items 4 and 5)........................................ 1
4 1011930 Boot, Dust...................................................................................................... 1
5 7602 Nut, Hex Slotted, 3/8- 24............................................................................... 1
6 1308 Nut, Hex, 1/2-20................................................................................................. 1
7 1016983 Weldment, Tow Bar Body Sub-Assembly .......................................................... 1
8 1035 Pin, Cotter, 3/32 x 1 ........................................................................................... 2
9 334 Washer, Flat, 3/8 ................................................................................................ 2
10 1010317 Spring, Compression.......................................................................................... 1
11 7910 Pin, Cotter, 5/32 x 1 ........................................................................................... 1
12 8725 Plunger, Safety................................................................................................... 1
13 1010028 Washer, Flat, 1/2 ................................................................................................ 1
14 1010039 Washer, Wave Spring, 1/2.................................................................................. 1
15 1016974 Ring, Split........................................................................................................... 2
16 1010019 Pin, Retainer ...................................................................................................... 1
17 8703 Chain, Retainer Pin............................................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-3



Page 3-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

5
8

9

20

7

15

12

2

13

8

10

14

11

3
4

6

19

18

21

23

24

22

16 17

APM-000080-001



PERMANENT TOW BAR KIT
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101698602 Kit, Permanent Tow Bar (includes items 2 - 15) .................................................... 1
2 1014278 Attachment, Permanent Towing ........................................................................ 1
3 1016959 Assembly, Towing Lug and Steering (includes items 4 - 10) ............................. 1
4 1035 Pin, Cotter, 3/32 x 1 ...................................................................................... 1
5 1011893 Socket, Vertical (right hand) (includes items 6 and 7) .................................. 1
6 7602 Nut, Hex Slotted, 3/8-24 .......................................................................... 1
7 1011930 Boot, Dust ................................................................................................ 1
8 1308 Nut, Hex, 1/2-20 ........................................................................................... 2
9 102546801 Rod, Steering Link ........................................................................................ 1
10 1016965 End, Spherical Rod ...................................................................................... 1
11 705 Bolt, Hex-Head, 3/8-16 x 1-1/4 ......................................................................... 2
12 8754 Nut, Nylon Lock, 3/8-16 .................................................................................... 2
13 102422701 Nut, Nylon Lock, 3/4-16 .................................................................................... 1
14 1010150 Bearing, Thrust ................................................................................................. 1
15 101903101 Nut, Nylon Lock, 1/2-20 .................................................................................... 1
16 101698001 Bar, Permanent Tow 24-Inch (lead vehicle) (includes items 18 - 24) ..................... 1
17 101698002 Bar, Permanent Tow 18-Inch (following vehicle) (includes items 18 - 24).............. 1
18 1010034 Assembly, Channel Weldment .......................................................................... 1
19 8754 Nut, Nylon Lock, 3/8-16 .................................................................................... 1
20 8755 Bolt, Hex-Head, 3/8-16 x 3-3/8 ......................................................................... 1
21 1010038 Decal, Tow Bar .................................................................................................. 1
22 1010019 Pin, Retaining .................................................................................................... 1
23 8703 Chain, Retaining Pin ......................................................................................... 1
24 1016974 Ring, Split .......................................................................................................... 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-5



Page 3-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

20

19 18

17

15

16

54

6

14

12

9

8 11

10

13

7
5

APM-000081-001



SELF-CONTAINED PERMANENT TOW BAR KIT (1 OF 2)
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101785202 Kit, Permanent Tow Bar (with rake holder) (includes items 3 - 47) ....................... 1
2 101785204 Kit, Permanent Tow Bar (without rake holder) (includes items 3 - 21, 23 - 35,

and 37 - 47) 1
3 1017744 Assembly, Tow Bar Steering (includes items 4 - 14) ......................................... 1
4 1016965 End, Spherical Rod ...................................................................................... 1
5 1308 Nut, Hex, 1/2-20 ........................................................................................... 2
6 1016956 Rod, Steering Link ........................................................................................ 1
7 1011893 Socket, Vertical (right hand) (includes items 8 and 9) .................................. 1
8 7602 Nut, Hex Slotted, 3/8-24 .......................................................................... 1
9 1011930 Boot, Dust ................................................................................................ 1
10 1017427 Retainer, Tow Bar ......................................................................................... 1
11 1017428 Spring, Tow Bar ............................................................................................ 1
12 1035 Pin, Cotter, 3/32 x 1 ...................................................................................... 2
13 1017429 Assembly, Tow Bar Weldment ...................................................................... 1
14 808 Washer, Flat, 3/8 .......................................................................................... 2
15 102422701 Nut, Nylon Lock, 3/4-16 .................................................................................... 1
16 1010150 Washer, Thrust .................................................................................................. 1
17 705 Bolt, Hex-Head, 3/8-16 x 1-1/4 ......................................................................... 2
18 8754 Nut, Nylon Lock, 3/8-16 .................................................................................... 2
19 101903101 Nut, Nylon Lock, 1/2-20 .................................................................................... 1
20 1014278 Attachment, Permanent Towing ........................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-7



Page 3-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

37

33

34

28

45

32

30

29
31

23

35

36

35

OR

22

37

27

24

41

43

44

40

26

21

21
39

43

25

42

38

TYPICAL 2
PLACES

37 46
47

VEHICLES
WITH SWEATER
BASKET

21

APM-000081-002



SELF-CONTAINED PERMANENT TOW BAR KIT (2 OF 2)
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

21 1011697 Washer, 5/16 ...................................................................................................... 7
22 101926301 *Rake Holder...................................................................................................... 1
23 101926701 Spring, Gripper................................................................................................... 1
24 1017779 Bumper, Tow Bar................................................................................................ 1
25 1017831 Brace, Tow Bar Bumper ..................................................................................... 1
26 1016875 Plate, Bumper Mounting (long) .......................................................................... 1
27 1017747 Assembly, Tow Bar Arm (includes items 28 - 34)............................................... 1
28 N/A Arm, Tow Bar................................................................................................. 1
29 1017433 Clevis, Tow Bar.............................................................................................. 1
30 1016201 Washer, Wave ............................................................................................... 1
31 8754 Nut, Nylon Lock, 3/8-16................................................................................. 1
32 8861 Bolt, Hex-Head, 3/8-16 x 1-3/4...................................................................... 1
33 1017780 Retainer, Tow Bar Bumper ............................................................................ 1
34 101785101 Decal, Tow Bar Safety ................................................................................... 1
35 403 Bolt, Hex-Head, 1/4-20 x 5/8.............................................................................. 2
36 1013509 *Bolt, Hex-Head, 1/4-20 x 1-1/2 ......................................................................... 1
37 8233 Nut, Nylon Lock, 1/4-20 ..................................................................................... 2
38 8935 Screw, Hex-Head Cap, 5/16-18 x 2-1/4 ............................................................. 2
39 7473 Nut, Nylon Lock, 5/16-18 ................................................................................... 4
40 1017760 Spacer, 0.31 x 0.38 ............................................................................................ 4
41 7270 Bolt, Hex-Head, 3/8-16 x 4-1/2 .......................................................................... 1
42 8754 Nut, Nylon Lock, 3/8-16 ..................................................................................... 1
43 334 Washer, Flat, 3/8 ................................................................................................ 2
44 1017759 Spacer................................................................................................................ 1
45 1014402 Bracket, Mounting .............................................................................................. 1
46 1012571 Washer, Extra Thick Flat, 5/16 ........................................................................... 1
47 1014482 Spacer, Nylon..................................................................................................... 1

*Items 22 and 36 are only in towbar kit CCI P/N 101785202, which includes
a rake holder.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-9



Page 3-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

8

7

6

5

2

93

4 TYPICAL
2 PLACES

APM-000082-001



TRAILER HITCH KIT
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1011522 Kit, Trailer Hitch (includes items 2 - 9) ................................................................... 1
2 1011546 Ball, Trailer (with nut and washer)...................................................................... 1
3 1218 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 ............................................................. 2
4 7473 Nut, Nylon Lock, 5/16-18 ................................................................................... 2
5 1624 Screw, Hex-Head Cap, 3/8-16 x 1-1/2 ............................................................... 1
6 357 Washer, Lock, 3/8 .............................................................................................. 1
7 808 Washer, Flat, 3/8 ................................................................................................ 1
8 706 Nut, Hex, 3/8-16................................................................................................. 1
9 1011553 Decal, Trailer Hitch............................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-11



Page 3-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D

Club Car

2

TYPICAL
2 PLACES

3

4

5

APM-000083-001



FRONT RECEIVER KIT
E
G
3ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10983 Kit, Front Receiver (includes items 9 - 12) ............................................................. 1
2 N/A Assembly, Front Receiver .................................................................................. 1
3 705 Screw, Hex-Head Cap, 3/8-16 x 1-1/4 ............................................................... 2
4 1011990 Washer, Flat, 3/8 ................................................................................................ 4
5 8754 Nut, Nylon Lock, 3/8-16 ..................................................................................... 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 3-13



Page 3-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

3

D



4
LIGHTS

G
E
D



Page 4-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

HEADLIGHT 
SWITCH

16

21

19

17

20

18

AS SEEN 
FROM FRONT
DRIVER SIDE
OF VEHICLE,

BODY
 REMOVED 

  HEADLIGHT
DIODE MOUNTING

GASOLINE VEHICLES 
ONLY

2

15

8

7

TYPICAL
2 PLACES

HEADLIGHT 
MOUNTING

TYPICAL
2 PLACES

WIRE TIE

3

4

13

14

11
6 10

5
9

12

APM-000084-001



HEADLIGHT KIT – GASOLINE AND
36-V ELECTRIC VEHICLES (1 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101712603 Kit, Headlight (includes items 2 - 22) .................................................................... 1
2 8990 Tie, Wire ............................................................................................................ 4
3 101988001 Assembly, Headlight, Driver-Side (includes items 5 - 13) ................................. 1
4 101988002 Assembly, Headlight, Passenger-Side (includes items 5 - 12 and 14) .............. 1
5 101988101 Bulb, Halogen ............................................................................................... 1
6 101988201 Lens, Headlight ............................................................................................ 1
7 1017064 Bracket, Mounting ........................................................................................ 2
8 1017 Nut, Hex, #10-24 .......................................................................................... 2
9 1013461 Screw, Hi-Lo, #10-16 .................................................................................... 2
10 1017065 Retainer, Headlight ....................................................................................... 1
11 1017062 Assembly, Turn Signal Lens ......................................................................... 2
12 101987901 Harness, Headlight Wire .............................................................................. 1
13 1016880 Bezel, Headlight, Driver-Side ....................................................................... 1
14 1016879 Bezel, Headlight, Passenger-Side ................................................................ 1
15 4034 Switch, Light (includes item 16) ........................................................................ 1
16 1013857 Knob, Light Switch ........................................................................................ 1
17 1017721 Diode, Headlight (gasoline vehicles only) ......................................................... 1
18 1010909 Screw, Machine-Head, #10-32 x 1-1/4 (gasoline vehicles only) ....................... 1
19 183 Washer, Flat, #10 (gasoline vehicles only) ........................................................ 1
20 1016 Washer, Lock, #10 (gasoline vehicles only) ...................................................... 1
21 7893 Nut, Hex, #10-32 (gasoline vehicles only) ........................................................ 1
22 1016858 Harness, Wire (see page 4-5) ........................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-3



Page 4-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

23

PASSENGER-SIDE
HEADLIGHT

DRIVER-SIDE
HEADLIGHT

#16 BLACK

#16 BLACK

LIGHT
SWITCH

#16 BLUE

#16 YELLOW
#16 BLACK

#16 BLUE

#16 BLACK

HEADLIGHT DIODE

#1
6 

B
LA

C
K

#16 YELLOW

#16 BLACK

#16 BLUE

FUSE

SOLENOID

FRAME
GROUND

#16 BLUE

#16 BLACK

#16 BLACK

#16 BLUE

APM-000084-002



HEADLIGHT KIT – GASOLINE AND
36-V ELECTRIC VEHICLES (2 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Wire harness is included with Headlight Kit (101712603) shown 
on page 4-3.

22 1016858 Wire Harness (includes item 23) ....................................................................... 1
23 8106 Fuse, 20-Amp ............................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-5



Page 4-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D B-M
A

+M

S

8
TYPICAL
4 PLACES

AS SEEN 
FROM FRONT
DRIVER SIDE
OF VEHICLE,

BODY
 REMOVED 

7

5

6

4

3

14

15

19

9

10

13

20

17

18

12
11

HEADLIGHT 
MOUNTING

16

TYPICAL 
2 PLACES

HEADLIGHT DIODE MOUNTING
GASOLINE VEHICLES ONLY

26

27
28

21
22

25

24

APM-000086-001



BASIC LIGHT KIT (1 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: A voltage limiter must be installed on 48-volt electric vehicles 
before the basic light kit can be installed. 

1 AM10101 Kit, Basic Light (with standard headlights) (includes items 3 - 20 and
29 - 41) .................................................................................................................. 1

2 AM10102 Kit, Basic Light (with small headlights) (includes item 3 - 8 and 21 - 41) .............. 1
3 1017721 Diode, Headlight (gasoline vehicles only) ......................................................... 1
4 1010909 Screw, Machine-Head, #10-32 x 1-1/4 (gasoline vehicles only) ....................... 1
5 1016 Washer, Lock, #10 (gasoline vehicles only) ...................................................... 1
6 7893 Nut, Hex, #10-32 (gasoline vehicles only) ........................................................ 1
7 183 Washer, Flat, #10 (gasoline vehicles only) ........................................................ 1
8 8990 Tie, Wire ............................................................................................................ 8
9 101988001 Assembly, Headlight, Driver-Side (includes items 11 - 19) ............................... 1
10 101988002 Assembly, Headlight, Passenger-Side (includes items 11 - 18 and 20) ............ 1
11 101987901 Harness, Headlight Wire .............................................................................. 1
12 101988101 Bulb, Halogen ............................................................................................... 1
13 101988201 Lens, Headlight ............................................................................................ 1
14 1017064 Bracket, Mounting ........................................................................................ 2
15 1017 Nut, Hex, #10-24 .......................................................................................... 2
16 1013461 Screw, Hi-Lo, #10-16 .................................................................................... 2
17 1017065 Retainer, Headlight ....................................................................................... 1
18 1017062 Assembly, Turn Signal Lens ......................................................................... 1
19 1016880 Bezel, Headlight, Driver-Side ....................................................................... 1
20 1016879 Bezel, Headlight, Passenger-Side ................................................................ 1
21 AM10096 Assembly, Headlight, Driver-Side (small) (includes item 23 - 24) ..................... 1
22 AM10097 Assembly, Headlight, Passenger-Side (small) (includes items 23 - 25) ............ 1
23 AM10091 Bulb, Headlight (not shown) ......................................................................... 1
24 1014176 Assembly, Bezel and Reflector, Driver-Side ................................................. 1
25 1014177 Assembly, Bezel and Reflector, Passenger-Side ......................................... 1
26 1011498 Screw, Machine, #8-32 x 1/2 ............................................................................. 2
27 1011610 Washer, Lock, #8 .............................................................................................. 2
28 1011571 Nut, Hex, #8-32 ................................................................................................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-7



Page 4-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

ClubCar
ClubCar

31

34

33

32

35

37

40

39
36 38

TYPICAL
2 PLACES

30

29

APM-000086-002



BASIC LIGHT KIT (2 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

29 4034 Switch, Light (includes item 30) ........................................................................ 1
30 1013857 Knob, Light Switch......................................................................................... 1
31 1017035 Assembly, Taillight (includes items 32 - 35) ...................................................... 2
32 N/A Base, Taillight ............................................................................................... 1
33 1011582 Bulb .............................................................................................................. 1
34 1017699 Kit, Hardware ................................................................................................ 1
35 1011843 Lens .............................................................................................................. 1
36 1011497 Bezel, Taillight ................................................................................................... 2
37 CCX5958 Screw, Tuflok ..................................................................................................... 4
38 1011557 Screw, Hex-Head Machine, #6-32 x 1 .............................................................. 4
39 7591 Washer, Flat, #6 ................................................................................................ 4
40 1011558 Nut, Hex, #6 ...................................................................................................... 6
41 AM10099 Harness, Wire (see page 4-11) ......................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-9



Page 4-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

A

A

A

A

B

B

B

B

BLACK
DRIVER-SIDE
BRAKE LIGHT

#16 BLACK

BLACK

PASSENGER-SIDE
BRAKE LIGHT

#1
6 

B
LA

C
K

BROWN

BROWN

PASSENGER-SIDE
HEADLIGHT

DRIVER-£SIDE
HEADLIGHT

#16 BLUE

#16 BLACK

#16 BLACK

#16 BLUE
#16 BLACK

#16 BLACK

#16 BLACK

#16 BLUE

#16 BLUE

#1
6 

B
LA

C
K

#14 YELLOW

LIGHT
SWITCH

#16 BROWN

HEADLIGHT DIODE
(GASOLINE VEHICLE ONLY)

#1
0 

B
LA

C
K

FRAME GROUND

SOLENOID
(GASOLINE VEHICLES)

POSITIVE TERMINAL 
CHARGER RECEPTACLE
(V-GLIDE ELECTRIC 
VEHICLE)

POSITIVE TERMINAL 
BATTERY # 5 
(48 VOLT ELECTRIC 
VEHICLE)

#16 BROWN

GROUND TERMINAL BLOCK
(48 VOLT ELECTRIC 
VEHICLE ONLY)

#14 BLACK

#16 BLACK

#16 BLACK

#1
6 

B
LA

C
K

#1
6 

B
LA

C
K

#1
0 

B
LA

C
K

POSITIVE POST 
BATTERY #3
(V-GLIDE ELECTRIC 
VEHICLE)

APM-000086-003



BASIC LIGHT KIT (WIRING) (3 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Wire harness is included with Basic Light Kit (AM10101 and 
AM10102) beginning on page 4-7.

41 AM10099 Harness, Wire ................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-11



Page 4-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D B-M
A

+M

S

2
TYPICAL
4 PLACES

AS SEEN 
FROM FRONT
DRIVER SIDE
OF VEHICLE,

BODY
 REMOVED 

28

26

27

25

24
3

4

9

10

7

5

6
8

11

17

18

22

12

13

16

23

20

21

15
14

HEADLIGHT 
MOUNTING

19

TYPICAL 
2 PLACES

TYPICAL 
2 PLACES

HEADLIGHT DIODE
MOUNTING

GASOLINE VEHICLES ONLY

29

3031

32

33

APM-000088-001



STANDARD LIGHTING PACKAGE – GASOLINE AND
36-V ELECTRIC VEHICLES (1 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101705503 Lighting Package, Standard (includes items 2 - 69)...............................................  1
2 8990 Tie, Wire............................................................................................................. 4
3 1016356 Block, Terminal................................................................................................... 1
4 1013357 Rivet, Aluminum Pop, 5/32 ................................................................................ 2
5 4029 Assembly, Horn (includes items 6 - 8) .............................................................. 1
6 7820 Washer, Internal Tooth, 5/16 ........................................................................ 1
7 101955101 Nut, Hex, M6 x 1 ........................................................................................... 1
8 1011825 Bracket, Horn ............................................................................................... 1
9 304 Bolt, Hex-Head, 1/4-20 x 1 ................................................................................ 2
10 332 Washer, Flat, 1/4 ............................................................................................... 2
11 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 2
12 101988001 Assembly, Headlight, Driver-Side (includes items 14 - 22) ............................... 1
13 101988002 Assembly, Headlight, Passenger-Side (includes items 14 - 21 and 23) ............ 1
14 101987901 Harness, Headlight Wire .............................................................................. 1
15 101988101 Bulb, Halogen ............................................................................................... 1
16 101988201 Lens, Headlight ............................................................................................ 1
17 1017064 Bracket, Mounting ........................................................................................ 2
18 1017 Nut, Hex, #10-24 .......................................................................................... 2
19 1013461 Screw, Hi-Lo, #10-16 .................................................................................... 2
20 1017065 Retainer, Headlight ....................................................................................... 1
21 1017062 Assembly, Turn Signal Lens ......................................................................... 1
22 1016880 Bezel, Headlight, Driver-Side ....................................................................... 1
23 1016879 Bezel, Headlight, Passenger-Side ................................................................ 1
24 1017721 Diode, Headlight (gasoline vehicles only) ......................................................... 1
25 1010909 Screw, Machine-Head, #10-32 x 1-1/4 (gasoline vehicles only) ....................... 1
26 1016 Washer, Lock, #10 (gasoline vehicles only) ...................................................... 1
27 7893 Nut, Hex, #10-32 (gasoline vehicles only) ........................................................ 1
28 183 Washer, Flat, #10 (gasoline vehicles only)......................................................... 1
29 102199001 Relay, Brake Light, 12-Volt ................................................................................ 1
30 1017853 Bolt, Hex-Head Machine, 6-32 x 3/4 ................................................................. 2
31 7591 Washer, Flat ...................................................................................................... 2
32 1011229 Nut, Hex Lock, 6-32 .......................................................................................... 2
33 101914401 Assembly, Voltage Suppressor ......................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-13



Page 4-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

PARK
PARK

40

39

38

3637

38 37

36

35

34

41

42 43

TYPICAL
2 PLACES

TYPICAL
2 PLACES

APM-000088-002



STANDARD LIGHTING PACKAGE – DS GASOLINE AND
36-V ELECTRIC VEHICLES (2 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

34 4034 Switch, Light (includes item 35) ........................................................................ 1
35 1013857 Knob, Light Switch......................................................................................... 1
36 1011439 Switch, Limit ....................................................................................................... 2
37 1011557 Screw, Hex-Head Machine, #6-32 x 1 ............................................................... 4
38 101932201 Nut, Nylon Lock, #6-32 ...................................................................................... 4
39 101957101 Bracket, Brake Light Switch ............................................................................... 1
40 1011280 Nut, Lock, 5/16-18.............................................................................................. 1
41 101969701 Button, Horn....................................................................................................... 1
42 1241 Washer, Flat, 5/16-18 ........................................................................................ 1
43 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-15



Page 4-16 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

TYPICAL
2 PLACES

65

63

59

TYPICAL
3 PLACES 58

57

64

61

63

62

61

TYPICAL
2 PLACES

60

FUSE BLOCK
MOUNTING
36-VOLT VEHICLE 
ONLY

44

47

46

45

48

52 51
50

56

55
49 54

TYPICAL
2 PLACES

53

APM-000088-003



STANDARD LIGHTING PACKAGE – GASOLINE AND
36-V ELECTRIC VEHICLES (3 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

44 1017035 Assembly, Taillight (includes items 45 - 48) ...................................................... 2
45 N/A Base, Taillight ............................................................................................... 1
46 1011582 Bulb .............................................................................................................. 1
47 1017699 Kit, Hardware ................................................................................................ 1
48 1011843 Lens .............................................................................................................. 1
49 1011497 Bezel, Taillight ................................................................................................... 2
50 1011498 Screw, Machine, #8-32 x 1/2 (not used in DS application) ............................... 4
51 1011610 Washer, Lock, #8 (not used in DS application) ................................................. 4
52 1011571 Nut, Hex, #8-32 (not used in DS application) .................................................... 4
53 CCX5958 Screw, Tuflok...................................................................................................... 4
54 1011557 Screw, Hex-Head Machine, #6-32 x 1 .............................................................. 4
55 7591 Washer, Flat, #6 ................................................................................................ 4
56 1011558 Nut, Hex, #6 ...................................................................................................... 6
57 1015741 Block, Fuse (electric vehicles only) ................................................................... 1
58 1016423 Fuse, 20-Amp (electric vehicles only) ............................................................... 3
59 1016363 Cover, Fuse Block (electric vehicles only) ........................................................ 1
60 1016366 Screw, Round-Head, #10-24 x 3 (electric vehicles only) .................................. 2
61 1016 Washer, Lock, #10 (electric vehicles only) ........................................................ 2
62 1016631 Nut, Push (electric vehicles only) ...................................................................... 2
63 183 Washer, Flat, #10 (electric vehicles only) .......................................................... 4
64 1017 Nut, Hex, #10-24 (electric vehicles only) .......................................................... 2
65 1012438 Nut, Nylon Lock, #10-24 (electric vehicles only) ............................................... 2
66 101987801 Harness, Lighting (see page 4-19) .................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-17



Page 4-18 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

1

67
68

69

#1
6 

B
R

O
W

N

#16 ORANGE/WHITE

NC

BRAKE LIMIT
SWITCH

#1
6 

G
R

E
E

N
/W

H
IT

E

PARK BRAKE
LIMIT SWITCH

#16 WHITE

#16 YELLOW

RED

BLACK

DRIVER-SIDE
BRAKE LIGHT

#16 BLACK

RED

BLACK

PASSENGER-SIDE
BRAKE LIGHT

R
E

D

#16 RED

RED

FUSE
BLOCK

COM
NC

COM

#18 RED

GROUND
TERMINAL
BLOCK

KEY SWITCH

BRAKE LIGHT 
RELAY

#16 BROWN

#18 BLACK

#14 BLACK

#1
6 

B
LA

C
K

#1
0 

B
LA

C
K

#1
6 

B
R

O
W

N

#1
8 

B
LA

C
K

BROWN

BROWN

PASSENGER-SIDE
HEADLIGHT

DRIVER-£SIDE
HEADLIGHT

#16 BLUE
#16 BLACK

#16 BLUE

#16 BLACK

#16 BLACK
#16 BLUE

#16 BLACK
#16 BLUE

#1
6 

B
LA

C
K

#16 BROWN

#1
4 

Y
E

LL
O

W

LIGHT
SWITCH

#16 BROWN

HEADLIGHT DIODE
(GASOLINE VEHICLE)

HORN

HORN
SWITCH

#1
6 

B
LA

C
K

#16 RED/WHITE

#16 ORANGE

FRAME GROUND
(GASOLINE 
VEHICLES)

POSITIVE POST 
BATTERY #3
(V-GLIDE 
ELECTRIC 
VEHICLE)

SOLENOID
(GASOLINE 
VEHICLES)

POSITIVE TERMINAL 
CHARGER 
RECEPTACLE
(V-GLIDE ELECTRIC 
VEHICLE)

#16 BROWN

APM-000088-004



STANDARD LIGHTING PACKAGE (WIRING) – GAS
AND 36-V ELECTRIC VEHICLES (4 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Lighting harness is included with Standard Lighting Packages
beginning on page 4-13.

66 101987801 Lighting Harness, Standard (for vehicles with serial numbers 9801
and greater)  ...................................................................................................... 1

67 1016367 Wire Assembly, #10 Black (gasoline vehicles only) .......................................... 1
68 1016364 Wire Assembly, #10 Black (electric vehicles only) ............................................ 1
69 N/A Wire Assembly, #16 Black (gasoline vehicles only) .......................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-19



Page 4-20 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

FLASHER UNIT 
MOUNTING

3

6

9 8
7

4

TURN SIGNAL
SWITCH MOUNTING

25

10

TURN SIGNAL
LIGHT MOUNTING

11

12

9
7

APM-000085-001



TURN SIGNAL CONVERSION KIT – GASOLINE AND
36-V ELECTRIC VEHICLES W/ LIGHTS (1 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: To install this kit, vehicle must be equipped with a standard lighting
package.

1 101707402 Kit, Turn Signal Conversion (includes items 2 - 12) .............................................. 1
2 1011590 Sub-Assembly, Turn Signal (includes items 3 and 4) ........................................ 1
3 1017489 Unit, Flasher (three-prong) ........................................................................... 1
4 N/A Base, Mount ................................................................................................. 1
5 1017724 Rivet, Plastic ..................................................................................................... 1
6 8104 Screw, Round-Head Machine, #10-32 x 3/4 ..................................................... 1
7 183 Washer, Flat, #10 .............................................................................................. 2
8 1016 Washer, Lock, #10 ............................................................................................ 1
9 7893 Nut, Hex, #10-32................................................................................................ 2
10 1011492 Cover, Steering Column .................................................................................... 1
11 1017075 Assembly, Turn Signal Harness (includes item 12) ........................................... 2
12 1011583 Bulb, Turn Signal .......................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-21



Page 4-22 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

PARK
LIMIT

BLACK

WHITE

BLACK

BLUE

WHITE

BLACK

#16 BLACK

#16 G
REEN

#16 BLACK

BLACK

#1
6 

G
R

E
E

N

#1
6 

R
E

D

TURN SIGNAL
SWITCH

GROUND 
TERMINAL 
BLOCK

FLASHER
UNIT

BLACK

6

FUSE
BLOCK

SWITCH

COM

NC

#16 WHITE

#16 WHITE

#16 YELLOW

#16 YELLOW

#16 BLUE

DRIVER-SIDE
BRAKE LIGHT

PASSENGER-SIDE
BRAKE LIGHT

RED

BROWN

BLACK

FRAME GROUND 
(GASOLINE VEHICLE)

POSITIVE POST BATTERY # 3
(V-GLIDE ELECTRIC VEHICLE)

#16 B
LACK

RED

BROWN

BLACK

DRIVER-SIDE 
HEADLIGHT

BLACK
BLUE

#1
6 

B
LA

C
K

BLUEYELLOW

2

1

3

4

5

#1
6 

B
R

O
W

N

#16 BROWN

#16 ORANGE/WHITE

NC

BRAKE LIMIT
SWITCH

#1
6 

G
R

E
E

N
/W

H
IT

E

COM

BRAKE LIGHT 
RELAY

#16 BROWN

#18 BLACK

R
E

D

PASSENGER-SIDE 
HEADLIGHT

APM-000085-002



TURN SIGNAL CONVERSION KIT (WIRING) – GASOLINE
AND 36-V ELECTRIC VEHICLES W/ LIGHTS (2 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All wires that connect the turn signal conversion kit are part 
of the standard lighting harness (101987801), which is included with 
the Standard Lighting Packages beginning on page 4-13.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-23



Page 4-24 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

2
TYPICAL
2 PLACES

WIRE TIE

9

8

TYPICAL
2 PLACES

HEADLIGHT 
MOUNTING

3

4

13

14
12

7
11

6
10

5

HEADLIGHT 
SWITCH

16

15

APM-000087-001



HEADLIGHT KIT – 48-V ELECTRIC VEHICLES (1 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101828003 Kit, Headlight (includes items 2 - 23) .................................................................... 1
2 8990 Tie, Wire ............................................................................................................ 4
3 101988001 Assembly, Headlight, Driver-Side (includes items 5 - 13) ................................. 1
4 101988002 Assembly, Headlight, Passenger-Side (includes items 5 - 12 and 14) .............. 1
5 101987901 Harness, Headlight Wire .............................................................................. 1
6 101988101 Bulb, Halogen................................................................................................ 1
7 101988201 Lens, Headlight ............................................................................................. 1
8 1017064 Bracket, Mounting ........................................................................................ 2
9 1017 Nut, Hex, #10-24 .......................................................................................... 2
10 1013461 Screw, Hi-Lo, #10-16 x 7/16 ......................................................................... 2
11 1017065 Retainer, Headlight ....................................................................................... 1
12 1017062 Assembly, Turn Signal Lens ......................................................................... 1
13 1016880 Bezel, Headlight, Driver-Side ....................................................................... 1
14 1016879 Bezel, Headlight, Passenger-Side ................................................................ 1
15 4034 Switch, Light (includes item 16) ........................................................................ 1
16 1013857 Knob, Light Switch ........................................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-25



Page 4-26 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

TYPICAL
2 PLACES 17

18

TYPICAL
2 PLACES

VOLTAGE 
LIMITER

MOUNTING
(CARRYALL 1, DS GOLF, AND 

VILLAGER 4   MOUNTING)

19

GROUND
BLOCK
MOUNTING

2120

VERTICAL
SEAT
SUPPORT

APM-000087-002



HEADLIGHT KIT – 48-V ELECTRIC VEHICLES (2 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

17 101810801 Kit, Voltage Limiter (includes items 18 - 21) ...................................................... 1
18 101962601 Gasket .......................................................................................................... 1
19 101835601 Nut, Flanged Lock, 1/4-20 ............................................................................ 2
20 1016356 Block, Terminal ............................................................................................. 1
21 1013357 Rivet, Pop, 5/32 ............................................................................................ 2
22 101828101 Harness, Wire (see page 4-29) ......................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-27



Page 4-28 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

BLACK

BLUE

-
+

+
-

-

-
+

+

+

+

-

-

2

PASSENGER-SIDE
HEADLIGHT

DRIVER-SIDE
HEADLIGHT

LIGHT
SWITCH

VOLTAGE
LIMITER

GROUND
TERMINAL
BLOCK

BATTERY
BANK

#16 BLUE

#16 BLACK

 BLACK

#16 BLUE#16 YELLOW

23 #16 YELLOW

FUSE

#16 BLACK

#16 YELLOW

1

3

4

6

5

#16 BLUE#16 BLACK

BLUE

BLACK

CONTROLLER
(POWERDRIVE VEHICLES)

ACCESSORY MOUNTING TERMINAL
(IQ SYSTEM VEHICLE)

APM-000087-003



HEADLIGHT KIT (WIRING) – 48-V ELECTRIC VEHICLES
(3 OF 3)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Wire harness is included with Headlight Kit beginning 
on page 4-25.

22 101828101 Wire Harness (includes item 23) ....................................................................... 1
23 8106 Fuse, 20-Amp ............................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-29



Page 4-30 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D
B-M

A

+M

S

WIRE TIE

TYPICAL
2 PLACES

2

3
4

7
6

8

5

10

9

11

18

17

14
19

15
2016

21

22

23

12

13

25

26

27

24 28

HEADLIGHT 
MOUNTING

TYPICAL
2 PLACES

APM-000089-001



STANDARD LIGHTING PACKAGE –
48-V ELECTRIC VEHICLES (1 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101814001 Lighting Package, Standard (includes items 2 - 67) .............................................. 1
2 8990 Tie, Wire ............................................................................................................ 4
3 1016356 Block, Terminal .................................................................................................. 1
4 1013357 Rivet, Aluminum Pop, 5/32 ............................................................................... 2
5 4029 Assembly, Horn (includes items 6 - 8) .............................................................. 1
6 7820 Washer, Internal Tooth, 5/16 ........................................................................ 1
7 1012528 Nut, M8 x 32 mm .......................................................................................... 1
8 1011825 Bracket, Horn ............................................................................................... 1
9 304 Bolt, Hex-Head, 1/4-20 x 1 ................................................................................ 2
10 332 Washer, Flat, 1/4 ............................................................................................... 2
11 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 2
12 101988001 Assembly, Headlight, Driver-Side (includes items 14 - 22) ................................ 1
13 101988002 Assembly, Headlight, Passenger-Side (includes items 14 - 21 and 23)............. 1
14 101987901 Harness, Wire................................................................................................ 1
15 101988101 Bulb, Halogen................................................................................................ 1
16 101988201 Lens, Headlight ............................................................................................. 1
17 1017064 Bracket, Mounting ......................................................................................... 2
18 1017 Nut, Hex, #10-24 ........................................................................................... 2
19 1013461 Screw, Hi-Lo, #10-16..................................................................................... 2
20 1017065 Retainer, Headlight........................................................................................ 1
21 1017062 Assembly, Turn Signal Lens.......................................................................... 1
22 1016880 Bezel, Headlight, Driver-Side ........................................................................ 1
23 1016879 Bezel, Headlight, Passenger-Side................................................................. 1
24 101828601 Relay, Brake Light, 48-Volt  ...............................................................................  1
25 1017853 Bolt, Hex-Head Machine, 6-32 x 3/4 ................................................................. 2
26 7591 Washer, Flat ...................................................................................................... 2
27 1011229 Nut, Hex Lock, 6-32 .......................................................................................... 2
28 101914401 Assembly, Voltage Suppressor ......................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-31



Page 4-32 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

PARK
PARK

30

29

31

33 32

35

34

33

313236

TYPICAL
2 PLACES

TYPICAL
2 PLACES

37
38

APM-000089-002



STANDARD LIGHTING PACKAGE –
48-V ELECTRIC VEHICLES (2 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

29 4034 Switch, Light (includes item 30) ......................................................................... 1
30 1013857 Knob, Light Switch ........................................................................................ 1
31 1011439 Switch, Limit ...................................................................................................... 2
32 1011557 Screw, Hex-Head Machine, #6-32 x 1 .............................................................. 4
33 101932201 Nut, Nylon Lock, #6-32 ..................................................................................... 4
34 101957101 Bracket, Brake Light Switch .............................................................................. 1
35 1011280 Nut, Lock, 5/16-18 ............................................................................................. 1
36 101969701 Button, Horn ...................................................................................................... 1
37 1241 Washer, Flat, 5/16-18 ........................................................................................ 1
38 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-33



Page 4-34 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

TYPICAL
2 PLACES

39

42

TYPICAL
2 PLACESVOLTAGE

LIMITER
MOUNTING 

43

GROUND
BLOCK
MOUNTING

4140

FUSE BLOCK
MOUNTING

TYPICAL
2 PLACES

52

50

46

TYPICAL
3 PLACES 45

TYPICAL
2 PLACES

51

48

50

49

48

47

44

TYPICAL
2 PLACES

5860 59

TYPICAL
2 PLACES

TAILLIGHT
MOUNTING

63 62

61

56
57

55

53

54

VERTICA
SEAT
SUPPOR

65

64

APM-000089-003
L

T



STANDARD LIGHTING PACKAGE –
48-V ELECTRIC VEHICLES (3 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

39 101810801 Limiter, Voltage (includes items 40 - 43) ............................................................ 1
40 1016356 Block, Terminal .............................................................................................. 1
41 1013357 Rivet, Pop, 5/32............................................................................................. 2
42 101962601 Gasket ........................................................................................................... A/R
43 101835601 Nut, Flanged Lock, 1/4-20............................................................................. 2
44 1015741 Block, Fuse ........................................................................................................ 1
45 1016423 Fuse, 20-Amp .................................................................................................... 3
46 1016363 Cover, Fuse Block.............................................................................................. 1
47 1016366 Screw, Round-Head, #10-24 x 3........................................................................ 2
48 1016 Washer, Lock, #10 ............................................................................................. 2
49 1016631 Nut, Push ........................................................................................................... 2
50 183 Washer, Flat, #10 ............................................................................................... 4
51 1017 Nut, Hex, #10-24................................................................................................ 2
52 1012438 Nut, Nylon Lock, #10-24 .................................................................................... 2
53 1017035 Assembly, Taillight (includes items 54 - 57) ....................................................... 2
54 N/A Base, Taillight ................................................................................................ 1
55 1011582 Bulb ............................................................................................................... 1
56 1017699 Kit, Hardware................................................................................................. 1
57 1011843 Lens............................................................................................................... 1
58 1011557 Screw, Hex-Head Machine, #6-32 x 1 ............................................................... 4
59 7591 Washer, Flat, #6 ................................................................................................. 4
60 1011558 Nut, Hex, #6 ....................................................................................................... 4
61 1011498 Screw, Machine, #8-32 x 1/2 (not used in DS application) ............................... 4
62 1011610 Washer, Lock, #8 (not used in DS application) ................................................. 4
63 1011571 Nut, Hex, #8-32 (not used in DS application) .................................................... 4
64 CCX5958 Screw, Tuflok...................................................................................................... 4
65 1011497 Bezel, Taillight ................................................................................................... 1
66 102273101 Assembly, Diode (not shown) ........................................................................... 1
67 101987801 Harness, Wire (see page 4-37) ......................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-35



Page 4-36 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

1

#1
6 

B
R

O
W

N

#16 ORANGE/WHITE

NC

BRAKE LIMIT
SWITCH

#1
6 

G
R

E
E

N
/W

H
IT

E

PARK BRAKE
LIMIT SWITCH

#16 WHITE

#16 YELLOW

RED

BLACK

DRIVER-SIDE
BRAKE LIGHT

#16 BLACK

RED

BLACK

PASSENGER-SID
BRAKE LIGHT

R
E

D

#16 RED

RED

FUSE
BLOCK

COM
NC

COM

#18 RED

GROUND
TERMINAL
BLOCK

GROUND
TERMINAL
BLOCK

KEY SWITCH

BRAKE LIGHT 
RELAY

#16 BROWN

#16 BLACK

#14 BLACK

#1
6 

B
LA

C
K

#1
6 

B
R

O
W

N

#1
8 

B
LA

C
K

BROWN

BROWN

PASSENGER-SIDE
HEADLIGHT

DRIVER-SIDE
HEADLIGHT

 #16 BLUE
#16 BLACK

#16 BLUE

#16 BLACK

#16 BLACK
#16 BLUE

#16 BLACK
#16 BLUE

#1
6 

B
LA

C
K

#16 BROWN

#1
4 

Y
E

LL
O

W

LIGHT
SWITCH

#16 BROWN

HORN

HORN
SWITCH

#1
6 

B
LA

C
K

#16 RED/WHITE

#16 ORANGE

POSITIVE POST 
BATTERY #5

#16 BROWN

VOLTAGE
LIMITER

BLACK

CONTROLLER
(POWERDRIVE VEHICLES)

ACCESSORY TERMINAL BLOCK
(IQ SYSTEM VEHICLES)

APM-000089-004
E



STANDARD LIGHTING PACKAGE (WIRING) –
48-V ELECTRIC VEHICLES (4 OF 4)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Wire harness is included with the Standard Lighting Package
beginning on page 4-31. 

67 101987801 Harness, Wire – Standard Lighting .................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-37



Page 4-38 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D
9

7

FLASHER UNIT 
MOUNTING

3

6
9

8
7

4

TURN SIGNAL
SWITCH MOUNTING

25

10

TURN SIGNAL
LIGHT MOUNTING

11

12

APM-000090-001



TURN SIGNAL CONVERSION KIT – 48-V ELECTRIC
VEHICLES W/ STANDARD LIGHTING (1 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

To install this kit, vehicle must be equipped with a standard
lighting package.

1 101707402 Kit, Turn Signal Conversion (includes items 2 - 12) .............................................. 1
2 1011590 Sub-Assembly, Turn Signal (includes items 3 and 4) ........................................ 1
3 1017489 Unit, Flasher (three-prong) ........................................................................... 1
4 N/A Base, Mount ................................................................................................. 1
5 1017724 Rivet, Plastic ..................................................................................................... 1
6 8104 Screw, Round-Head Machine, #10-32 x 3/4 ..................................................... 1
7 183 Washer, Flat, #10 .............................................................................................. 2
8 1016 Washer, Lock, #10 ............................................................................................ 1
9 7893 Nut, Hex, #10-32 ............................................................................................... 2
10 1011492 Cover, Steering Column ..................................................................................... 1
11 1017075 Assembly, Turn Signal Harness (includes item 12) ........................................... 2
12 1011583 Bulb, Turn Signal .......................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-39



Page 4-40 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

BLACK

WHITE

BLACK

BLUE

WHITE

BLACK

#16 BLACK

#16 G
REEN

#16 BLACK

BLACK

#1
6 

G
R

E
E

N

#1
6 

R
E

D

TURN SIGNAL
SWITCH

GROUND 
TERMINAL 
BLOCK

GROUND 
TERMINAL 
BLOCK

FLASHER
UNIT

BLACK

6

FUSE
BLOCK

SWITCH

COM

NC

#16 WHITE

#16 WHITE

#16 YELLOW

#16 YELLOW

#16 BLUE

DRIVER-SIDE
BRAKE LIGHT

PASSENGER-SIDE
BRAKE LIGHT

RED

BROWN

BLACK

#16 B
LACK

RED

BROWN

BLACK

DRIVER-SIDE 
HEADLIGHT

BLACK
BLUE

#1
6 

B
LA

C
K

BLUEYELLOW

2

1

3

4

5

#1
6 

B
R

O
W

N

#16 BROWN

ORANGE/WHITE

NC

BRAKE LIMIT
SWITCH

#1
6 

G
R

E
E

N
/W

H
IT

E

COM

BRAKE LIGHT 
RELAY

#16 BROWN

#18 BLACK

R
E

D

PASSENGER-SIDE 
HEADLIGHT

PARK
LIMIT

APM-000090-002



T
URN SIGNAL CONVERSION KIT (WIRING) – 48-V ELECTRIC
VEHICLES W/ STANDARD LIGHTING (2 OF 2)
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: All wires that connect the turn signal are part of the standard
lighting harness (101987801 or 101987901), which is included with 
the Standard Lighting Packages beginning on page 4-31.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-41



Page 4-42 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D

1

APM-000091-001



REAR-FACING FLOOD LIGHT
E
G
4ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Vehicle must be equipped with a canopy.

1 AM10685 Light, Rear-Facing Flood (includes wire harness, conduit, and
mounting hardware)  (includes item 2) .................................................................. 1

2 AM10015 Bulb, Light ......................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 4-43



Page 4-44 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

4

D



5
METERS AND GAUGES

G
E
D



Page 5-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

5

D

HOURS

TYPICAL
3 PLACES

5

3
6

4

APM-000092-001



HOUR METER KITS
E
G
5ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1013579 Kit, Hour Meter – Electric Vehicles (includes items 3 - 6) ..................................... 1
2 1013578 Kit, Hour Meter – Gasoline Vehicles (includes items 3 - 6) ................................... 1
3 1016877 Meter, Hour ........................................................................................................ 1
4 1014540 Screw, Hex Washer-Head, #6-32 ...................................................................... 3
5 1013547 Bracket, Hour Meter .......................................................................................... 1
6 1012285 Screw, Thread-Rolling, 1/4-20 x 5/8................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 5-3



Page 5-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

5

D

2
8

3
9

APM-000094-001



BATTERY CONDITION INDICATOR KITS
E
G
5ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101815609 Kit, Battery Condition Indicator – 48-Volt (includes items 2 and 6) ....................... 1
2 103200701 Indicator, Battery Condition, 48-Volt .................................................................. 1
3 101814701 Retainer, Push-On ............................................................................................ 2
4 101818101 Wire Assembly, #16 Red (not shown) ................................................................ 1
5 101818201 Wire Assembly, #18 Black (not shown).............................................................. 1
6 103282701 Terminal Block Ground (not shown)................................................................... 1
7 101815602 Kit, Battery Condition Indicator – 36-Volt (includes items 8 and 9) ....................... 1
8 101814202 Indicator, Battery Condition, 36-Volt .................................................................. 1
9 101814701 Retainer, Push-On ............................................................................................ 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 5-5



Page 5-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

5

D

OFF    ONOFF    ON

TANK CONNECTION

 TYPICAL
2 PLACES

 TYPICAL
3 PLACES

FRAME CONNECTION

17

20

19

18 

14 

15

13

16

7
6

5

4

11
9 10

8

2

3
12

 TYPICAL 5 PLACES

APM-000095-001



FUEL GAUGE KITS
E
G
5ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1016105 Kit, Fuel Gauge (includes items 2 - 11) ................................................................. 1
2 1015103 Gauge, Fuel (includes items 3 and 4) ............................................................... 1
3 N/A Washer, External Tooth Lock  ....................................................................... 6
4 N/A Nut, Brass...................................................................................................... 3
5 1015104 Bracket, Fuel Gauge ......................................................................................... 1
6 1011610 Washer, Lock, #8 .............................................................................................. 2
7 1011571 Nut, Hex, #8-32 ................................................................................................. 2
8 N/A Wire Assembly, #18 Orange ............................................................................. 1
9 N/A Wire Assembly, #18 Black ................................................................................ 1
10 N/A Wire Assembly, #18 Blue .................................................................................. 1
11 8990 Tie Wrap ............................................................................................................ 3
12 1016004 Kit, Fuel Tank with Sending Unit (includes items 13 - 20) ..................................... 1
13 1015188 Cap, Fuel Tank, Nonvented (includes item 14) ................................................. 1
14 1015143 Assembly, Fuel Tank Vent ................................................................................. 1
15 1015139 Grommet, Insulation .......................................................................................... 1
16 101896901 Valve, Fuel Pickup Tube with Shut-Off .............................................................. 1
17 N/A Wire Assembly, #16 Black ................................................................................ 1
18 1013462 Unit, Fuel Gauge Sending ................................................................................. 1
19 1013583 Gasket, Fuel Gauge Sending Unit .................................................................... 1
20 1013461 Screw, Hi-Lo, 10-16 .......................................................................................... 5
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 5-7



Page 5-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

5

D

DASH

1

APM-000129-002



4 IN 1 MONITOR
E
G
5ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM1227801 Kit, 4 In 1 Monitor – 36V/48V (includes mounting hardware)................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 5-9



Page 5-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

5

D



6
ELECTRICAL OPTIONS AND
ACCESSORIES
G
E
D



Page 6-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

18
9

TYPICAL
4 PLACES

22
23

19

17
16

15

14

13 12

8

10

TYPICAL
2 PLACES

TYPICAL
2 PLACES

11

20
21

TYPICAL
3 PLACES

2

3

7

5
6

APM-000096-001



3.50 HORSEPOWER MOTOR – 36-V ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 1014678 Assembly, 36-Volt Motor, 3.5 hp (includes items 2 - 18) ........................................ 1
2 1017944 Shield, End......................................................................................................... 1
3 1017954 Assembly, Stator Shell and Winding .................................................................. 1
4 1017947 Package, Hardware (includes items 5 - 8) ......................................................... 1
5 N/A Bushing, Insulator.......................................................................................... 2
6 N/A Washer, Flat, 5/16 ......................................................................................... 4
7 N/A Nut, Hex, 5/16-18 .......................................................................................... 4
8 N/A Bushing, Insulator.......................................................................................... 2
9 1017952 Screw, Clamp..................................................................................................... 4
10 1017953 Screw, Bearing Retainer .................................................................................... 2
11 1017951 Shield, End......................................................................................................... 1
12 1017949 Screw, Brush Holder .......................................................................................... 2
13 1017948 Rigging, Brush ................................................................................................... 1
14 1017946 Package, Brush (2 pieces)................................................................................. 1
15 1011411 Package, Brush Spring (4 pieces)...................................................................... 1
16 1011290 Bearing, Ball....................................................................................................... 1
17 1017950 Retainer, Bearing ............................................................................................... 1
18 N/A Armature ............................................................................................................ 1
19 102235201 Bumper, Motor ....................................................................................................... 1
20 1014201 Screw, Hex-Head, 1/4-20 x 2-1/4........................................................................... 3
21 451 Washer, Lock, 1/4 .................................................................................................. 3
22 1010934 Bolt, Hex-Head, 5/16-18 x 1................................................................................... 1
23 7174 Washer, Lock, 5/16 ................................................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-3



Page 6-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D 4

5

6

7

9

12

8

13

14

15

16

TYPICAL
2 PLACES

TYPICAL
4 PLACES

TYPICAL
4 PLACES

TYPICAL
2 PLACES

TYPICAL
2 PLACES

16

11
10

1920

18
22

21

1

2

17

18

TYPICAL
3 PLACES

3

TYPICAL
2 PLACES

APM-000097-001



3.75 HORSEPOWER MOTOR –
POWERDRIVE SYSTEM 48 ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101785704 Assembly, 48-Volt Motor, 3.75 hp (includes items 2 - 22) ..................................... 1
2 102187701 Assembly, Stator Shell and Winding ................................................................. 1
3 102187301 Armature (includes items 4 - 7) ......................................................................... 1
4 N/A Bushing, Insulator ......................................................................................... 1
5 N/A Washer, Insulator ......................................................................................... 1
6 N/A Washer ......................................................................................................... 1
7 N/A Nut, Hex, 5/16-18 ......................................................................................... 1
8 102186301 Ring, Retaining ................................................................................................. 1
9 102186401 Bearing, Ball ...................................................................................................... 1
10 102186601 Plug, Hole ......................................................................................................... 1
11 102186701 Cap, Motor End ................................................................................................. 1
12 102187201 Kit, Cover Plate .................................................................................................. 1
13 102186001 Package, Brush Spring (package of four) ......................................................... 1
14 102186201 Package, Brush (package of two) ..................................................................... 1
15 102186101 Assembly, Brush Box ........................................................................................ 1
16 102186901 Screw, Slotted Hex-Head, #8-32 x 1/2 .............................................................. 2
17 1014201 Screw, Hex-Head Cap, 1/4-20 x 2-1/4 .............................................................. 3
18 451 Washer, Lock, 1/4 ............................................................................................. 5
19 1010934 Screw, Hex-Head Cap, 5/16-18 x 1 .................................................................. 1
20 7174 Washer, Lock, 5/16 ........................................................................................... 1
21 102187001 Bracket .............................................................................................................. 1
22 1012285 Screw, Thread-Rolling, 1/4-20 x 5/8 .................................................................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-5



Page 6-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

COM

NC
NO COM

NC
NO

3

4

REFERENCE COMPONENT
MOUNTING PLATE

APM-000099-001



3.75 HORSEPOWER MOTOR UPGRADE KIT –
POWERDRIVE SYSTEM 48 ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Motor Upgrade Kit (101898401) can be installed on 1998 through 2001
 model year vehicles.

1 101898401 Kit, 3.75 hp Motor Upgrade (includes items 2 - 4 and mounting
hardware) *   ......................................................................................................... 1

2 101785704 Motor, 48-Volt Series (3.75 hp) (not shown) † ................................................... 1
3 101840203 Controller, 300-Amp .......................................................................................... 1
4 101908702 Solenoid, 48-Volt ............................................................................................... 1
5 AM10694 Controller, Remanufactured, 300-amp (48-volt series) (not shown) ..................... 1

* Though not listed, mounting hardware is included with this kit. Hardware
quantities and use vary from model to model. Refer to the installation
instructions included with the kit for vehicle-specific mounting
requirements.
† See page 6-5 for 48-volt series motor assembly.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-7



Page 6-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D 1

APM-000100-001



POWERTORQUE™ POWERTRAIN –
48 V ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10758 Powertrain, PowerTorque™ 48-Volt Electric (includes items 2 - 26) ..................... 1
2 AM10760 Motor, 5.1 hp-rated Continuous Duty ................................................................ 1
3 AM10696 Controller, 450-amp 48-volt Custom ................................................................. 1
4 AM10708 Wire Assembly, #4 Blue (59.5 inches long) ...................................................... 1
5 AM10709 Wire Assembly, #4 Orange ............................................................................... 1
6 AM10710 Wire Assembly, #4 Green ................................................................................. 1
7 AM10711 Wire Assembly, #4 White (20 inches long) ....................................................... 1
8 AM10712 Wire Assembly, #4 White (64 inches long) ....................................................... 1
9 AM10714 Wire Assembly, #4 Yellow ................................................................................. 1
10 AM10715 Wire Assembly, #4 Blue (64 inches long) ......................................................... 1
11 AM10716 Wire Assembly, #4 Red ..................................................................................... 1
12 AM10717 Wire Assembly, #4 Black (28 inches long) ........................................................ 1
13 102002801 Wire Assembly, #4 Black (13.25 inches long) ................................................... 5
14 AM10762 Computer, Onboard (contains 4-gauge wire) .................................................... 1
15 1011997 Assembly, Forward/Reverse Switch ................................................................. 1
16 1014304 Nut, Hex, Stainless Steel, 5/16-18 .................................................................... 1
17 1014871 Screw, Hex Washer-Head, #4-40 x 2 ................................................................ 2
18 1017799 Bar, Bus ............................................................................................................ 1
19 101979101 Switch, Limit, Sealed ......................................................................................... 1
20 102228701 Decal, Private Speed ........................................................................................ 1
21 102243403 Lubricant, Moly-Teflon (single-use tube) ........................................................... 1
22 102250201 Switch, Limit, Sealed ......................................................................................... 1
23 1028 Nut, Hex, 1/4-20 ................................................................................................ 3
24 304 Screw, Hex-Head Cap, 1/4-20 x 1 .................................................................... 3
25 451 Washer, Lock, 1/4 ............................................................................................. 3
26 8990 Tie, Wire ............................................................................................................ 8

NOTE: The PowerTorque Powertrain is for use only on 48-volt electric
vehicles with 18-inch x 8.5-8 tires.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-9



Page 6-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

2 3

4

APM-000140-001



IQ TORQUE KIT
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM1224101 Kit, IQ Torque (includes items 2 - 4)....................................................................... 1
2 AM1224301 Motor, 350 Amp IQ............................................................................................. 1
3 AM1224401 Controller, 350 Amp IQ ...................................................................................... 1
4 AM1232501 Label, IQ Torque Dome...................................................................................... 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-11



Page 6-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

OFF    ONOFF    ON

OFF    ON

APM-000101-001



UNCOMMON KEY SWITCHES – ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: A set of two keys is included with the key switch; however, individual
key orders come with one key. 

1 101841401 Switch, Key (key code 1A) (includes item 2) ......................................................... 1
2 101974701 Key (key code 1A) ............................................................................................. 2
3 101841402 Switch, Key (key code 1B) (includes item 4) ......................................................... 1
4 101974702 Key (key code 1B) ............................................................................................. 2
5 101841403 Switch, Key (key code 1C) (includes item 6) ........................................................ 1
6 101974703 Key (key code 1C) ............................................................................................ 2
7 101841404 Switch, Key (key code 1D) (includes item 8) ........................................................ 1
8 101974704 Key (key code 1D) ............................................................................................ 2
9 101841405 Switch, Key (key code 2A) (includes item 10) ....................................................... 1
10 101974705 Key (key code 2A) ............................................................................................. 2
11 101841406 Switch, Key (key code 2B) (includes item 12) ....................................................... 1
12 101974706 Key (key code 2B) ............................................................................................. 2
13 101841407 Switch, Key (key code 2C) (includes item 14) ...................................................... 1
14 101974707 Key (key code 2C) ............................................................................................ 2
15 101841408 Switch, Key (key code 2D) (includes item 16) ...................................................... 1
16 101974708 Key (key code 2D) ............................................................................................ 2
17 101841409 Switch, Key (key code 1E) (includes item 18) ....................................................... 1
18 101974709 Key (key code 1E) ............................................................................................. 2
19 101841410 Switch, Key (key code 1F) (includes item 20) ....................................................... 1
20 101974710 Key (key code 1F) ............................................................................................. 2
21 101841411 Switch, Key (key code 2E) (includes item 22) ....................................................... 1
22 101974711 Key (key code 2E) ............................................................................................. 2
23 101841412 Switch, Key (key code 2F) (includes item 24) ....................................................... 1
24 101974712 Key (key code 2F) ............................................................................................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-13



Page 6-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

OFF    ONOFF    ON

OFF    ON

APM-000101-001



UNCOMMON KEY SWITCHES –
GASOLINE PEDAL-START VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: A set of two keys is included with each key switch. A single 
key order comes with one key only.

1 101839701 Switch, Key (key code 1A) (includes item 2) ......................................................... 1
2 101974701 Key (key code 1A) ............................................................................................. 2
3 101839702 Switch, Key (key code 1B) (includes item 4) ......................................................... 1
4 101974702 Key (key code 1B) ............................................................................................. 2
5 101839703 Switch, Key (key code 1C) (includes item 6) ........................................................ 1
6 101974703 Key (key code 1C) ............................................................................................ 2
7 101839704 Switch, Key (key code 1D) (includes item 8) ........................................................ 1
8 101974704 Key (key code 1D) ............................................................................................ 2
9 101839705 Switch, Key (key code 2A) (includes item 10) ....................................................... 1
10 101974705 Key (key code 2A) ............................................................................................. 2
11 101839706 Switch, Key (key code 2B) (includes item 12) ....................................................... 1
12 101974706 Key (key code 2B) ............................................................................................. 2
13 101839707 Switch, Key (key code 2C) (includes item 14) ...................................................... 1
14 101974707 Key (key code 2C) ............................................................................................ 2
15 101839708 Switch, Key (key code 2D) (includes item 16) ...................................................... 1
16 101974708 Key (key code 2D) ............................................................................................ 2
17 101839709 Switch, Key (key code 1E) (includes item 18) ....................................................... 1
18 101974709 Key (key code 1E) ............................................................................................. 2
19 101839710 Switch, Key (key code 1F) (includes item 20) ....................................................... 1
20 101974710 Key (key code 1F) ............................................................................................. 2
21 101839711 Switch, Key (key code 2E) (includes item 22) ....................................................... 1
22 101974711 Key (key code 2E) ............................................................................................. 2
23 101839712 Switch, Key (key code 2F) (includes item 24) ....................................................... 1
24 101974712 Key (key code 2F) ............................................................................................. 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-15



Page 6-16 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

2

1

APM-000126-001



CART KEY
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM1208501 Anti-Theft Key Pad, 36V/48V ................................................................................. 1
2 AM1208601 Anti-Theft Key Pad, 12V......................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-17



Page 6-18 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

4

1

DC/DC CONVERTER
MOUNTING

APM-000102-001



DC/DC CONVERTER KIT –
POWERDRIVE AND IQ SYSTEM ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 102357501 Kit, DC/DC Converter (includes items 2 - 6) ......................................................... 1
2 102354901 Harness, DC Converter, 12-Volt (not shown) .................................................... 1
3 102355001 Harness, DC Converter, 48-Volt (not shown) .................................................... 1
4 101835601 Nut, Hex, 1/4-20, Serrated Lock ....................................................................... 2
5 1242 Nut, Hex, 5/16-18 (not shown) .......................................................................... 1
6 8990 Tie, Wire (not shown) ........................................................................................ 4
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-19



Page 6-20 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

APM-000103-001



12-V POWER POINT KIT
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10619 Kit, 12-Volt Power Point (fits 1982 - present vehicles) (includes mounting
hardware) ............................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-21



Page 6-22 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

ACCU
ACCUPOWER
POWER

UL

SA

6

9

21

18

3

2

4

7

5

8

11

12

10

14
15

16

17

24

25

23

19
20

22

13

APM-000104-001



ONBOARD ACCU-POWER BATTERY CHARGER,
DOMESTIC – 36-V ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101616901 Assembly, Accu-Power Charger with Reel, Domestic, 120-V AC, 36-V DC
60-Hz (model number 14800-10)  (includes items 2 - 21) ..................................... 1

2 1016160 Charger, Accu-Power (120-volt) (includes items 3 - 17) ................................... 1
3 1015907 Assembly, Case (includes fasteners) ........................................................... 1
4 7577 Screw, Pan-Head, Self-Tapping, #10-16 x 1/2 ............................................. 1
5 1015912 Assembly, Transformer ................................................................................. 1
6 1015914 Assembly, Heatsink with Diodes (includes mounting hardware) .................. 1
7 1015905 Ammeter (includes mounting hardware) ...................................................... 1
8 1015911 Relay, 36-Volt DC ......................................................................................... 1
9 1015910 Capacitor ...................................................................................................... 1
10 N/A Cordset, DC, 108-Inch Long (standard) 12-AWG ......................................... 1
11 1012101 Assembly, Fuse (includes hardware) ........................................................... 1
12 1012098 Bushing, Strain Relief, 12 AWG DC Cord .................................................... 1
13 1012042 Bushing, Strain Relief, 10 AWG DC Cord .................................................... 1
14 1015917 Bushing, Strain Relief, AC Cord ................................................................... 1
15 N/A Cordset, AC, 72-Inch Long (standard) ......................................................... 1
16 1015906 Assembly, Timer Kit (includes mounting hardware) ..................................... 1
17 1015913 Assembly, Control Cable .............................................................................. 1
18 1017187 Assembly, Retractable Cord Reel ..................................................................... 1
19 1011707 Bracket, Charger Mounting ............................................................................... 2
20 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 4
21 7847 Bolt, Hex-Head, 1/4-20 x 3/4 ............................................................................. 4
22 1703 Bolt, Hex-Head, 1/4-20 x 1-1/2 ............................................................................. 4
23 1010927 Spacer ................................................................................................................... 4
24 332 Washer, Flat, 1/4 (used on rear brackets only) ..................................................... 2
25 8233 Nut, Nylon Lock, 1/4-20 ........................................................................................ 4 
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-23



Page 6-24 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

R

Club Car

6

7

15

14

11

8

4

4

5

9

10

20

13

12

21

22

23

26

27

25

24

18

19

1

17

16

5 REF.

28

29

30

REF.

CHARGER
RECEPTACLE

APM-000105-001



ONBOARD POWERDRIVE BATTERY CHARGER,
DOMESTIC – 48-V ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101896801 Assembly, Fuse Holder ......................................................................................... 1
2 101814301 Assembly, PowerDrive Battery Charger with Reel, Onboard – 120-V AC,

48-V DC, 60-Hz (includes items 3 - 23) ................................................................. 1
3 101802301 Charger, Onboard Battery (includes items 4 - 19) ............................................ 1
4 **** Assembly, Case (includes fasteners) ........................................................... 1
5 7577 Screw, Pan-Head, Self-Tapping, #10-16 x 1/2 ............................................. 12
6 1015914 Assembly, Heatsink with Diodes (includes hardware) .................................. 1
7 101819701 Assembly, Transformer ................................................................................. 1
8 101841701 Kit, Wire Assembly ....................................................................................... 1
9 101841901 Board, Control .............................................................................................. 1
10 101838701 Bracket, Relay and Reset Board Mounting .................................................. 1
11 1015917 Bushing, Strain Relief, AC Cord ................................................................... 1
12 101829001 Cordset, AC, 24 Inches Long with Grounded Plug ....................................... 1
13 CCX8506 Breaker, Circuit, 15-Amp, 120-V AC ............................................................. 1
14 1012098 Bushing, Strain Relief, DC Cord, 12-AWG ................................................... 1
15 101829101 Cordset, DC, 90 Inches Long with Leads, 12-AWG ...................................... 1
16 1012101 Assembly, Fuse (includes hardware) ........................................................... 1
17 101828501 Ammeter (includes hardware) ...................................................................... 1
18 101828601 Relay, Power, 48-V DC ................................................................................. 1
19 101914401 Assembly, Voltage Suppressor ..................................................................... 1
20 1017187 Assembly, Retractable Cord Reel ..................................................................... 1
21 1011707 Bracket, Mounting ............................................................................................. 2
22 8233 Nut, Lock, 1/4-20 ............................................................................................... 4
23 7847 Screw, Hex-Head Cap, 1/4-20 x 3/4 ................................................................. 4
24 1703 Bolt, Hex-Head, 1/4-20 x 1-1/2 ............................................................................. 4
25 1010927 Spacer ................................................................................................................... 4
26 332 Washer, Flat, 1/4 (used on rear brackets only) ..................................................... 2
27 8233 Nut, Nylon Lock, 1/4-20 ........................................................................................ 4
28 1016673 Housing, Cord ....................................................................................................... 1
29 8796 Screw, Phillips Head, #7 - 19 x 3/4 ....................................................................... 4
30 101801001 Plate, Receptacle Backing .................................................................................... 1
31 1017189 Shrink, Heat (1-1/2 inches x 4 feet) (not shown)* ................................................. A/R

*Heat Shrink is available in 3-inch lengths, nonstandard.
****Special order item available upon request. Allow 4 to 6 weeks for
delivery.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-25



Page 6-26 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D

R

Club Car

4

6

7

15

14

16

8

9

4

21

13

10 22

23

24

28

27

26

25

12

19

5

20

18

17

11

5 REF.

REF.

29

30

31

1

CHARGER
RECEPTACLE

APM-000106-001



ONBOARD POWERDRIVE BATTERY CHARGER,
EXPORT – 48-V ELECTRIC VEHICLES
E
G
6ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101896801 Assembly, Fuse Holder ......................................................................................... 1
2 101814302 Assembly, PowerDrive Battery Charger with Reel, Onboard (includes items 3 - 24) .... 1
3 **** Assembly, Battery Charger, Onboard (includes items 4 - 20) ........................... 1
4 **** Assembly, Case (includes fasteners) ........................................................... 1
5 7577 Screw, Pan-Head, Self-Tapping, #10-16 x 1/2 ............................................. 12
6 101838201 Assembly, Transformer ................................................................................. 1
7 1015914 Assembly, Heatsink with Diodes (includes mounting hardware) .................. 1
8 101838301 Relay, Power (includes mounting hardware) ................................................ 1
9 101841901 Board, Control .............................................................................................. 1
10 101838701 Bracket, Mounting, Relay and Reset Board ................................................. 1
11 101838601 Switch, Four-Position Slide .......................................................................... 1
12 1015917 Bushing, Strain Relief, AC Cord ................................................................... 1
13 101829001 Cordset, AC, 3 x 1.5 mm x 24 Inches Long with Grounded Plug ................. 1
14 101838401 Breaker, Circuit, 10-Amp .............................................................................. 2
15 1012098 Bushing, Strain Relief, DC Cord, 12-AWG ................................................... 1
16 101829101 Cordset, DC, 90.5 Inches Long, with Leads, 12-AWG .................................. 1
17 1012101 Assembly, Fuse (includes hardware) ........................................................... 1
18 101828501 Ammeter (includes hardware) ...................................................................... 1
19 101841801 Kit, Wire Assembly ........................................................................................ 1
20 101914401 Assembly, Voltage Suppressor ..................................................................... 1
21 1017187 Assembly, Retractable Cord Reel ..................................................................... 1
22 1011707 Bracket, Mounting ............................................................................................. 2
23 8233 Nut, Lock, 1/4-20 ............................................................................................... 4
24 7847 Screw, Hex-Head Cap, 1/4-20 x 3/4 ................................................................. 4
25 7479 Screw, Hex-Head Cap, 1/4-20 x 1-1/4 .................................................................. 4
26 1010937 Spacer ................................................................................................................... 4
27 332 Washer, Flat, 1/4 (used on rear brackets only) ...................................................... 2
28 8233 Nut, Nylon Lock, 1/4-20 ........................................................................................ 4
29 1016673 Housing, Cord ....................................................................................................... 1
30 8796 Screw, Phillips Head, #7-19 x 3/4 ......................................................................... 4
31 101801001 Plate, Receptacle Backing .................................................................................... 1
32 1017189 Shrink, Heat (1-1/2 inches x 4 feet) (not shown)* ................................................. A/R

*Heat shrink is available in 3-inch lengths, nonstandard.
****Special order item available upon request. Allow 4 to 6 weeks for
delivery.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 6-27



Page 6-28 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

6

D



7
CONVERSION KITS

G
E
D



Page 7-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D

TYPICAL 4
PLACES

7

8

4
6

22

11

10

9

8

24

23

TYPICAL 
2 PLACES

29
19

16

32

31

30

TYPICAL 2
PLACES

31

34

33

TYPICAL 16
PLACES

27
26

16
15

17

14

TYPICAL 2
PLACES

18

13

25

28

3535

5
3

20 21

APM-000107-001



FOUR-PASSENGER CONVERSION KITS (1 OF 3)
E
G
7ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101710001 Kit, DS to Four-Passenger Conversion with Buff Seats (includes items 3 - 63)..... 1
2 101710002 Kit, DS To Four-Passenger Conversion with White Seats (includes items 3 - 63) . 1
3 101564804 Assembly, Seat Bottom – Buff (includes items 5 and 7) ................................... 1
4 101564805 Assembly, Seat Bottom – White (includes items 6 and 7) ................................ 1
5 101562701 Cover, Vinyl Seat Bottom – Buff ................................................................... 1
6 101562702 Cover, Vinyl Seat Bottom – White ................................................................ 1
7 1010543 Insert, Wood ................................................................................................. 7
8 8251 Screw, Phillips Truss-Head, 1/4-20 x 1 ............................................................. 7
9 1011578 Washer, Flat, 5/16 ............................................................................................. 3
10 1011210 Support, Seat .................................................................................................... 1
11 1011389 Bumper, Rubber (package of 5) ........................................................................ 1
12 1011219 Assembly, Hinge (includes items 13 - 19) ......................................................... 1
13 1011221 Hinge, Short ................................................................................................. 2
14 1015091 Nut, Centerlock Cap, 1/4-20 x 1/4 ................................................................ 2
15 1010695 Washer, Curved Spring, 1/4 ......................................................................... 2
16 8028 Bushing, Nylon ............................................................................................. 6
17 332 Washer, Flat, Type A Narrow, 1/4 ................................................................. 2
18 1011222 Pin, Hinge, Long ........................................................................................... 1
19 1011220 Hinge, Long .................................................................................................. 1
20 101565202 Assembly, Seat Back, Thin – White (includes items 22 and 24) ....................... 2
21 101565204 Assembly, Seat Back, Thin – Buff (includes items 22 and 23) .......................... 2
22 1013335 Cap, Seat Back – Black ................................................................................ 1
23 101562601 Cover, Vinyl Seat Back – Buff ...................................................................... 1
24 101562602 Cover, Vinyl Seat Back – White .................................................................... 1
25 1011182 Support, Seat Back ........................................................................................... 2
26 101946201 Washer, External Tooth Lock, 1/4 ..................................................................... 8
27 7847 Screw, Hex-Head, 1/4-20 x 3/4 ......................................................................... 8
28 1014007 Washer, Lock, 1/4 ............................................................................................. 2
29 1016916 Screw, Hex-Head Cap with Nylon Patch, 1/4-20 x 1-1/2 .................................. 2
30 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 2
31 1241 Washer, Flat, 5/16 ............................................................................................. 4
32 1010577 Screw, Hex-Head, 5/16-18 x 1-1/2 .................................................................... 2
33 101910401 Screw, Thread-Forming, 5/16-18 x 1-1/4 .......................................................... 4
34 1017774 Spacer, Body ..................................................................................................... 4
35 8304 Washer, Internal Tooth Lock, 1/4 ....................................................................... 5
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 7-3



Page 7-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D
TYPICAL 2
PLACES

51

4850
37

40

55

41

54 48

50

48

52

37

4653

52

36

56

36

38

TYPICAL 4
PLACES

53

52

47
49

50

48 44 43

42

39 45

48

43

TYPICAL 2
PLACES

TYPICAL 2
PLACES

49

50

48

TYPICAL 8
PLACES

REF.

REF.

APM-000107-002



FOUR-PASSENGER CONVERSION KITS (2 OF 3)
E
G
7ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

36 101841202 Armrest, Rear Seat, Driver-Side ....................................................................... 1
37 101841201 Armrest, Rear Seat, Passenger-Side ................................................................ 1
38 101841101 Assembly, Rear Footrest (includes items 39 - 44) ............................................ 1
39 1016835 Guard, Bumper ............................................................................................. 1
40 101840901 Mat, Footrest ................................................................................................ 1
41 1010434 Fastener, Plastic Barrel ................................................................................ 8
42 1016668 Bar, Connecting ............................................................................................ 2
43 1010435 Bolt, Carriage, 5/16-18 x 1 ........................................................................... 4
44 7473 Nut, Nylon Lock, 5/16-18 .............................................................................. 2
45 1016842 Handrail, Rear Seat .......................................................................................... 1
46 101841301 Bracket, Armrest ............................................................................................... 1
47 8233 Nut, Nylon Lock, 1/4-20 .................................................................................... 8
48 7473 Nut, Nylon Lock, 5/16-18 .................................................................................. 10
49 1218 Screw, Hex-Head Cap, 5/16-18 x 1-1/4 ............................................................ 5
50 1241 Washer, Flat, 5/16 ............................................................................................. 9
51 7410 Screw, Truss-Head, 5/16-18 x 1-1/2 ................................................................. 2
52 332 Washer, Flat, 1/4 ............................................................................................... 8
53 1011988 Screw, Phillips Truss-Head, 1/4-20 x 2 ............................................................. 8
54 1011697 Washer, Special, 5/16 (used on older vehicles) ................................................ 8
55 101705701 Decal, Passenger Warning ............................................................................... 1
56 101960601 Decal, Passenger Warning ............................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 7-5



Page 7-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D

ELECTRIC
VEHICLES

ONLY

58

64

63

61
59

62

57

65

60

APM-000107-003



FOUR-PASSENGER CONVERSION KITS (3 OF 3)
E
G
7ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

57 1014902 U-Bolt ................................................................................................................ 2
58 1014675 Spring, Rear Leaf .............................................................................................. 2
59 1017235 Bumper, Jounce ................................................................................................ 2
60 101454602 Mount, Bumper (gasoline vehicle only) ............................................................. 2
61 101454902 Mount, Bumper (electric vehicle only) ............................................................... 2
62 1014901 Spacer, Overload Bumper ................................................................................. 2
63 1014573 Retainer, Spring ................................................................................................ 2
64 1012182 Pad, Spring, Driver-Side ....................................................................................... 1
65 1012181 Pad, Spring, Passenger-Side ................................................................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 7-7



Page 7-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D
1

8

9

10

7

3

2

APM-000108-001



FOUR-PASSENGER CONVERSION REAR SEAT
E
G
7ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Seat, #1 Rear, Light-Duty (fits 1982 - present vehicles)
AM10007 Beige (includes items 2 and 3) .......................................................................... 1
AM10008 White (includes items 2 and 3) .......................................................................... 1

2 N/A Back, Seat (thin) ........................................................................................... 4
3 N/A Support, Seat Back ...................................................................................... 4
4 Seat, #2 Rear, Light-Duty (fits 1982 - present vehicles) (not shown)

AM10009 Beige (includes items 5 and 6) .......................................................................... 1
AM10010 White (includes items 5 and 6) .......................................................................... 1

5 N/A Back, Seat (thin) ........................................................................................... 2
6 N/A Support, Seat Back ...................................................................................... 2
7 1011348 Panel, Rear ............................................................................................................ 1
8 Seat, #3 Rear, Light-Duty (fits 2000 - present vehicles)

AM10627 Beige (includes items 9 and 10) ........................................................................ 1
AM10628 White (includes items 9 and 10) ........................................................................ 1

9 AM10626 Support, Four-Passenger Seat Back (black powder coated)
(includes item 10) .............................................................................................. 2

10 N/A Back, Seat (thin) ........................................................................................... 4
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 7-9



Page 7-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D
1

1

APM-000109-001



FOLD-DOWN REAR SEAT
E
G
7ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 Seat, Fold-Down Rear
AM10706 Vinyl, White ....................................................................................................... 1
AM10707 Vinyl, Beige ....................................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 7-11



Page 7-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

7

D



8
CARGO BOXES

G
E
D



Page 8-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

8

D
1

APM-000125-001



CARGO BOX KIT
E
G
8ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Vehicles with 1983 - 2000 non-ICS canopies require rear canopy
support CCI P/N 1014503 for cargo box installation.
Vehicles with ICS canopies require rear canopy support CCI P/N AM10338 for
cargo box installation.

1 Kit, Cargo Box (includes mounting hardware)
AM10621 Brushed Aluminum............................................................................................. 1
AM10622 Black Powder Coated (shown on Lynx in photo) ............................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 8-3



Page 8-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

8

D



9
OUTDOOR
SPORTING ACCESSORIES
G
E
D



Page 9-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

YOUNG DRIVERS INCREASE

CHANCE OF DEATH

• Young drivers may not be able to control vehicle.

• No drivers younger than 16 years old.

• Do not leave childern unattended on vehicle.

UNDER
16

WARNING

WARNING

OFF ON

OPERATING INSTRUCTIONS

STOP
GO

WARNING

OFF ON

GO

GO

2

7

3

TYPICAL 6
PLACES

3

4

5

6

TYPICAL 4
PLACES

REF.

APM-000111-001



FLOOR-MOUNTED GUN RACK
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10639 Kit, Floor-Mounted Gun Rack (includes items 2 - 8) ............................................. 1
2 N/A Nut, Wing .......................................................................................................... 6
3 N/A Plate, Mounting ................................................................................................. 1
4 N/A Bolt, Phillips-Head, 1/16-18 x 1-1/4 .................................................................. 4
5 N/A Washer, Flat, 5/16 ............................................................................................. 4
6 N/A Nut, Nylon Lock, 5/16 ........................................................................................ 4
7 N/A Rack, Gun ......................................................................................................... 1
8 N/A Decal, Warning (not shown) .............................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-3



Page 9-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

APM-000112-001



CAMOUFLAGE BODIES
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

Mossy Oak® Forest Floor®

1 AM10784 Cowl, Front  ....................................................................................................... 1
2 AM10785 Cowl with Headlight Openings, Front  ............................................................... 1
3 AM10786 Body, Rear, Gasoline ........................................................................................ 1
4 AM10787 Body, Rear,  Electric .......................................................................................... 1

Advantage® Max 4™
5 AM11790 Cowl, Front  ....................................................................................................... 1
6 AM11791 Cowl with Headlight Openings, Front  ............................................................... 1
7 AM11792 Body, Rear, Gasoline ........................................................................................ 1
8 AM11793 Body, Rear,  Electric .......................................................................................... 1

Realtree Hardwoods® HD™
9 AM11796 Cowl, Front  ....................................................................................................... 1
10 AM11797 Cowl with Headlight Openings, Front  ............................................................... 1
11 AM11798 Body, Rear, Gasoline ........................................................................................ 1
12 AM11799 Body, Rear,  Electric .......................................................................................... 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-5



Page 9-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D 1

APM-000114-001



CAMOUFLAGE SEATS AND SEAT COVERS
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Camouflage seat covers are for use on ICS seats only.

1 Cover, Camouflage Seat for ICS seats
AM10664 Mossy Oak Forest Floor (shown) ...................................................................... 1

**** Advantage Max-4............................................................................................... 1
**** Realtree Hardwoods HD .................................................................................... 1

****Special order item available upon request.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-7



Page 9-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D
1

2

APM-000116-001



CAMOUFLAGE ACCESSORIES
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10884 Tape, Camouflage, 4 in. x 60 in., Mossy Oak Forest Floor .................................... 1
2 AM10927 Sheet, Camouflage, 47.5 in. x 60 in., Mossy Oak Forest Floor ............................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-9



Page 9-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

1

2

5

APM-000117-001



LIFT KIT
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 AM10755 Kit, Electric Lift ....................................................................................................... 1
2 AM10756 Kit, Gasoline Lift ..................................................................................................... 1
3 AM10757 Tool, Frame Locating (required for installation) (not shown) ................................. 1

NOTE: Off-road tires must be used with vehicles installed with a lift kit.
Off-road tires are directional and must be installed according to
the directional arrow mark on each tire.

4 AM10821 Assembly, Wheel (black) and Tire, Driver-Side 
Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro®) ......................................... 1

5 AM10822 Assembly, Wheel (black) and Tire, Passenger-Side 
Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro) ............................................ 1

6 AM10823 Tire, Unmounted, Off-Road Tread, Duro – 22 x 11.00 - 10 ................................... 1
7 102009501 Assembly, Wheel (white) and Tire, Driver-Side 

Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro)  1
8 102009502 Assembly, Wheel (gray) and Tire, Driver-Side 

Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro) ............................................ 1
9 102009401 Assembly, Wheel (white) and Tire, Passenger-Side 

Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro) ............................................ 1
10 102009402 Assembly, Wheel (gray) and Tire, Passenger-Side 

Off-Road Tread, 6-Ply Rated, 22 x 11.00 - 10 (Duro) ............................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-11



Page 9-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

1

APM-000118-001



TIRE CHAINS
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Each set includes two chains.
1 AM10668 Set, V-Bar Tire Chain (18-inch standard Duro tires) .............................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-13



Page 9-14 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

2

1

ClubCar

ClubCar

APM-000119-001



SPARK ARRESTOR KIT
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101629008 Kit, Spark Arrestor (FE290 and FE350 engines) (includes item 2) ....................... 1
2 N/A Screw ................................................................................................................. 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-15



Page 9-16 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

ClubCar
ClubCar

1

PRE-UNITIZED
TRANSAXLE

EXISTING
HARDWARE

UNITIZED
TRANSAXLE

EXISTING
HARDWARE

EXISTING
HARDWARE

2

APM-000120-001



DIFFERENTIAL GUARD
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 101932902 Guard, Unitized Transaxle (gasoline vehicles with serial numbers
9710-563082 and greater) .................................................................................... 1

2 101611402 Guard, Pre-Unitized Transaxle (all electric vehicles and gasoline
vehicles with serial numbers lower than 9710-563082) ........................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-17



Page 9-18 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D

2

10

7

4

5

1

9

8
6

11

12

TYPICAL 
2 PLACES

Club Car

APM-000121-001



54-INCH SNOW PLOW KIT
E
G
9ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

NOTE: Allow 4 to 6 weeks for delivery of special order items.
1 AM10959 *Kit, Snow Plow – 54-inch (includes switch, mounting hardware, and

items 2 - 12) .......................................................................................................... 1
2 **** Blade, Plow ....................................................................................................... 1
3 **** Plate, Hinge ...................................................................................................... 1
4 **** Tube, Push ........................................................................................................ 1
5 **** Mount, Blade ..................................................................................................... 1
6 **** Motor, Electric ................................................................................................... 1
7 **** Bracket, Motor Mount ........................................................................................ 1
8 **** Assembly, Bracket, Pin Guide ........................................................................... 1
9 **** Guide, Cable ..................................................................................................... 1
10 **** Spring, Tilt ......................................................................................................... 2
11 **** Plate, Blade Wear ............................................................................................. 1
12 **** Skid, Blade ........................................................................................................ 2

****Special order item available upon request.

*Before this kit can be installed, check the following:
• Vehicles must have a 2-inch receiver (CCI P/N AM10983) installed. 

• A voltage reducer is required for 48-volt vehicles with six 8-volt battery
configurations; a DC/DC converter (CCI P/N 102357501) is
recommended.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 9-19



Page 9-20 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

9

D



10
MISCELLANEOUS

G
E
D



Page 10-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

10

D

5

7

5

4

8

2

9

7

10

3

6

APM-000001-001



GOVERNOR PROTECTOR KIT
E
G
10ITEM PART NO. DESCRIPTION QTY

D

1    2    3    4

1 102907301 Kit, Governor Protector (includes items 2 - 10) ...................................................... 1
2 102907101 Engine Cover, FE290 and FE350 ...................................................................... 1
3 102906901 Bracket, Access Panel ....................................................................................... 1
4 1012830 Bolt, Hex-Head, M8 x 1.25 x 22 ......................................................................... 1
5 102907201 Screw, Torx-Pin, 1/4-20 x 3/4 ............................................................................. 4
6 1014540 Screw, Hex Washer Head, #6-32....................................................................... 2
7 102324901 Washer, Flat, 1/4 ................................................................................................ 4
8 1241 Washer, Flat, 5/16 .............................................................................................. 1
9 7174 Washer, Lock, 5/16 ............................................................................................ 1
10 1015068 Nut, Nylon Lock, 1/4-20 ..................................................................................... 2
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 10-3



Page 10-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

10

D



11
MAINTENANCE AND
SERVICE TOOLS
G
E
D



Page 11-2 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D

1 4 5

7 8

6

9

10 11

16 17

2 3

1918 

12

15

13

14



MAINTENANCE AND SERVICE TOOLS
EE
G
11ITEM PART NO. DESCRIPTION QTY

ELEC
QTY
GAS

QTY
DIESEL

D

1    2    3    4

The following tool list includes all tools available from Club Car for 
maintenance and service procedures for gasoline, electric, and/or
diesel vehicles, both past and present models. Be sure to carefully
examine the tool list for applicability to your vehicle before ordering.

1 101871001 Accelerator Pedal Adjustment Tool ................................................. 1 1
2 101813202 Adhesive, Guide Ring, 3-Gram Tube .............................................. 1
3 101641202 Arbor ............................................................................................... 1
4 101831901 Battery Discharge Machine, 36/48 Volt ........................................... 1
5 1014305 Battery Terminal Protector Spray .................................................... 1 1 1
6 1011767 Battery Thermometer ...................................................................... 1 1 1
7 1016417 Bearing and Oil Seal Remover Assembly ....................................... 1 1 1
8 1016416 Bearing Driver Set ........................................................................... 1 1 1
9 1012811 Bearing Puller ................................................................................. 1 1 1
10 1012812 Bearing Puller Wedge Attachment .................................................. 1 1 1
11 1013582 Brake Adjustment Tool (used only on vehicles with 

manually adjusted mechanical brakes) ........................................... 1 1
12 102555501 Brake Cable Release Tool .............................................................. 1 1 1
13 102249901 Brake Pedal Adjustment Tool Kit (used for the Carryall Electric

Industrial Truck only) (includes items 14 and 15)............................. 1
14 **** Brake Pedal Adjustment Tool ...................................................... 1
15 **** Brake Pedal Tension Tool ........................................................... 1
16 101887101 Calibration Test Module .................................................................. 1
17 101808401 Cam Installation Tool ....................................................................... 1
18 102562401 Charger Bezel Tool ......................................................................... 1
19 102686101 Clutch Removal Tool (for 4x4 vehicles)............................................ 1 1

Please refer to the maintenance and service manual
for proper tool application.

**** Special order item available upon request
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 11-3



Page 11-4 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D

Club Car
R

COMMUNICATION
DISPLAY MODULE

DISPLAY FUNCTIONS:
PRESS AND HOLD
BUTTON TO SHOW
FUNCTION NUMBER.
RELEASE BUTTON TO
SHOW FUNCTION VALUE.

Func1 -
Func2 -
Func3 -
Func4 -

Battery voltage.
Energy units removed since last charge cycle.
Total accumulated energy units removed.
Last charge termination type (1 = Incomplete,
2 = DVDT, 4 = Normal, 8 = Max. timer).

POWER

PART #17075

ON
OFF

33 34 35 37

40

32312928 30

2221 23 24 25

W
A
R

N
IN

G

26 27

20

36

38 39 41 42 43



MAINTENANCE AND SERVICE TOOLS, CONTINUED
EE
G
11ITEM PART NO. DESCRIPTION QTY

ELEC
QTY
GAS

QTY
DIESEL

D

1    2    3    4

20 1014510 Clutch Tool Kit (includes items 21 - 27) ........................................... 1
21 1014498 Clutch Alignment Tool (for pre-unitized transaxle 

vehicles built prior to 1997 model year) ...................................... 1
   22 1014496 Drive Clutch Puller (for Kawasaki engines only) ......................... 1
   23 1014497 Drive Clutch Hub Puller (for Kawasaki engines only) ................. 1
   24 1014508 Driven Clutch Cam Puller (for Kawasaki engines only) .............. 1
   25 1014507 Driven Clutch Puller Plug (for Kawasaki engines only) ............... 1
   26 1015524 Drive Clutch Holder Tool Assembly (for Kawasaki engines only) 1
   27 101809101 Press Weldment (for Kawasaki engines only) ............................ 1

28 102601501 Drive ClutchFixed Sheave Tool
(for 4x4 vehicles).............................................................................. 1 1

29 102603501 Driven Clutch Spring Compression Base (for use with items 30
and 31) (for 4x4 vehicles) ................................................................ 1 1

30 102605201 Driven Clutch Spring Compression Collar (for use with items 29
and 31) (for 4x4 vehicles) ................................................................ 1 1

31 102606101 Driven Clutch Spring Compression Nut (for use with items 29
and 30) (for 4x4 vehicles) ................................................................ 1 1

32 102607501 Drive Clutch Spider Removal Tool
(for 4x4 vehicles).............................................................................. 1 1

33 101831801 Communication Display Module ..................................................... 1
34 101641002 Compression Gauge and Adapter .................................................. 1
35 1011273 Continuity Tester ............................................................................. 1 1
36 102773801 Cutter, Valve Seat, #122 .................................................................. 1
37 102773901 Cutter, Valve Seat #115.................................................................... 1
38 102774101 Wrench, T, #505 ............................................................................... 1
39 102774101 Adapter, T-Wrench ........................................................................... 1
40 102675401 Cutter, Valve Seat, 60 Degree (requires item 51)

(for Honda GX620 Gasoline Engines) ............................................ 1
41 102774201 Pilot, 6.6 MM .................................................................................... 1
42 102774301 Pilot, 6.62 MM .................................................................................. 1
43 102774401 Pilot, 6.65 MM .................................................................................. 1

Please refer to the maintenance and service manual
for proper tool application.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 11-5



Page 11-6 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D
47

48 49

56

51

58

50

44 45

57 Liquid 
G

asket 

46

2 3

54

55

52 53

59 60 61



MAINTENANCE AND SERVICE TOOLS, CONTINUED
EE
G
11ITEM PART NO. DESCRIPTION QTY

ELEC
QTY
GAS

QTY
DIESEL

D

1    2    3    4

44 1012151 Dry Moly Lubricant .......................................................................... 1 1 1
45 1016627 Flywheel Puller Kit (for Kawasaki Engines) .................................... 1
46 102669901 Gauge, Carburetor Float Level

(for Honda GX620 Gasoline Engines) ............................................ 1
47 1016418 Gear Yoke ....................................................................................... 1 1 1
48 101933101 Governor Shaft Installation Tool (for Kawasaki Engine Vehicles) ... 1
49 102169401 Hydraulic Brake Adjuster (for Turf/CA 272/472, Pioneer/XRT 1200, 

Bobcat 2100, HUV 4213) ................................................................ 1
50 1011478 Hydrometer ..................................................................................... 1 1 1
51 1013593 Internal Retaining Ring Pliers .......................................................... 1 1 1
52 102248803 IQ Display Module (IQDM) Kit (IQ System and IQ Plus vehicles) ... 1

(includes items 54 and 55)
53 102248804 IQ Display Module (IQDM-P) Kit (IQ System and IQ Plus vehicles) 1 

(includes items 54 and 55)
54 102251501 Adaptor, Cable ............................................................................ 1
55 102241502 IQDM Series 2 Cable .................................................................. 1
56 102241501 IQDM Series 1 Cable (replacement) ............................................... 1
57 101928701 Liquid Gasket (transaxle case) ....................................................... 1 1 1
58 102243402 Moly-Teflon Lubricant (4-oz. (113-gram) tube) ................................ 1
59 101997201 Paint, Touch-Up – Beige* ................................................................ 1 1
59 101997207 Paint, Touch-Up – Black* ................................................................ 1 1
59 101997212 Paint, Touch-Up – Burgundy* .......................................................... 1 1
59 101997211 Paint, Touch-Up – Classic Blue (Navy)* .......................................... 1 1
59 101997205 Paint, Touch-Up – Dark Gray* ......................................................... 1 1 1
59 101997209 Paint, Touch-Up – Dark Green* ...................................................... 1 1 1
59 101997204 Paint, Touch-Up – Gray* ................................................................. 1 1 1
59 101997203 Paint, Touch-Up – Red* .................................................................. 1 1 1
59 101997206 Paint, Touch-Up – Royal Blue (Pacific Blue)* ................................. 1 1
59 101997202 Paint, Touch-Up – White* ................................................................ 1 1 1
60 102562301 Paint, Precedent Underbody – Gray ................................................ 1 1
61 102587201 Paint Pen, Touch-Up, Precedent Underbody – Black ...................... 1 1

 Please refer to the maintenance and service manual
for proper tool application.

* Item 59 is not for use on Surlyn® body material, which is used
on Precedent vehicles.
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 11-7



Page 11-8 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D

6362 66

68 69 70

65

71

AM10753

ON OFF

STR SPK

MAX
MIN GAS

DSL

GAS/DIESEL
TACHOMETER

73

77 8583

75 76

72

Safety First
Never use a vehicle that is unsafe.
Inspect each day.
Inspect GOOD NEED(S) 

ATTENTION

Other Mechanical Problems

• Brakes
• Park Brake
• Steering
• Accelerator
• F & R Selector
• Reverse Buzzer
• Key Switch
• Speeds
• Tires
• Bag Straps and Buckles

• Unusual Noise
• Will Not Run
• Stopped on Course
• Other:
•
•
•

Damage

Cleanliness NEED(S) 
ATTENTION

• Right Side
• Left Side
• Front
• Rear
• Other: ______________

No Damage

• Seats
• Floor Mat
• Dash Compartments
• Bag Well
• Beverage Holders
• Overall Appearance: ___________________

Date: _____________  Inspected By: _________________

Car No. ___________

(Over)

CCI 1018231

67

8684

64

74



MAINTENANCE AND SERVICE TOOLS, CONTINUED
EE
G
11ITEM PART NO. DESCRIPTION QTY

ELEC
QTY
GAS

QTY
DIESEL

D

1    2    3    4

62 1016414 Piston Ring Compressor Kit (FE290, FE350 and FE400 engines) . 1
63 1016415 Piston Ring Pliers (for Kawasaki Engines) ...................................... 1
64 102668801 Puller, Special Use (for Kubota D722 Diesel Engines) .................... 1
65 1012549 Retaining Ring Pliers, 45° External ................................................. 1 1 1
66 1012560 Retaining Ring Pliers, 90° Internal .................................................. 1 1 1
67 101823101 Safety First Card (50 per pack) ....................................................... 1 1 1
68 1012809 Seal Puller ....................................................................................... 1 1 1
69 102330901 Spanner Wrench (for coil over shock front

suspension vehicles only) ............................................................... 1 1
70 1014264 Steering Column Bearing Press Tool .............................................. 1 1
71 1014259 Steering Column Retaining Ring Tool ............................................. 1 1
72 102061201 Steering Wheel Puller Tool .............................................................. 1 1 1
73 AM10753 Tachometer (includes gasoline engine pick up lead only) ............... 1 1
74 AM10771 Tachometer Diesel Probe (for use with item 73) ............................. 1
75 1014162 Transaxle Axle Seal Tool ................................................................. 1
76 1014161 Transaxle Pinion Seal Tool .............................................................. 1
77 1014115 Transmission Tool Kit ...................................................................... 1
78 101611003 Tune-Up Kit, All OHV (for FE290, FE350, FE400 only) (includes 

air filter, spark plug, oil filter, fuel filters) (not shown) ...................... 1
79 AM11804 Tune-Up Kit, Gx620 (for Honda Engines) (includes air filter,

spark plug, oil filter, fuel filters) (not shown) .................................... 1
80 AM11805 Tune-Up Kit, D722 (for Kubota Engines) (includes air filter,

oil filter, fuel filters, water separator filter) (not shown) .................... 1
81 AM1220301 Tune-Up Kit, Precedent (for FE290/350 Engines) (includes air 

filter, spark plug, oil filter, fuel filters) (not shown) ........................... 1
82 AM1232401 Tune-Up Kit, FH680D (for Kawasaki V-Twin Engines) (includes oil 

filter, fuel filter, air filter, and spark plugs) (not shown) ..................... 1
83 1016413 Valve Clearance Adjuster Screw Holder (for FE290 engines only) . 1
84 102674601 Valve Guide Driver

(for Honda GX620 Gasoline Engines) ............................................ 1
85 101641201 Valve Guide Reamer (FE290, FE350, and FE400 only) .................. 1
86 102674401 Valve Guide Reamer, 6.6 mm

(for Honda GX620 Gasoline Engines) ............................................ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 11-9



Page 11-10 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D

91

88

45

9087

45

89

- +

2m

20
m

200
m

2k
200

200

200200

20

2

200
m

500

20k

200k

2000
k

1000
OFF

WAVETEK 5XL
V

V

V

A

! !COM 200nA

MAX
1000 ---

750V
FUSED

92 93



MAINTENANCE AND SERVICE TOOLS, CONTINUED
EE
G
11ITEM PART NO. DESCRIPTION QTY

ELEC
QTY
GAS

QTY
DIESEL

D

1    2    3    4

87 1016552 Valve Seat Cutter Guide .................................................................. 1
88 1016551 Valve Seat Cutter T-Wrench ............................................................ 1
89 1016553 Valve Seat Cutter, 45° (32 mm diameter) (for FE290 engines only) 1
90 1016554 Valve Seat Cutter, 45°/30° (35 mm diameter) ................................. 1
91 101641101 Valve Spring Compressor ................................................................ 1
92 1011480 Volt Ohm Meter ............................................................................... 1 1 1
93 102570401 Tool, Tensioning, Starter Generator (For Precedent vehicles) ........ 1
DS Golf Vehicle Optional Equipment Illustrated Parts List Page 11-11



Page 11-12 DS Golf Vehicle Optional Equipment Illustrated Parts List

G
E

11

D



INDEX
Part Number and Page
AM10753 11-9
AM10771 11-9
AM10007 7-9
AM10008 7-9
AM10009 7-9
AM10010 7-9
AM10011 1-7
AM10012 1-7
AM10015 4-43
AM10018 1-47
AM10020 1-47
AM10022 1-49
AM10087 2-19
AM10088 2-19
AM10091 4-7
AM10093 1-43
AM10096 4-7
AM10097 4-7
AM10099 4-9, 4-11
AM10101 4-7
AM10102 4-7
AM10264 2-9
AM10265 2-9
AM10266 1-37
AM10267 1-37
AM10272 1-25
AM10276 1-45
AM10281 1-45
AM10282 2-29
AM10283 2-29
AM10284 1-23
AM10285 1-23
AM10286 1-23
AM10287 1-23
AM10288 1-21
AM10289 1-21
AM10290 1-21
AM10291 1-21
AM10292 1-21
AM10293 1-21
AM10295 1-21
AM10296 1-21
AM10297 1-21
AM10299 1-21
AM10301 1-27
AM10302 1-27
AM10340 2-25
AM10342 2-27
AM10343 2-27
AM10385 1-65
AM10387 1-33
AM10388 1-33
AM10389 1-33
AM10394 1-33

AM10395 1-33
AM10396 1-33
AM10397 1-33
AM10398 1-33
AM10400 1-33
AM10441 1-67
AM10443 1-67
AM10444 1-67
AM10445 1-67
AM10446 1-67
AM10447 1-67
AM10448 1-67
AM10449 1-67
AM10450 1-67
AM10451 1-67
AM10618 1-67
AM10619 6-21
AM10621 8-3
AM10622 8-3
AM10625 1-3
AM10626 7-9
AM10627 7-9
AM10628 7-9
AM10639 9-3
AM10646 2-15
AM10647 2-15
AM10649 2-15
AM10650 2-15
AM10664 9-7
AM10668 9-13
AM10685 4-43
AM10689 1-9
AM10691 1-17
AM10694 6-7
AM10696 6-9
AM10702 1-43
AM10703 1-43
AM10706 7-11
AM10707 7-11
AM10708 6-9
AM10709 6-9
AM10710 6-9
AM10711 6-9
AM10712 6-9
AM10714 6-9
AM10715 6-9
AM10716 6-9
AM10717 6-9
AM10728 1-29
AM10729 1-31
AM10730 1-31
AM10731 2-3
AM10735 1-31
AM10736 2-11
AM10737 2-3, 2-7
AM10738 2-7

AM10739 2-7
AM10740 2-11
AM10741 2-11
AM10744 1-9
AM10755 9-11
AM10756 9-11
AM10757 9-11
AM10758 6-9
AM10760 6-9
AM10762 6-9
AM10784 9-5
AM10785 9-5
AM10786 9-5
AM10787 9-5
AM10821 9-11
AM10822 9-11
AM10823 9-11
AM10829 1-11
AM10830 1-11
AM10839 1-67
AM10840 1-67
AM10865 1-27
AM10866 1-27
AM10867 1-27
AM10868 1-27
AM10869 1-27
AM10870 1-27
AM10872 1-27
AM10884 9-9
AM10896 1-73
AM10900 1-71
AM10901 1-71
AM10902 1-71
AM10903 1-71
AM10904 1-71
AM10905 1-71
AM10927 9-9
AM10933 1-39
AM10934 1-39
AM10959 9-19
AM10983 3-13
AM10986 1-41
AM11246 1-75
AM11247 1-75
AM11248 1-75
AM11249 1-75
AM11790 9-5
AM11791 9-5
AM11792 9-5
AM11793 9-5
AM11796 9-5
AM11797 9-5
AM11798 9-5
AM11799 9-5
AM11809 1-35
AM11810 1-35
DS Golf Vehicle Optional Equipment Illustrated Parts List Page i-1



INDEX
AM11899 1-51
AM1189902 1-51
AM11900 1-51
AM1190002 1-51
AM11901 1-51
AM1208501 6-17
AM1208601 6-17
AM1217201 1-41
AM1217401 1-41
AM1217701 1-41
AM1217901 1-41
AM1218001 1-41
AM1218201 1-41
AM1224001 1-69
AM1224101 6-11
AM1224301 6-11
AM1224401 6-11
AM1227801 5-9
AM1231201 1-55
AM1232501 6-11
AM50396 1-23
AM50435 2-5
AM50437 2-11
AM50446 2-11
CCX5958 4-9, 4-17, 4-35
CCX8506 6-25
183 4-3, 4-7, 4-13, 4-17, 4-21, 4-35, 4-39
304 1-53, 4-13, 4-31, 6-9
324 2-5, 2-7, 2-11
332 1-47, 1-49, 1-53, 2-5, 4-13, 4-31, 6-23,

6-25, 6-27, 7-3, 7-5
334 3-3, 3-9
357 3-11
403 1-57, 3-9
451 6-3, 6-5, 6-9
705 3-5, 3-7, 3-13
706 3-11
808 3-7, 3-11
1016 4-3, 4-7, 4-13, 4-17, 4-21, 4-35, 4-39
1017 4-17, 4-35
1028 6-9
1035 3-3, 3-5, 3-7
1107 1-63
1218 2-3, 3-11, 7-5
1241 4-15, 4-33, 7-3, 7-5, 10-3
1242 1-19, 6-19
1308 3-3, 3-5, 3-7
1624 3-11
1703 1-45, 1-57, 2-3, 2-7, 2-11, 6-23, 6-25
2009 1-67
4029 4-13, 4-31
4034 4-3, 4-9, 4-15, 4-25, 4-33
7174 1-19, 6-3, 6-5, 10-3
7251 1-11
7270 3-9
7311 2-3

7410 7-5
7473 1-5, 2-7, 2-11, 3-9, 3-11, 4-15, 4-33,

7-3, 7-5
7479 1-45, 1-49, 6-27
7577 6-23, 6-25, 6-27
7591 4-9, 4-13, 4-17, 4-31, 4-35
7602 3-3, 3-5, 3-7
7818 1-5, 1-19
7820 4-13, 4-31
7847 1-53, 6-23, 6-25, 6-27, 7-3
7893 4-3, 4-7, 4-13, 4-21, 4-25, 4-31, 4-39
7910 3-3
7935 1-63
8028 7-3
8104 4-21, 4-39
8106 4-5, 4-29
8233 1-45, 1-47, 1-49, 1-53, 1-57, 1-61,

1-63, 2-3, 2-5, 2-7, 2-11, 3-9, 4-13, 4-31,
6-23, 6-25, 6-27, 7-5

8248 1-11
8251 1-47, 7-3
8304 7-3
8418 1-45
8419 1-63
8703 3-3, 3-5
8725 3-3
8754 3-5, 3-7, 3-9, 3-13
8755 3-5
8796 6-25, 6-27
8861 3-9
8915 2-7, 2-11
8916 2-7, 2-11
8935 3-9
8963 2-7, 2-11
8990 4-3, 4-7, 4-13, 4-25, 4-31, 5-7, 6-9,

6-19
1010019 3-3, 3-5
1010028 3-3
1010029 3-3
1010034 3-5
1010038 3-5
1010039 3-3
1010150 3-5, 3-7
1010236 1-57
1010237 2-3, 2-7, 2-11
1010317 3-3
1010322 1-31
1010408 1-57
1010413 1-63
1010434 1-59, 7-5
1010435 7-5
1010543 7-3
1010545 1-15
1010546 1-5, 2-7
1010577 2-7, 2-11, 7-3
1010695 7-3

1010909 4-3, 4-7, 4-13
1010927 6-23, 6-25
1010934 6-3, 6-5
1010937 6-27
1011182 7-3
1011210 7-3
1011219 7-3
1011220 7-3
1011221 7-3
1011222 7-3
1011229 4-13, 4-31
1011230 1-13
1011273 11-5
1011280 4-15, 4-33
1011290 6-3
1011348 7-9
1011389 7-3
1011411 6-3
1011439 4-15, 4-33
1011478 11-7
1011480 11-11
1011492 4-21, 4-39
1011497 4-9, 4-17, 4-35
1011498 4-7, 4-17, 4-35
1011522 3-11
1011524 1-11
1011546 3-11
1011553 3-11
1011557 4-9, 4-15, 4-17, 4-33, 4-35
1011558 4-9, 4-17, 4-35
1011571 4-7, 4-17, 4-35, 5-7
1011578 7-3
1011582 4-9, 4-17, 4-35
1011583 4-21, 4-39
1011590 4-21, 4-39
1011610 4-7, 4-17, 4-35, 5-7
1011627 1-11
1011697 3-9, 7-5
1011707 6-23, 6-25, 6-27
1011760 1-31
1011761 1-31
1011767 11-3
1011794 1-31
1011825 4-13, 4-31
1011843 4-9, 4-17, 4-35
1011852 2-3, 2-7
1011855 2-3
1011856 2-3
1011862 2-3, 2-7
1011865 2-3, 2-7
1011871 2-3
1011878 1-11, 2-3, 2-7, 2-11
1011883 2-3, 2-7, 2-11
1011886 2-3
1011891 1-61
1011893 3-3, 3-5, 3-7
Page i-2 DS Golf Vehicle Optional Equipment Illustrated Parts List



INDEX
1011910 1-63
1011930 3-3, 3-5, 3-7
1011937 2-3, 2-7, 2-11
1011938 2-7
1011942 2-3
1011964 2-3, 2-7, 2-11
1011965 2-3, 2-7, 2-11
1011988 7-5
1011990 3-13
1011997 6-9
1012008 2-3
1012042 6-23
1012098 6-23, 6-25, 6-27
1012101 6-23, 6-25, 6-27
1012151 11-7
1012181 7-7
1012182 7-7
1012285 5-3, 6-5
1012438 4-17, 4-35
1012528 4-31
1012549 11-9
1012560 11-9
1012571 3-9
1012641 1-67
1012642 1-67
1012809 11-9
1012811 11-3
1012812 11-3
1012830 10-3
1012891 1-11
1013132 2-13
1013335 7-3
1013357 4-13, 4-27, 4-31, 4-35
1013421 1-15
1013422 1-15
1013461 4-3, 4-7, 4-13, 4-25, 4-31, 5-7
1013462 5-7
1013509 1-49, 1-53, 3-9
1013547 5-3
1013578 5-3
1013579 5-3
1013582 11-3
1013583 5-7
1013593 11-7
1013665 1-57
1013666 1-57
1013824 1-11
1013825 1-11
1013846 1-11
1013857 4-3, 4-9, 4-15, 4-25, 4-33
1013884 2-11
1014007 7-3
1014115 11-9
1014161 11-9
1014162 11-9
1014176 4-7

1014177 4-7
1014201 6-3, 6-5
1014259 11-9
1014264 11-9
1014278 3-5, 3-7
1014304 6-9
1014305 11-3
1014306 1-49, 1-53, 1-63
1014402 1-57, 1-61, 1-63, 3-9
1014419 2-7
1014420 2-7
1014423 2-7
1014433 2-3
1014434 2-7
1014435 2-21
1014437 2-21
101444101 2-21, 2-23
1014482 1-45, 3-9
1014496 11-5
1014497 11-5
1014498 11-5
1014507 11-5
1014508 11-5
1014510 11-5
1014538 2-3
1014540 5-3, 10-3
101454602 7-7
101454902 7-7
1014558 2-3
1014573 7-7
101465701 1-49
101465703 1-49
1014675 7-7
1014678 6-3
1014871 6-9
1014898 2-7
1014899 2-7
1014901 7-7
1014902 7-7
1014964 1-67
1015058 2-11
1015068 10-3
1015075 1-45, 1-57, 2-7, 2-11
1015091 7-3
1015103 5-7
1015104 5-7
1015139 5-7
1015143 5-7
1015188 5-7
1015405 1-5, 2-11
1015483 1-19
1015492 1-19
1015524 11-5
1015528 1-11
1015583 1-61, 1-63
101562601 7-3

101562602 7-3
101562701 7-3
101562702 7-3
101564804 7-3
101564805 7-3
101565201 7-3
101565202 7-3
1015741 4-17, 4-35
1015905 6-23
1015906 6-23
1015907 6-23
1015910 6-23
1015911 6-23
1015912 6-23
1015913 6-23
1015914 6-23, 6-25, 6-27
1015917 6-23, 6-25, 6-27
1016004 5-7
1016105 5-7
101611003 11-9
101611402 9-17
1016160 6-23
101616901 6-23
1016201 3-9
1016223 1-49
1016224 1-49
101629008 9-15
1016356 4-13, 4-27, 4-31, 4-35
1016363 4-17, 4-35
1016364 4-19
1016366 4-17, 4-35
1016367 4-19
101641002 11-5
101641101 11-11
101641201 11-9
101641202 11-3
1016413 11-9
1016414 11-9
1016415 11-9
1016416 11-3
1016417 11-3
1016418 11-7
1016423 4-17, 4-35
1016424 1-49
101643301 6-23
1016551 11-11
1016552 11-11
1016553 11-11
1016554 11-11
1016627 11-7
1016631 4-17, 4-35
1016668 7-5
1016673 6-25, 6-27
1016835 7-5
1016842 7-5
1016858 4-3, 4-5
DS Golf Vehicle Optional Equipment Illustrated Parts List Page i-3



INDEX
1016875 3-9
1016877 5-3
1016879 4-3, 4-7, 4-13, 4-25, 4-31
1016880 4-3, 4-7, 4-13, 4-25, 4-31
1016916 7-3
1016956 3-7
1016959 3-5
1016965 3-5, 3-7
1016974 3-3, 3-5
101698201 3-5
101698202 3-5
1016983 3-3
101698602 3-5
1016987 3-3
1017035 4-9, 4-17, 4-35
101704001 1-53
1017041 1-53
101704302 1-53
101704304 1-53
101705503 4-13
101705701 7-5
1017062 4-3, 4-7, 4-13, 4-25, 4-31
1017064 4-3, 4-7, 4-13, 4-25, 4-31
1017065 4-3, 4-7, 4-13, 4-25, 4-31
101706702 1-59
101707206 1-45
101707402 4-21, 4-39
1017075 4-21, 4-39
101710001 7-3
101710002 7-3
1017122 1-61
101712603 4-3
1017127 1-63
101712701 1-61
1017166 1-53
1017187 6-23, 6-25, 6-27
1017189 6-25, 6-27
101720502 1-3
101720504 1-3
101720506 1-3
101720515 1-3
1017235 7-7
101728602 2-23
101734802 1-5
1017427 3-7
1017428 3-7
1017429 3-7
1017433 3-9
1017489 4-21, 4-39
1017521 1-63
101768202 1-59
101768204 1-59
1017699 4-9, 4-17, 4-35
1017721 4-3, 4-7, 4-13
1017724 4-21, 4-39
1017744 3-7

1017747 3-9
1017749 1-47
101775001 1-47
101775002 1-47
101775402 1-47
101775404 1-47
1017759 3-9
1017760 3-9
101776201 1-59
101776301 1-59
1017774 7-3
1017779 3-9
1017780 3-9
1017799 6-9
1017831 3-9
101785101 3-9
101785202 3-7
101785204 3-7
1017853 4-13, 4-31
101785704 6-5, 6-7
1017944 6-3
1017946 6-3
1017947 6-3
1017948 6-3
1017949 6-3
1017950 6-3
1017951 6-3
1017952 6-3
1017953 6-3
1017954 6-3
101801001 6-25, 6-27
101802301 6-25
101808301 1-7
101808302 1-7
101808401 11-3
101809101 11-5
101810801 4-27, 4-35
101813202 11-3
101814001 4-31
101814202 5-5
101814301 6-25
101814302 6-27
101814701 5-5
101815602 5-5
101815609 5-5
101819701 6-25
101823101 11-9
101828003 4-25
101828101 4-27, 4-29
101828501 6-25, 6-27
101828601 4-31, 6-25
101829001 6-25, 6-27
101829101 6-25, 6-27
101831801 11-5
101831901 11-3
101835601 2-5, 4-27, 4-35, 6-19

101838201 6-27
101838301 6-27
101838401 6-27
101838601 6-27
101838701 6-25, 6-27
101839701 6-15
101839702 6-15
101839703 6-15
101839704 6-15
101839705 6-15
101839706 6-15
101839707 6-15
101839708 6-15
101839709 6-15
101839710 6-15
101839711 6-15
101839712 6-15
101840203 6-7
101840901 7-5
101841101 7-5
101841201 7-5
101841202 7-5
101841301 7-5
101841401 6-13
101841402 6-13
101841403 6-13
101841404 6-13
101841405 6-13
101841406 6-13
101841407 6-13
101841408 6-13
101841409 6-13
101841410 6-13
101841411 6-13
101841412 6-13
101841701 6-25
101841801 6-27
101841901 6-25, 6-27
101871001 11-3
101881201 1-55
101881203 1-55
101887101 11-3
101896801 6-25, 6-27
101896901 5-7
101898401 6-7
101903101 3-5, 3-7
101904801 1-7
101908702 6-7
101910401 7-3
101914401 4-13, 4-31, 6-25, 6-27
101926301 3-9
101926701 3-9
101928701 11-7
101931401 2-13
101931402 2-13
101931403 2-13
Page i-4 DS Golf Vehicle Optional Equipment Illustrated Parts List



INDEX
101931404 2-13
101931801 2-17
101931802 2-17
101932201 4-15, 4-33
101932902 9-17
101933101 11-7
101934601 2-17
101934602 2-17
101934603 2-17
101934604 2-17
101934605 2-17
101934606 2-17
101934607 2-17
101934608 2-17
101934609 2-17
101934610 2-17
101936001 1-49
101946201 7-3
101955101 4-13
101957101 4-15, 4-33
101960601 7-5
101962601 4-27, 4-35
101965001 1-13
101969701 4-15, 4-33
101972001 11-7
101972002 11-7
101972003 11-7
101972004 11-7
101972005 11-7
101972006 11-7
101972007 11-7
101972009 11-7
101972011 11-7
101972012 11-7
101974701 6-13, 6-15
101974702 6-13, 6-15
101974703 6-13, 6-15
101974704 6-13, 6-15
101974705 6-13, 6-15
101974706 6-13, 6-15
101974707 6-13, 6-15
101974708 6-13, 6-15
101974709 6-13, 6-15
101974710 6-13, 6-15
101974711 6-13, 6-15
101974712 6-13, 6-15
101979101 6-9
101980401 1-49
101980501 1-49
101981101 1-49
101985201 1-53
101987801 4-17, 4-19, 4-35, 4-37
101987901 4-3, 4-7, 4-13, 4-25, 4-31
101988001 4-3, 4-7, 4-13, 4-25, 4-31
101988002 4-3, 4-7, 4-13, 4-25, 4-31
101988101 4-3, 4-7, 4-13, 4-25, 4-31

101988201 4-3, 4-7, 4-13, 4-25, 4-31
101997401 1-53
102002801 6-9
102005701 2-23
102005801 2-23
102005901 2-23
102009401 9-11
102009402 9-11
102009501 9-11
102009502 9-11
102024601 1-53
102024701 1-53
102061201 11-9
102061301 2-5
102061302 2-5
102063901 2-5
102064601 2-5
102065501 2-5
102076701 1-45, 2-5
102099101 2-11
102155501 2-5
102162202 2-23
102162901 2-21
102163001 2-21, 2-23
102163101 2-23
102163501 2-13
102163502 2-13
102163601 2-13
102163602 2-13
102169401 11-7
102186001 6-5
102186101 6-5
102186201 6-5
102186301 6-5
102186401 6-5
102186601 6-5
102186701 6-5
102186901 6-5
102187001 6-5
102187201 6-5
102187301 6-5
102187701 6-5
102198301 2-5
102199001 4-13
102228701 6-9
102235201 6-3
102236703 1-45
102241501 11-7
102241502 11-7
102242401 1-45
102243402 11-7
102243403 6-9
102248803 11-7
102249901 11-3
102250201 6-9
102251501 11-7

102273101 4-35
102278501 1-49
102278601 1-49
102296140 1-51
102296301 1-51
102296401 1-51
102324901 10-3
102330901 11-9
102354901 6-19
102355001 6-19
102357501 6-19
102361401 1-13
102365401 1-13
102422701 3-5, 3-7
102546801 3-5
102549202 1-55
102555201 1-61
102555501 11-3
102559901 1-69
102562401 11-3
102570401 11-11
102601501 11-5
102603501 11-5
102605201 11-5
102606101 11-5
102607501 11-5
102668801 11-9
102669901 11-7
102674001 11-5
102674101 11-5
102674201 11-5
102674401 11-9
102674601 11-9
102675001 11-5
102675101 11-5
102675201 11-5
102675301 11-5
102675401 11-5
102686101 11-3
102866401 1-67
102906901 10-3
102907101 10-3
102907201 10-3
102907301 10-3
103200701 5-5

A
ac cordset 6-23, 6-25, 6-27
accelerator pedal adjustment tool 11-3
accent stripes 1-3
adapter

cable (IQDM) 11-7
adhesive, guide ring 11-3
adjuster

hydraulic brake 11-7
adjustment knob, seat 1-31
DS Golf Vehicle Optional Equipment Illustrated Parts List Page i-5



INDEX
air valve extension 1-67
ammeter 6-23, 6-25, 6-27
arbor 11-3
armature 6-3, 6-5
ashtray 1-13
assembly

channel weldment 3-5
front receiver 3-13
fuel tank vent 5-7
headlight 4-3, 4-7, 4-13, 4-25, 4-31
motor, 36 volt 6-3
motor, 48-volt 6-5
onboard accu-power battery charger

6-23
onboard PowerDrive battery charger

6-25, 6-27
retractable cord reel 6-23, 6-25, 6-27
seat back 7-3
seat bottom 7-3
stator shell and winding 6-3, 6-5
steering arm weldment 3-3
taillight 4-9, 4-17, 4-35
tow bar arm 3-9
tow bar steering 3-7
tow bar weldment 3-7
towing lug weldment 3-5
wheel and tire 9-11

attachment, permanent towing 3-5, 3-7

B
bag strap 1-63
bag, gear/grocery 1-73
bagwell protector 1-59
ball, trailer 3-11
bar, nerf 1-65
basket

1/2-depth sweater 1-45
sand bottle 1-49
sand mug 1-51

battery charger, onboard accu-power 6-23
battery charger, onboard PowerDrive 6-25,

6-27
battery condition indicator 5-5
battery discharge machine 11-3
battery terminal protector spray 11-3
battery thermometer 11-3
bearing and oil seal remover 11-3
bearing driver set 11-3
bearing puller 11-3
bearing puller wedge 11-3
bearing, ball (motor) 6-5
beverage/two-way radio holder 1-15
bezel

headlight 4-3, 4-7, 4-13, 4-25, 4-31
taillight 4-9, 4-17, 4-35

block, fuse 4-17, 4-35

block, terminal 4-13, 4-31, 4-35
blower, Breezeasy 1-41
board, control 6-25, 6-27
body, camouflage 9-5
body, front cowl (unpainted) 1-75
body, rear (unpainted) 1-75
boot, dust 3-3, 3-5
bottom, sand bottle 1-49
bracket

brake light switch 4-15, 4-33
charger mounting 6-23
fuel gauge 5-7
headlight mounting 4-3, 4-7, 4-13, 4-25,

4-31
horn 4-31
hour meter 5-3
mirror mounting (rear-view) 1-11
relay and reset board mounting 6-25
sand bucket mounting 1-53

brake adjustment tool 11-3
brake cable release tool 11-3
brake light relay 4-31
brake pedal adjustment tool 11-3
brake pedal tension tool 11-3
breaker, circuit 6-25, 6-27
Breezeasy blower kit 1-41
brush rigging 6-3
brush spring 6-3, 6-5
bulb

halogen headlight 4-3, 4-7, 4-13, 4-25,
4-31

light, rear-facing flood 4-43
taillight 4-9, 4-17, 4-35
turn signal 4-21, 4-39

bumper
heavy-duty 1-5
jounce 7-7
motor 6-3
tow bar 3-9

bumper mounting plate 3-9
bus bar 6-9
bushing

insulator 6-3, 6-5
strain relief 6-23, 6-25, 6-27

button, horn 4-15, 4-33

C
cable

IQDM 11-7
calibration test module 11-3
cam installation tool 11-3
camouflage body 9-5
camouflage sheet 9-9
camouflage tape 9-9
canopy 2-3, 2-7, 2-9
canopy mounting hardware kit 2-7

canopy support kit 2-11
cap

fuel tank 5-7
motor end 6-5
sand bottle 1-49
seat back 7-3

capacitor 6-23
car cover 2-19
carburetor float level tool 11-7
card, safety first 11-9
cargo box 8-3
case (charger) 6-27
chain, tire 9-13
channel weldment assembly 3-5
channel, windshield 2-21, 2-23
charger bezel tool 11-3
charger mounting bracket 6-23
charger, onboard accu-power 6-23
charger, onboard PowerDrive 6-25, 6-27
circuit breaker 6-25, 6-27
cleaner, club and ball 1-55
cleaner, spike 1-35
clip

tire replacement 1-67
windshield 2-23

clock (dash) 1-29
club and ball cleaner 1-55
club protector 2-17
clutch alignment tool 11-5
clutch removal tool 11-3
clutch tool kit 11-5
Coleman cartcat heater 1-17
communication display module 11-5
compass (dash) 1-29
compression gauge 11-5
compression spring 3-3
compressor, piston ring 11-9
compressor, valve spring 11-11
computer, onboard 6-9
console, overhead stereo 1-37
continuity tester 11-5
control board 6-25, 6-27
control cable 6-23
controller

300 amp 6-7
300 amp (remanufactured) 6-7
350 amp IQ 6-11
450 amp 6-9

conversion, four-passenger 7-3
converter, dc/dc 6-19
convex mirror (5-inch) 1-11
cooler 1-47
cooling system, canopy-mounted 1-39
cord reel, retractable 6-23, 6-25, 6-27
cordset, ac 6-23, 6-25, 6-27
cordset, dc 6-23, 6-25, 6-27
Page i-6 DS Golf Vehicle Optional Equipment Illustrated Parts List



INDEX
cover
car 2-19
engine 10-3
fuse block 4-17, 4-35
seat 1-33, 7-3
steering column 4-21, 4-39
steering wheel 1-27
wheel 1-67

cover plate (motor) 6-5
cowl, front (unpainted) 1-75
curtain, rear rain 2-17
cutter, valve seat 11-5, 11-11

D
dash

four-ball 1-21
two-cup 1-21

dash pocket organizer 1-25
dash tray

five-section 1-23
one-piece 1-23

dash unit (compass, clock, thermometer)
1-29

dc cordset 6-23, 6-25, 6-27
dc/dc converter 6-19
decal

IQ torque 6-11
operator warning 1-13
passenger warning 7-5
private speed 6-9
tow bar 3-5
tow bar safety 3-9
trailer hitch 3-11
warning (gun rack) 9-3

diesel tachometer probe 11-9
differential guard 9-17
diode, headlight 4-3, 4-7, 4-13, 4-35
drain hole plug 1-55
drive clutch fixed sheave tool 11-5
drive clutch holder tool 11-5
drive clutch hub puller 11-5
drive clutch puller 11-5
drive clutch spider removal tool 11-5
driven clutch cam puller 11-5
driven clutch puller plug 11-5
driven clutch spring compression base tool

11-5
driven clutch spring compression collar tool

11-5
driven clutch spring compression nut tool

11-5
dry moly lubricant 11-7
dust boot 3-3, 3-5

E
enclosure

rear sweater 1-45
enclosure, all-weather

four-sided 2-13
over-the-top ultimate 2-15
three-sided 2-13

end shield 6-3
engine cover 10-3
extension, air valve 1-67

F
fan, canopy-mounted 1-41
flasher unit (turn signal) 4-21, 4-39
flood light, rear-facing 4-43
flywheel puller 11-7
fold-down rear seat 7-11
forward/reverse switch 6-9
four-bag attachment 1-63
four-ball dash 1-21
four-passenger conversion 7-3
frame locating tool 9-11
front body trim 1-3
front cowl (unpainted) 1-75
front receiver 3-13
front receiver assembly 3-13
fuel gauge 5-7
fuel tank 5-7
fuel tank sending unit 5-7
fuse

20-amp 4-5, 4-17, 4-29, 4-35
charger 6-23, 6-25, 6-27

fuse block 4-17, 4-35
fuse holder assembly 6-25, 6-27

G
gasket

liquid 11-7
gasket, fuel gauge sending unit 5-7
gauge, compression 11-5
gauge, fuel 5-7
gear yoke 11-7
gear/grocery bag 1-73
glove box 1-19
governor protector 10-3
governor shaft installation tool 11-7
graphics 1-71
gripper spring 3-9
grocery bag 1-73
guard, differential 9-17
guide

valve seat cutter 11-11
guide ring adhesive 11-3
gun rack 9-3

H
halogen bulb 4-3, 4-7, 4-13, 4-25, 4-31

headlight 4-3, 4-7, 4-13, 4-25, 4-31
headlight diode 4-3, 4-7, 4-13
heater, Coleman cartcat 1-17
heatsink 6-23, 6-25, 6-27
heavy-duty bumper 1-5
hitch, trailer 3-11
holder

beverage/two-way radio 1-15
information 1-7
information strip 1-7
license plate 1-9
rake 1-57, 3-9
sand bottle 1-49

horn 4-13, 4-31
horn button 4-15, 4-33
hour meter 5-3
hub, chrome wheel 1-67
hydraulic brake adjuster 11-7
hydrometer 11-7

I
indicator, battery condition 5-5
information holder 1-7
information strip holder 1-7
insert, ashtray retention 1-13
insulator bushing 6-3, 6-5
internal retaining ring pliers 11-7
IQ display module (IQDM) 11-7
IQ torque kit 6-11

J
jounce bumper 7-7

K
key (glove box) 1-19
key (uncommon) 6-13, 6-15
key pad, 12V 6-17
key pad, 36V/48V 6-17
key switch, uncommon 6-13, 6-15
kit

12-volt power point 6-21
4 in 1 monitor 5-9
adjustable seat back 1-31
ashtray 1-13
bagwell protector 1-59
battery condition indicator 5-5
beverage/two-way radio holder 1-15
brake pedal adjustment tool 11-3
Breezeasy blower 1-41
canopy 2-3, 2-5, 2-7
canopy mounting hardware 2-7
canopy support 2-5, 2-11
cargo box 8-3
club and ball cleaner 1-55
cooler 1-47
DS Golf Vehicle Optional Equipment Illustrated Parts List Page i-7



INDEX
cover plate 6-5
dash (four-ball) 1-21
dash (two-cup) 1-21
dc/dc converter 6-19
differential guard 9-17
four-bag attachment 1-63
four-passenger conversion 7-3
front receiver 3-13
fuel gauge 5-7
fuel tank 5-7
governor protector 10-3
gun rack 9-3
headlight 4-3, 4-25
heavy-duty bumper 1-5
hour meter 5-3
information holder 1-7
IQ display module (IQDM) 11-7
IQ torque 6-11
license plate holder 1-9
lift 9-11
light, basic 4-7
motor upgrade, 3.75 hp 6-7
push lock 1-19
rake and rake holder 1-57
rake holder 1-57
rear-view mirror 1-11
sand basket 1-53
sand bottle 1-49
sand bucket 1-53
sand mug 1-51
scuff guard 1-59
snow plow 9-19
spark arrestor 9-15
standard lighting 4-13, 4-31
sweater basket (full-sized) 1-45
taillight hardware 4-9, 4-17, 4-35
tow bar (light-duty) 3-3
tow bar (permanent) 3-5, 3-7
trailer hitch 3-11
tune-up 11-9
turn signal conversion 4-21, 4-39
two-bag attachment 1-61
voltage limiter 4-27
windshield 2-21
windshield (hinged) 2-23

knee brace, seat back 1-31
knob

four-bag attachment 1-63
light switch 4-3, 4-9, 4-15, 4-25, 4-33
seat adjustment 1-31

L
leaf spring, rear 7-7
lens

headlight 4-3, 4-7, 4-13, 4-25, 4-31
taillight 4-9, 4-17, 4-35

turn signal 4-3
license plate holder 1-9
light bulb, rear-facing flood 4-43
light kit, basic 4-7
light switch 4-3, 4-9, 4-15, 4-25, 4-33
light, rear-facing flood 4-43
lighting package, standard 4-13, 4-31
limit switch 4-15, 4-33, 6-9
limiter, voltage 4-27, 4-35
liquid gasket 11-7
locating tool, frame 9-11
lock, push 1-19
lubricant, dry moly 11-7
lubricant, moly-teflon 6-9, 11-7

M
meter, hour 5-3
meter, volt ohm 11-11
mirror

convex (5-inch) 1-11
rear-view 1-11

module
calibration test 11-3
communication display 11-5

moly-teflon lubricant 11-7
monitor

4 in 1 5-9
motor 6-9

3.75 hp upgrade 6-7
350 amp IQ 6-11
36-volt 6-3
48-volt 6-5, 6-9

motor bumper 6-3
mount

sand bucket 1-53
seat back 1-31

mounting bracket
cooler 1-47
mirror (rear-view) 1-11
sand bucket 1-53

mounting plate 3-9

N
nerf bar 1-65

O
off-road tire 9-11
onboard computer 6-9
organizer, dash pocket 1-25
overhead stereo console 1-37

P
paint, touch-up 11-7
permanent tow bar 3-5, 3-7
permanent towing attachment 3-5

piston ring compressor 11-9
piston ring pliers 11-9
plate

bumper mounting 3-9
receptacle backing 6-25

pliers
internal retaining ring 11-7
piston ring 11-9
retaining ring 11-9

plow, snow 9-19
plug

drain hole 1-55
driven clutch puller 11-5
seat tube 1-31

power point, 12-volt 6-21
power relay 6-25
powertrain, 48-volt electric 6-9
press weldment 11-5
private speed decal 6-9
protector spray, battery terminal 11-3
protector, club 2-17
protector, governor 10-3
puller

bearing 11-3
clutch 11-3
drive clutch 11-5
drive clutch hub 11-5
driven clutch cam 11-5
flywheel 11-7
seal 11-9
special use tool 11-9

push lock 1-19

R
rain curtain, rear 2-17
rake 1-57
rake holder 3-9
rake holder kit 1-57
reamer, valve guide 11-9
rear body (unpainted) 1-75
rear seat, light duty 7-9
rear sweater enclosure 1-45
rear-view mirror 1-11
receiver, front 3-13
relay

12-volt 4-13
36-volt dc 6-23
brake light 4-31
power 6-25, 6-27

remover, bearing and oil seal 11-3
retainer

bearing 6-3
headlight 4-3, 4-7, 4-13, 4-25, 4-31
push-on 5-5
tow bar 3-7
windshield 2-23
Page i-8 DS Golf Vehicle Optional Equipment Illustrated Parts List



INDEX
retaining ring pliers 11-9
retractable cord reel 6-23, 6-25, 6-27
rigging, brush 6-3
rod, steering link 3-5, 3-7

S
safety first card 11-9
sand basket 1-53
sand bottle 1-49
sand bottle basket 1-49
sand bucket 1-53
sand scoop 1-53
scoop, sand 1-53
screw, valve clearance adjuster 11-9
scuff guard 1-59
seal puller 11-9
seat

fold-down rear 7-11
light-duty rear 7-9

seat adjustment knob 1-31
seat back 7-3, 7-9
seat back cap 7-3
seat back knee brace 1-31
seat back mount 1-31
seat back support 1-31
seat back, adjustable 1-31
seat bottom 7-3
seat cover 1-33, 7-3
seat tube plug 1-31
sending unit, fuel tank 5-7
sheet, camouflage 9-9
shield, end 6-3
snow plow 9-19
solenoid, 48-volt 6-7
spanner wrench 11-9
spark arrestor 9-15
spike cleaner 1-35
spray, battery terminal protector 11-3
spring

brush 6-3, 6-5
compression 3-3
gripper 3-9
rear leaf 7-7

stator shell and winding 6-3, 6-5
steering arm weldment assembly 3-3
steering column bearing press tool 11-9
steering column retaining ring tool 11-9
steering link rod 3-5, 3-7
steering wheel cover 1-27
steering wheel puller tool 11-9
steering wheel wrap 1-27
storage

canopy net 1-43
underseat tray 1-43

strap, bag 1-63
stripes, accent 1-3

support, seat back 1-31
sweater basket (1/2-depth) 1-45
sweater basket (full-sized) 1-45
switch

forward/reverse 6-9
four-position slide 6-27
key, uncommon 6-13, 6-15
light 4-3, 4-9, 4-15, 4-25, 4-33
limit 4-15, 4-33, 6-9

T
tachometer 11-9
tachometer probe, diesel 11-9
taillight 4-9, 4-17, 4-35
taillight base 4-9, 4-17, 4-35
tank, fuel 5-7
tape, camouflage 9-9
terminal block 4-13, 4-31, 4-35
tester, continuity 11-5
thermometer (dash) 1-29
thermometer, battery 11-3
timer 6-23
tire chain 9-13
tire replacement clip 1-67
tire, off-road 9-11
tool

accelerator pedal adjustment 11-3
belt tensioning, starter/generator 11-11
brake adjustment 11-3
brake cable release 11-3
brake pedal adjustment 11-3
brake pedal tension 11-3
cam installation 11-3
carburetor float level 11-7
charger bezel 11-3
clutch alignment 11-5
cT-wrench 11-5
drive clutch fixed sheave 11-5
drive clutch holder 11-5
drive clutch spider removal 11-5
driven clutch spring compression base

11-5
driven clutch spring compression collar

11-5
driven clutch spring compression nut

11-5
governor shaft installation 11-7
puller, special use 11-9
steering column bearing press 11-9
steering column retaining ring 11-9
steering wheel puller 11-9
transaxle axle seal 11-9
transaxle pinion seal 11-9
transmission 11-9
valve guide driver 11-9
valve seat cutter 11-5

tool kit, clutch 11-5
tool, frame locating 9-11
top, sand bottle 1-49
touch-up paint 11-7
tow bar

light-duty 3-3
permanent 3-5, 3-7

tow bar arm assembly 3-9
tow bar bumper 3-9
tow bar decal 3-5
tow bar retainer 3-7
tow bar steering assembly 3-7
tow bar weldment assembly 3-7
towing attachment, permanent 3-7
towing lug weldment assembly 3-5
trailer ball 3-11
trailer hitch 3-11
transaxle axle seal tool 11-9
transaxle pinion seal tool 11-9
transformer 6-23, 6-25, 6-27
transmission tool 11-9
tray

five-section dash 1-23
one-piece dash 1-23

trim, front body 1-3
tune-up kit 11-9
turn signal 4-21, 4-39
turn signal lens 4-3, 4-7, 4-13, 4-25, 4-31
turn signal wire harness 4-21, 4-39
two-bag attachment 1-61
two-bag weldment 1-63
two-cup dash 1-21
T-wrench tool 11-5

U
uncommon key switch 6-13, 6-15

V
valve clearance adjuster screw 11-9
valve guide driver tool 11-9
valve guide reamer 11-9
valve seat cutter 11-5, 11-11
valve seat cutter guide 11-11
valve seat cutter tool 11-5
valve seat t-wrench 11-11
valve spring compressor 11-11
valve, fuel pickup tube 5-7
vent, fuel tank 5-7
volt ohm meter 11-11
voltage limiter 4-27, 4-35
voltage suppressor 4-13, 4-31, 6-25, 6-27

W
wedge, bearing puller 11-3
weldment
DS Golf Vehicle Optional Equipment Illustrated Parts List Page i-9



INDEX
press 11-5
wheel and tire, off-road 9-11
wheel cover 1-67
wheel hub (chrome) 1-67
windshield

front 2-21
front (hinged) 2-23
front (winged) 2-25, 2-27
rear 2-29

windshield channel 2-21, 2-23
windshield clip 2-23
windshield retainer 2-23
wire harness

dc/dc converter 6-19
light 4-3, 4-5, 4-7, 4-11, 4-13, 4-19,

4-25, 4-29, 4-31, 4-37
turn signal 4-21, 4-39

wrap, steering wheel 1-27
wrench, spanner 11-9

Y
yoke, gear 11-7
Page i-10 DS Golf Vehicle Optional Equipment Illustrated Parts List





Club Car, Inc.
P.O. Box 204658
Augusta, GA 30917-4658
USA

Web www.clubcar.com
Phone 1.706.863.3000
 1.800.ClubCar
Int’l +1 706.863.3000
Fax 1.706.863.5808


	Body and Trim
	Accent Stripes and Front Body Trim
	Heavy-Duty Front Bumper Kit
	Information Holder Kits
	License Plate Holder Kits
	Mirrors
	Ashtray Kits
	Beverage/Two-Way Radio Holder
	Heater
	Glove Box Kit
	Dash Kits
	Dash Trays
	Dash Pocket Organizer
	Steering Wheel Accessories
	Bell® Dash Unit with Compass, Clock, and Thermometer
	Adjustable Seat Back Kit
	Seat Covers
	SoftSwipe™ Spike Cleaner
	Overhead Stereo
	Cooling System - Canopy-Mounted
	Cooling System - Fans
	Storage
	Sweater Baskets and Enclosures
	Cooler Kits
	Sand Bottle Kits
	Sand Mug Kit
	Sand Bucket and Sand Basket Kits
	Club and Ball Cleaner Kit
	Rake Kit
	Scuff Guard and Bagwell Protector Kit
	Two-Bag Attachment Kit
	Four-Bag Attachment Kit
	Nerf Bar
	Wheel Covers (1 of 2)
	Wheel Covers (2 of 2)
	Graphics
	Gear/Grocery Bag
	Bodies - Unpainted

	Canopies, Windshields, and Enclosures
	Canopy Kit - 1982-2000 Non-ICS
	Canopy Kit - 2000-Present ICS
	Canopy Kit, Four-Passenger - Non ICS
	Canopy - Universal
	Four-Passenger Strut Kits
	All-Weather Enclosures (1 of 2)
	All-Weather Enclosures (2 of 2)
	Rear Rain Curtains and Club Protectors
	All-Weather Car Cover
	Windshields - Solid
	Windshields - Hinged
	Windshields - Solid Winged
	Windshields - Hinged Winged
	Rear Windshields

	Towing Accessories
	Light-Duty Tow Bar Kit
	Permanent Tow Bar Kit
	Self-Contained Permanent Tow Bar Kit (1 of 2)
	Self-Contained Permanent Tow Bar Kit (2 of 2)
	Trailer Hitch Kit
	Front Receiver Kit

	Lights
	Headlight Kit - Gasoline and
	36-V Electric Vehicles (1 of 2)
	Headlight Kit - Gasoline and
	36-V Electric Vehicles (2 of 2)
	Basic Light Kit (1 of 3)
	Basic Light Kit (2 of 3)
	Basic Light Kit (Wiring) (3 of 3)
	Standard Lighting Package - Gasoline and
	36-V Electric Vehicles (1 of 4)
	Standard Lighting Package - DS Gasoline and 36-V Electric Vehicles (2 of 4)
	Standard Lighting Package - Gasoline and
	36-V Electric Vehicles (3 of 4)
	Standard Lighting Package (Wiring) - Gas and 36-V Electric Vehicles (4 of 4)
	Turn Signal Conversion Kit - Gasoline and
	36-V Electric Vehicles w/ Lights (1 of 2)
	Turn Signal Conversion Kit (Wiring) - Gasoline and 36-V Electric Vehicles w/ Lights (2 of 2)
	Headlight Kit - 48-V Electric Vehicles (1 of 3)
	Headlight Kit - 48-V Electric Vehicles (2 of 3)
	Headlight Kit (Wiring) - 48-V Electric Vehicles (3 of 3)
	Standard Lighting Package - 48-V Electric Vehicles (1 of 4)
	Standard Lighting Package - 48-V Electric Vehicles (2 of 4)
	Standard Lighting Package - 48-V Electric Vehicles (3 of 4)
	Standard Lighting Package (Wiring) - 48-V Electric Vehicles (4 of 4)
	Turn Signal Conversion Kit - 48-V Electric Vehicles w/ Standard Lighting (1 of 2)
	Turn Signal Conversion Kit (Wiring) - 48-V Electric Vehicles w/ Standard Lighting (2 of 2)
	Rear-Facing Flood Light

	Meters and Gauges
	Hour Meter Kits
	Battery Condition Indicator Kits
	Fuel Gauge Kits
	4 In 1 Monitor

	Electrical Options and Accessories
	3.50 Horsepower Motor - 36-V Electric Vehicles
	3.75 Horsepower Motor - PowerDrive System 48 Electric Vehicles
	3.75 Horsepower Motor Upgrade Kit - PowerDrive System 48 Electric Vehicles
	PowerTorque™ Powertrain - 48 V Electric Vehicles
	IQ Torque Kit
	Uncommon Key Switches - Electric Vehicles
	Uncommon Key Switches - Gasoline Pedal-Start Vehicles
	Cart Key
	DC/DC Converter Kit - PowerDrive and IQ System Electric Vehicles
	12-V Power Point Kit
	Onboard Accu-Power Battery Charger, Domestic - 36-V Electric Vehicles
	Onboard PowerDrive Battery Charger, Domestic - 48-V Electric Vehicles
	Onboard PowerDrive Battery Charger, Export - 48-V Electric Vehicles

	Conversion Kits
	Four-Passenger Conversion Kits (1 of 3)
	Four-Passenger Conversion Kits (2 of 3)
	Four-Passenger Conversion Kits (3 of 3)
	Four-Passenger Conversion Rear Seat
	Fold-Down Rear Seat

	Cargo Boxes
	Cargo Box Kit

	Outdoor Sporting Accessories
	Floor-Mounted Gun Rack
	Camouflage Bodies
	Camouflage Seats and Seat Covers
	Camouflage Accessories
	Lift Kit
	Tire Chains
	Spark Arrestor Kit
	Differential Guard
	54-Inch Snow Plow Kit

	Miscellaneous
	Governor Protector Kit

	Maintenance and Service Tools
	Maintenance and Service Tools
	Maintenance and Service Tools, Continued
	Maintenance and Service Tools, Continued
	Maintenance and Service Tools, Continued
	Maintenance and Service Tools, Continued


